SBI CLERK (MAINS)-03/2022

Q-1 In the following question, three sentences i.e. (A), (B) and (C) are given and you have to choose the sentence in which the highlighted phrasal
eng verb/idiom is correctly used.

A. Can you guys please be quiet? Your chin music is distracting me from my work.

B. Kevin says he was completely in the dark about the CEO’s plans to sell the company.

C. News of the new president was under the knife — she’s terrific.

01. Only A 02. OnlyB

03. Both A and B 04. OnlyC

05. Al of the above
Q-1 In the following question, three sentences i.e. (A), (B) and (C) are given and you have to choose the sentence in which the highlighted phrasal
hi verb/idiom is correctly used.

A. Can you guys please be quiet? Your chin music is distracting me from my work.

B. Kevin says he was completely in the dark about the CEO’s plans to sell the company.

C. News of the new president was under the knife — she’s terrific.

01. Only A 02. OnlyB

03. Both A and B 04. Only C

0S.  All of the above
Solution for Question 1 Ans Key: 3

Chin music means meaningless talk.

In the dark means unaware.

In sentence C: The correct idiom would be ‘Music to my ears’ that means ‘good to hear’ while ‘under the knife’ means ‘to undergo surgery’.

Chin music means meaningless talk.

In the dark means unaware.

In sentence C: The correct idiom would be ‘Music to my ears’ that means ‘good to hear’ while ‘under the knife’ means ‘to undergo surgery’.
Q-2 In the following question, three sentences i.e. (A), (B) and (C) are given and you have to choose the sentence in which the highlighted phrasal

verb/idiom is correctly used.

A. Maybe you could take a hike while we discuss salaries.

B. My boss has been nick of time all week and has not come to work during that time.

C. Our competitor’s model dominates the market, so ours is facing tough sledging.

01. Only A 02. OnlyB

03. Both A and B 04. Both A and C

05. All of the above
Q-2 In the following question, three sentences i.e. (A), (B) and (C) are given and you have to choose the sentence in which the highlighted phrasal
hi verb/idiom is correctly used.

A. Maybe you could take a hike while we discuss salaries.

B. My boss has been nick of time all week and has not come to work during that time.

C. Our competitor’s model dominates the market, so ours is facing tough sledging.

01. Only A 02. OnlyB

03. Both A and B 04. Both A and C

05. Al of the above
Solution for Question 2 Ans Key: 4
eng Take a hike means to go away.

In sentence B: The correct idiom should be ‘Under the weather’ which means ‘not feeling well” while ‘Nick of time” means just in time.

Facing tough sledging means difficult to progress.
hi Take a hike means to go away.

In sentence B: The correct idiom should be ‘Under the weather’ which means ‘not feeling well” while ‘Nick of time” means just in time.

Facing tough sledging means difficult to progress.
Q-3 In the following question, three sentences i.e. (A), (B) and (C) are given and you have to choose the sentence in which the highlighted phrasal
eng verb/idiom is correctly used.

A. When I said I would move to New York, she offered me the job on the spot.



B. Did you have a good vacation? — Not really. I was sick as a dog the whole time.
C. I’ve helped him as much as I can but now he has to sink or swim.

01. OnlyA 02. OnlyB
03. Both A and B 04. Only C
05.  All of the above

Q-3 In the following question, three sentences i.e. (A), (B) and (C) are given and you have to choose the sentence in which the highlighted phrasal
hi verb/idiom is correctly used.

A. When [ said I would move to New York, she offered me the job on the spot.

B. Did you have a good vacation? — Not really. I was sick as a dog the whole time.

C. I’'ve helped him as much as I can but now he has to sink or swim.

01. Only A 02. OnlyB

03. Both AandB 04. OnlyC

05. All of the above
Solution for Question 3 Ans Key: 5
eng On the spot means immediately.

Q-4

Q4

Sick as a dog means extremely ill.
Sink or swim means to fail or succeed entirely by one's own efforts.

On the spot means immediately.
Sick as a dog means extremely ill.
Sink or swim means to fail or succeed entirely by one's own efforts.

In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

The government must play the role of a to see to it that quality is being maintained in drugs or their copied version.
01. dictator ; generic 02. demonstrator ; ruly
03. regulator ; generic 04. navigator ; surly

05. both 2 and 3
In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

The government must play the role of a to see to it that quality is being maintained in drugs or their copied version.
01. dictator ; generic 02. demonstrator ; ruly
03. regulator ; generic 04. navigator ; surly

05. both 2 and 3

Solution for Question 4 Ans Key: 3

eng

Regulator (n)- a person or thing that regulates something.

Generic (adj.)- characteristic of or relating to a class or group of things.
For other options:

Dictator (n)- a person who behaves in an autocratic way.

Ruly (adj.)- well behaved.

Navigator (n)- a person who navigates a ship, aircraft, etc.

Surly (adj.)- bad-tempered and unfriendly.

Regulator (n)- a person or thing that regulates something.

Generic (adj.)- characteristic of or relating to a class or group of things.
For other options:

Dictator (n)- a person who behaves in an autocratic way.

Ruly (adj.)- well behaved.

Navigator (n)- a person who navigates a ship, aircraft, etc.

Surly (adj.)- bad-tempered and unfriendly.

eng

In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

The government should ensure that the insurance companies don’t the patients while treatment costs.

01. harass ; reimbursing 02. promote ; financing



03. develop ; distributing 04. deploy ; reimbursing

05. both 2 and 4
In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

The government should ensure that the insurance companies don’t the patients while treatment costs.

01. harass ; reimbursing 02. promote ; financing

03. develop ; distributing 04.  deploy ; reimbursing

05. both2and 4
Solution for Question 5 Ans Key: 1
eng Harass (v)- subject to aggressive pressure.

Reimburse (v)- repay

For other options:

Promote (v)- actively encourage.
Develop (v)- evolve

Deploy (v)- bring into effective action.

Harass (v)- subject to aggressive pressure.
Reimburse (v)- repay

For other options:

Promote (v)- actively encourage.

Develop (v)- evolve

Deploy (v)- bring into effective action.

In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

The twin developments could bring Iran to building an atomic bomb and enable the Islamic State group to a comeback in Iraq.
01. advanced, sabotage 02. closer; stage
03. fostered ; stage 04. retrogress ; profligate

05. both 3 and 4
In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

The twin developments could bring Iran to building an atomic bomb and enable the Islamic State group to a comeback in Iraq.
01. advanced, sabotage 02. closer; stage
03. fostered ; stage 04. retrogress ; profligate

05. both 3 and 4

Solution for Question 6 Ans Key: 2

Q-7

eng

Q-7

For other options:

Sabotage (v)- deliberateily destroy something.
Retrogress (v)- go back to an earlier state.
Profligate (adj.)- recklessly extravagant.
Foster (v)- encourage.

For other options:

Sabotage (v)- deliberately destroy something.
Retrogress (v)- go back to an earlier state.
Profligate (adj.)- recklessly extravagant.
Foster (v)- encourage.

In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

There is a class-based inequity so the poorest of the poor can only get because their cancer is detected so late and therefore we have to make
it certain that for early detection of cancer is available to everyone.

01. palliative care ; screening 02. adulterated care ; blurring
03. hypnotic care ; sneezing 04. imperial care ; screening
05. both 2 and 3

In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.



There is a class-based inequity so the poorest of the poor can only get because their cancer is detected so late and therefore we have to make

it certain that for early detection of cancer is available to everyone.
01. palliative care ; screening 02. adulterated care ; blurring
03. hypnotic care ; sneezing 04. imperial care ; screening

05. both2and3

Solution for Question 7 Ans Key: 1

eng

Screening (n)- a showing of a film, video, or television programme.

Palliative care (n) - care for the terminally ill and their families.

For other options:

Adulterate (v)- render (something) poorer in quality by adding another substance.

Hypnotic (adj.)- sleep-inducing.

Imperial (adj.)- royal

Blur (v)- make or become unclear or less distinct.

Sneeze (v)- make a sudden involuntary expulsion of air from the nose and mouth due to irritation of one's nostrils.

Screening (n)- a showing of a film, video, or television programme.

Palliative care (n) - care for the terminally ill and their families.

For other options:

Adulterate (v)- render (something) poorer in quality by adding another substance.

Hypnotic (adj.)- sleep-inducing.

Imperial (adj.)- royal

Blur (v)- make or become unclear or less distinct.

Sneeze (v)- make a sudden involuntary expulsion of air from the nose and mouth due to irritation of one's nostrils.

In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.

Wormholes might exist, and we might never detect them and the merely details of our own universe may block our view of the
wonders of other worlds.

01. rarely ; fabulous 02. sufficiently ; ambitious
03. reliably ; miraculous 04. anonymously ; fictitious

05. both 1 and 3

Q-8 In the passage, some blanks are given and against each blank five alternatives consisting of a pair of words are suggested. Choose the
correct alternative to complete the passage in a meaningful way.
Wormholes might exist, and we might never detect them and the merely details of our own universe may block our view of the
wonders of other worlds.
01. rarely ; fabulous 02. sufficiently ; ambitious
03. reliably ; miraculous 04.  anonymously ; fictitious
0S. both 1 and 3
Solution for Question 8 Ans Key: 3
eng Reliably (adv.)- in a consistently good or accurate way.
Miraculous (adj.)- of the nature of a miracle.
For other options:
Rarely (adv.)- not often
Fabulous (adj.)- having no basis in reality.
Sufficiently (adv.)- to an adequate degree.
Ambitious (adj.)- aspiring
Anonymously (adv.)- in a way that prevents a person from being identified by name.
Fictitious (adj.)- fake
hi Reliably (adv.)- in a consistently good or accurate way.

eng

Miraculous (adj.)- of the nature of a miracle.

For other options:

Rarely (adv.)- not often

Fabulous (adj.)- having no basis in reality.

Sufficiently (adv.)- to an adequate degree.

Ambitious (adj.)- aspiring

Anonymously (adv.)- in a way that prevents a person from being identified by name.
Fictitious (adj.)- fake

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. A physical examination is needed to determine the range of movement and see if other joints are affected.



B. X-rays will pick up fractures sometimes MRI scans may be needed to evaluating soft tissue injury.
C. The Centre had through an amendment to the Indian Forest Act exempted bamboo grown in non-forest areas.

01. Only (A) 02. Both (B) and (C)
03. Both (A) and (C) 04. Only (B)

05.  All are correct.
Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. A physical examination is needed to determine the range of movement and see if other joints are affected.
B. X-rays will pick up fractures sometimes MRI scans may be needed to evaluating soft tissue injury.
C. The Centre had through an amendment to the Indian Forest Act exempted bamboo grown in non-forest areas.

01. Only(A) 02. Both (B) and (C)
03. Both (A) and (C) 04. Only (B)

05. All are correct.

Solution for Question 9 Ans Key: 3

eng

In sentence B- To takes ‘v1’ with it so ‘to evaluate’ will be correct.

hi

Q-10

Q-10

In sentence B- To takes ‘v1’ with it so ‘to evaluate’ will be correct.

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. Gravity is just a property of space-time itself, so if you shake one end of it, you will feel it on the other end too.
B. Excruciating pain prevents the action in 70 per cent people at some stage in their lives.
C. One of the commonest reason for “frozen shoulder” is diabetes.

01. Only (A) 02. Both (B) and (C)
Both (A) and (B) 04. Only (C)

0S.  All are correct.
Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

(=
78]

A. Gravity is just a property of space-time itself, so if you shake one end of it, you will feel it on the other end too.
B. Excruciating pain prevents the action in 70 per cent people at some stage in their lives.
C. One of the commonest reason for “frozen shoulder” is diabetes.

01. Only (A) 02. Both (B) and (C)

03. Both (A)and (B) 04. Only (C)

05.  All are correct.
Solution for Question 10 Ans Key: 3
eng In sentence C- ‘One of’ takes ‘plural noun’ so ‘reasons’ will be correct.
hi In sentence C- ‘One of’ takes ‘plural noun’ so ‘reasons’ will be correct.

Q-11

eng

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. He allowed his readers to feel for the wretches who populated this insubstantial world, so similar and though so fundamentally different from our own.
B. The annual river ice cover will decline by about six days, posing economic and environmental consequences.
C. The predicted trend of future ice loss is like to lead to economic challenges for people and industries along these rivers.

01. Only(B) 02. Both (B) and (C)
03. Both (A)and (B) 04. Only (C)
0S. All are correct.

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. He allowed his readers to feel for the wretches who populated this insubstantial world, so similar and though so fundamentally different from our own.
B. The annual river ice cover will decline by about six days, posing economic and environmental consequences.
C. The predicted trend of future ice loss is like to lead to economic challenges for people and industries along these rivers.



01. Only (B) 02. Both (B) and (C)
03. Both (A) and (B) 04. Only (C)

05. All are correct.

Solution for Question 11 Ans Key: 1

eng

’

In sentence A- Replace ‘though’ with ‘yet’, because yet shows ‘in spite of that’.
In sentence C- Replace ‘is like to” with ‘is likely to’, where likely means ‘suitable’.

hi

’

In sentence A- Replace ‘though’ with ‘yet’, because yet shows ‘in spite of that’.
In sentence C- Replace ‘is like to” with ‘is likely to’, where likely means ‘suitable’.

Q-12

eng

Q-12

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. He cautioned that, although the model of a wormhole was interesting and attractive but it was only one of the countless possibilities.
B. There may be other reasons for shoulder pain like the bone tissue may have died due to poor blood supply.
C. As the muscle fibres increase in number and size, it utilises glucose more effectively, which results in better diabetic control.

01. Only (A) 02. Both (B) and (C)
03. Both (A) and (C) 04. Only (B)

05. All are correct.
Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is’/are CORRECT among
them and mark your answer.

A. He cautioned that, although the model of a wormhole was interesting and attractive but it was only one of the countless possibilities.
B. There may be other reasons for shoulder pain like the bone tissue may have died due to poor blood supply.
C. As the muscle fibres increase in number and size, it utilises glucose more effectively, which results in better diabetic control.

01. Only (A) 02. Both (B) and (C)
03. Both (A) and (C) 04. Only (B)

05. All are correct.

Solution for Question 12 Ans Key: 4

Q-13

In sentence A- Although.....yet is the correct pair of conjunction so replace ‘but” with ‘yet’.
In sentence C- The subject is ‘muscle fibres’ which is plural so it will take a plural pronoun ‘they’ instead of ‘it’.

In sentence A- Although.....yet is the correct pair of conjunction so replace ‘but” with ‘yet’.
In sentence C- The subject is ‘muscle fibres’ which is plural so it will take a plural pronoun ‘they’ instead of ‘it’.

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. The arm is held stiff as even slight movements are painful.
B. The pain may diminish after a time but by then the range of motion of the shoulder becomes severely restricted.
C. The ability to take care of yourself has become increasingly important now when adult children no longer live with ageing parents.

01. Only(A) 02. Both (B) and (C)
03. Both (A) and (B) 04. Only (C)
05. All are correct.

Read the THREE sentences i.e. (A), (B) and (C) given below respectively and try to find out the sentence(s) which is/are CORRECT among
them and mark your answer.

A. The arm is held stiff as even slight movements are painful.
B. The pain may diminish after a time but by then the range of motion of the shoulder becomes severely restricted.
C. The ability to take care of yourself has become increasingly important now when adult children no longer live with ageing parents.

01. Only (A) 02. Both (B) and (C)

03. Both (A)and (B) 04. Only (C)

0S. All are correct.
Solution for Question 13 Ans Key: 2
eng In sentence A- ‘Stiff” will be replaced by ‘stiffly’ because an adverb is required here.
hi In sentence A- ‘Stiff’ will be replaced by ‘stiffly’ because an adverb is required here.

Q-14

The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the



eng

three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

All the food cooked in its kitchen is sourced within a 50-mile radius, guests can go on nature walks and night treks, take a day trip to the neighbouring
pepper plantation, learn traditional recipes, go bird watching or fishing.

A. slumped, distant
B. rooted, bordering
C. grossed up, adjoining

01. OnlyA 02. OnlyB
03. OnlyC 04. Both AandC

05. BothBandC
The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

All the food cooked in its kitchen is sourced within a 50-mile radius, guests can go on nature walks and night treks, take a day trip to the neighbouring
pepper plantation, learn traditional recipes, go bird watching or fishing.

A. slumped, distant
B. rooted, bordering
C. grossed up, adjoining

01. OnlyA 02. OnlyB
03. Only C 04. Both A andC
05. Both B and C

Solution for Question 14 Ans Key: 5

Q-15

eng

Source (v)- obtain from a particular source ; rooted ; grossed up

Neighbouring (adj.)- next to or very near another place ; bordering ; adjoining.
For other options:

Slump (v)- fall heavily

Distant (adj.)- far away in space or time.

Source (v)- obtain from a particular source ; rooted ; grossed up

Neighbouring (adj.)- next to or very near another place ; bordering ; adjoining.
For other options:

Slump (v)- fall heavily

Distant (adj.)- far away in space or time.

The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

If the need arises, we will send an open letter to all retailers and local associations to sell mobile sets at the same price with the same offers that are
prevalent online.

A. emanates, engraved
B. emerges, widespread
C. descends, vintage

01. OnlyA 02. OnlyB
03. OnlyC 04. Both A and C

05. Both A and B
The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

If the need arises, we will send an open letter to all retailers and local associations to sell mobile sets at the same price with the same offers that are
prevalent online.

A. emanates, engraved
B. emerges, widespread
C. descends, vintage

01. Only A 02. OnlyB
03. OnlyC 04. Both Aand C
05. Both A and B

Solution for Question 15 Ans Key: 2




eng Emerge (v)- arise, Prevalent (adj.)- widespread
For other options:
Emanate (v) — (of a feeling, quality, or sensation) issue or spread out from (a source).
Engrave (v) — cut or carve (a text or design) on the surface of a hard object.
Descends and vintage are the antonyms of the words ‘arises’ and ‘prevalent’ respectively.

hi Emerge (v)- arise, Prevalent (adj.)- widespread
For other options:
Emanate (v) — (of a feeling, quality, or sensation) issue or spread out from (a source).
Engrave (v) — cut or carve (a text or design) on the surface of a hard object.
Descends and vintage are the antonyms of the words ‘arises’ and ‘prevalent’ respectively.

Q-16 The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
eng three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

Penumbral lunar eclipses are usually a little darker, they cannot be easily distinguished from a regular full moon sighting but can be easily seen.

A. differentiated, conspicuous
B. discriminated, morose
C. exterminated, amazed

01. OnlyA 02. OnlyB
03. Only C 04. Both A and C

05. Both A and B
Q-16 The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

Penumbral lunar eclipses are usually a little darker, they cannot be easily distinguished from a regular full moon sighting but can be easily seen.

A. differentiated, conspicuous
B. discriminated, morose
C. exterminated, amazed

01. Only A 02. OnlyB
03. Only C 04. Both A and C
05. Both A and B
Solution for Question 16 Ans Key: 1

Differentiated and conspicuous are the synonyms of the words ‘distinguished” and ‘easily seen’.
For other options:

Morose (adj.)- ill-tempered.

Exterminate (v)- destroy completely.

Amazed (Adj.)- astonished.

Differentiated and conspicuous are the synonyms of the words ‘distinguished” and “easily seen’.
For other options:

Morose (adj.)- ill-tempered.

Exterminate (v)- destroy completely.

Amazed (Adj.)- astonished.

Q-17 The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
eng three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

Retailers said that they have decided about the extreme measure since their discussions with the brands during Diwali did not stop online discounting,
which washed out their sales.

A. step, aborted
B. course of action, faded
C. placated, appeased

01. OnlyA 02. OnlyB
03. OnlyC 04. Both AandC

05. Both A and B
Q-17 The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
hi three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

Retailers said that they have decided about the extreme measure since their discussions with the brands during Diwali did not stop online discounting,
which washed out their sales.



A. step, aborted
B. course of action, faded
C. placated, appeased

01. OnlyA 02. OnlyB

03. OnlyC 04. Both A and C

05. Both A and B
Solution for Question 17 Ans Key: 5
eng Measure (n)- step ; course of action

Washout (v) - fade ; abort
For other options:
Placate (v)- calm
Appease (v)- satisfy

Measure (n)- step ; course of action
Washout (v) - fade ; abort

For other options:

Placate (v)- calm

Appease (v)- satisfy

Q-18

Q-18

The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

Retailers wanted all brands to commit that they would permanently stop the predatory practice of launching lower-priced smartphone models exclusively
online which had completely ruined the offline business.

A. exemplary, diligently
B. mandatory, commonly
C. exploitative, uniquely

01. Only A 02. OnlyB
03. ()nly C 04. Both A and C

05. Both A and B
The following question consists of a sentence with two highlighted words. You are given three pair of words as answer choices and from the
three choices, you have to pick up the correct pair that can replace these highlighted words which will make the sentence meaningful.

Retailers wanted all brands to commit that they would permanently stop the predatory practice of launching lower-priced smartphone models exclusively
online which had completely ruined the offline business.

A. exemplary, diligently
B. mandatory, commonly
C. exploitative, uniquely

01. Only A 02. OnlyB

03. OnlyC 04. Both AandC

05. Both A and B
Solution for Question 18 Ans Key: 3
eng Exploitative (adj.) — predatory i.e. seeking to exploit others.

Uniquely (adj.) — exclusively

For other options:

Exemplary (adj.)- perfect

Mandatory (adj.)- compulsory

Diligently (adj.)- in a way that shows care and conscientiousness in one's work or duties.
hi Exploitative (adj.) — predatory i.e. seeking to exploit others.

Uniquely (adj.) — exclusively

For other options:

Exemplary (adj.)- perfect

Mandatory (adj.)- compulsory

Diligently (adj.)- in a way that shows care and conscientiousness in one's work or duties.

Q-19

eng

Which of the Phrases (1), (2), (3) and (4) should replace the highlighted phrase to make it grammatically correct. If the sentence is correct as
it is given and no correction is required, mark (5) as the answer.

But the insurance companies are always required to be regulated by the state because questions arise as to whether it will really reimburse the
cost and the government should monitor this so that patients are not harassed.



01. regulate by the state because questions arise 02. regulated by the state because question arise as to whether they will real reimburse the cost
as to whether they will really reimburse the
cost

03. regulated by the state despite questioning ~ 04. regulated by the state because questions arise as to whether they will really reimburse the cost
arise as to whether they will really
reimbursement the cost

05. No Correction Required.
Which of the Phrases (1), (2), (3) and (4) should replace the highlighted phrase to make it grammatically correct. If the sentence is correct as
it is given and no correction is required, mark (5) as the answer.

But the insurance companies are always required to be regulated by the state because questions arise as to whether it will really reimburse the
cost and the government should monitor this so that patients are not harassed.

01. regulate by the state because questions arise 02. regulated by the state because question arise as to whether they will real reimburse the cost
as to whether they will really reimburse the
cost

03. regulated by the state despite questioning ~ 04. regulated by the state because questions arise as to whether they will really reimburse the cost
arise as to whether they will really
reimbursement the cost

05. No Correction Required.

Solution for Question 19 Ans Key: 4

Q-20

Q-20

regulated by the state (by agent) because questions arise (plural verb for a plural subject ‘questions’) as to whether they will really reimburse
(will takes ‘v1’) the cost

regulated by the state (by agent) because questions arise (plural verb for a plural subject ‘questions’) as to whether they will really reimburse
(will takes ‘v1’) the cost

Which of the Phrases (1), (2), (3) and (4) should replace the highlighted phrase to make it grammatically correct. If the sentence is correct as
it is given and no correction is required, mark (5) as the answer.

He replied that he and his colleagues are close to measuring S2’s orbit with enough precision that are not the problem and there is another
‘dragon’ that will make things very difficult.”

01. to measure S2’s orbit with enough precision 02. to measured S2’s orbit with enough precision that is not the problems and there is another ‘dragon’
that are not the problem and there is another that
‘dragon’ that
03. to measuring S2’s orbit with enough 04. to measuring S2’s orbit with enough precision that is not the problem and there are another ‘dragon’
precision that is not the problem and there is who
another ‘dragon’ that
05. No Correction Required.
Which of the Phrases (1), (2), (3) and (4) should replace the highlighted phrase to make it grammatically correct. If the sentence is correct as
it is given and no correction is required, mark (5) as the answer.

He replied that he and his colleagues are close to measuring S2’s orbit with enough precision that are not the problem and there is another
‘dragon’ that will make things very difficult.”

01. to measure S2’s orbit with enough precision 02. to measured S2’s orbit with enough precision that is not the problems and there is another ‘dragon’

that are not the problem and there is another that
‘dragon’ that

03. to measuring S2’s orbit with enough 04. to measuring S2’s orbit with enough precision that is not the problem and there are another ‘dragon’
precision that is not the problem and there is who

another ‘dragon’ that

05. No Correction Required.

Solution for Question 20 Ans Key: 3

eng

(Are close) to measuring (close to takes ‘gerund’ after it.) S2’s orbit with enough (suitable adjective) precision that is (a singular helping verb is
required here) not the problem and there is (a singular helping verb is required here) another ‘dragon’ that (the most appropriate conjunction
links the clause here)

(Are close) to measuring (close to takes ‘gerund’ after it.) S2’s orbit with enough (suitable adjective) precision that is (a singular helping verb is
required here) not the problem and there is (a singular helping verb is required here) another ‘dragon’ that (the most appropriate conjunction
links the clause here)

Passage for Question 21, 22, 23, 24, 25 (ST-2005SBIBCLMAINS(16-20E)2020)
eng Passage



Rearrange the following five sentences (A), (B), (C), (D) and (E) in the proper sequence to form a meaningful paragraph, while sentence (1) and (7)
are fixed at their respective places.

1. Many Indians work a 6-day week, though most multinational corporations

A. We are second only to the US, where 49% of workers pulled

B. An international Human Resource Management company last year,

C. 44% of Indians worked more than the 40 hours prescribed for a week.

D. In overtime beyond the norm of 40 hours per week,

E. Function on a 5-day week according to a survey done by Kronos Incorporated,

7. If this experiment by Microsoft Japan is anything to go by, India’s workers could do with a 4-day week.

hi Passage

Rearrange the following five sentences (A), (B), (C), (D) and (E) in the proper sequence to form a meaningful paragraph, while sentence (1) and (7)
are fixed at their respective places.

1. Many Indians work a 6-day week, though most multinational corporations

A. We are second only to the US, where 49% of workers pulled

B. An international Human Resource Management company last year,

C. 44% of Indians worked more than the 40 hours prescribed for a week.

D. In overtime beyond the norm of 40 hours per week,

E. Function on a 5-day week according to a survey done by Kronos Incorporated,

7. If this experiment by Microsoft Japan is anything to go by, India’s workers could do with a 4-day week.

Q-21 Which of the following would be the FIRST sentence after rearrangement?
01. A 02. B
03. C 04. D
05. E
Q-21 Which of the following would be the FIRST sentence after rearrangement?
01. A 02. B
03. C 04. D
05. E
Solution for Question 21 Ans Key: 5

The correct sequence of the passage is ‘EBCAD’, and the passage is based on ‘working culture of Indians’.

The correct sequence of the passage is ‘EBCAD’, and the passage is based on ‘working culture of Indians’.

Q-22  Which of the following would be the FOURTH sentence after rearrangement?

01. A 02. B

03. C 04. D

05. E
Q-22  Which of the following would be the FOURTH sentence after rearrangement?
hi

01. A 02. B

03. C 04. D

05. E
Solution for Question 22 Ans Key: 1
eng The correct sequence of the passage is ‘EBCAD’, and the passage is based on ‘working culture of Indians’.
hi The correct sequence of the passage is ‘EBCAD’, and the passage is based on ‘working culture of Indians’.

Q-23  Which of the following would be the THIRD sentence after rearrangement?
eng

01. A 02. B
03. C 04. D
05. E



Q-23  Which of the following would be the THIRD sentence after rearrangement?

hi
01. A 02. B
03. C 04. D
05. E
Solution for Question 23 Ans Key: 3
eng The correct sequence of the passage is ‘EBCAD”, and the passage is based on ‘working culture of Indians’.
hi The correct sequence of the passage is ‘EBCAD?’, and the passage is based on ‘working culture of Indians’.

Q-24  Which of the following would be the LAST sentence after rearrangement?

eng
01. A 02. B
03. C 04. D
05. E
Q-24  Which of the following would be the LAST sentence after rearrangement?
hi
01. A 02. B
03. C 04. D
05. E
Solution for Question 24 Ans Key: 4
The correct sequence of the passage is ‘EBCAD’, and the passage is based on ‘working culture of Indians’.
The correct sequence of the passage is ‘EBCAD’, and the passage is based on ‘working culture of Indians’.
Q-25 Which of the following would be the SECOND sentence after rearrangement?

01. A 02. B
03. C 04. D
05. E

Q-25 Which of the following would be the SECOND sentence after rearrangement?

01. A 02. B
03. C 04. D
05. E
Solution for Question 25 Ans Key: 2

The correct sequence of the passage is ‘EBCAD?’, and the passage is based on ‘working culture of Indians’.

The correct sequence of the passage is ‘EBCAD?’, and the passage is based on ‘working culture of Indians’.

Passage for Question 26, 27, 28, 29, 30 (ST-2005SBIBCLMAINS(26-30E)2020)
eng Passage

In the following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (A), (B), (C), (D) and (E). Find out
which pair of words can be filled in the blanks in order to make a meaningful sentence.

Our everyday lives are replete with (A) images of consumption. We keep content, and often take pride in our modern lifestyles and conveniences. But little
do we think that much of it comes at a great cost. Every passing day we are bleeding the earth dry. From depleting forest reserves, natural food sources, to
incessant mining and drilling — our greed feeds the hunger for more. Global climate change is already upon us and 2019 heralded a global clarion B)
immediate action with activists and conservationists at the helm of the movement. But when it come state polices, not much has happened after the resolution

(C) at the Paris Accord in 2015. Like every year, the annual UN climate talks brought together the world’s nations to discuss imminent threats to the
environment.
Unfortunately the Conference of the Parties (COP25) had those, nations squabbling and evading responsibility. But thanks to a few (D) efforts, 2019
heralded some hopeful pieces of development for bettering the environment.
Instead of collecting cash for tuition fees, a school in Assam asks student to students pay with plastic waste. Every week, the students line up in front of the school
with bags filled with bottles, straws, and wrappings. The plastic waste is then recycled in the schools recycling center. Thanks to human activity in India and China,
the world is greener place than what it was twenty years ago, a NASA satellite study (E).
According to data released by the International Renewable Energy Agency (IRENA), a third of global power capacity is now based on renewable energy.

hi Passage




In the following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (A), (B), (C), (D) and (E). Find out
which pair of words can be filled in the blanks in order to make a meaningful sentence.

Our everyday lives are replete with (A) images of consumption. We keep content, and often take pride in our modern lifestyles and conveniences. But little
do we think that much of it comes at a great cost. Every passing day we are bleeding the earth dry. From depleting forest reserves, natural food sources, to
incessant mining and drilling — our greed feeds the hunger for more. Global climate change is already upon us and 2019 heralded a global clarion (B)
immediate action with activists and conservationists at the helm of the movement. But when it come state polices, not much has happened after the resolution

(C) at the Paris Accord in 2015. Like every year, the annual UN climate talks brought together the world’s nations to discuss imminent threats to the
environment.
Unfortunately the Conference of the Parties (COP25) had those, nations squabbling and evading responsibility. But thanks to a few (D) efforts, 2019
heralded some hopeful pieces of development for bettering the environment.
Instead of collecting cash for tuition fees, a school in Assam asks student to students pay with plastic waste. Every week, the students line up in front of the school
with bags filled with bottles, straws, and wrappings. The plastic waste is then recycled in the schools recycling center. Thanks to human activity in India and China,
the world is greener place than what it was twenty years ago, a NASA satellite study (E).
According to data released by the International Renewable Energy Agency (IRENA), a third of global power capacity is now based on renewable energy.

Q-26  Choose the correct option for A

eng
A. glorified

B. subjugated
C. vanquished

01. OnlyA 02. BothBandC
03. OnlyB 04. Both A and B
0S. Only C

Q-26 Choose the correct option for A

A. glorified
B. subjugated
C. vanquished

01. Only A 02. BothBandC
03. OnlyB 04. Both A and B
05. Only C
Solution for Question 26 Ans Key: 1

Glorify (v)- praise and worship (God).
For other options:
Subjugate or Vanquish (v)- bring under domination or control.

Glorify (v)- praise and worship (God).
For other options:
Subjugate or Vanquish (v)- bring under domination or control.

Q-27  Choose the correct option for B

eng
A. call into

B. call for
C. call down

01. Only A 02. BothBandC
03. Only B 04. Both AandB

05. OnlyC
Q-27  Choose the correct option for B

A. call into
B. call for
C. call down

01. Only A 02. BothBandC
03. OnlyB 04. Both A and B
0S. OnlyC
Solution for Question 27 Ans Key: 3

eng Call for (phr. verb)- demand.



For other options:
Call down (phr. verb)- To ask one to come to a particular place.
Call into (phr. verb)- To request one's aid or expertise.

Call for (phr. verb)- demand.

For other options:

Call down (phr. verb)- To ask one to come to a particular place.
Call into (phr. verb)- To request one's aid or expertise.

Q-28

eng

Choose the correct option for C

A. adopted
B. propitiated
C. taken

01. Only A 02. Both A and C
03. OnlyB 04. Both A andB

05. Only C
Choose the correct option for C

A. adopted
B. propitiated
C. taken

01. OnlyA 02. Both A and C
03. OnlyB 04. Both A and B
05. Only C

Solution for Question 28

Q-29

Adopt (v)- accept
For other options:

Propitiate (v)- win or regain the favour of (a god, spirit, or person) by doing something that pleases them.

Adopt (v)- accept
For other options:

Propitiate (v)- win or regain the favour of (a god, spirit, or person) by doing something that pleases them.

Choose the correct option for D

A. concerted
B. collaborative

C. assorted

01. Only A 02. BothBandC
03. Only B 04. Both A and B
05. Only C

Choose the correct option for D

A. concerted
B. collaborative

C. assorted

01. Only A 02. BothBand C
03. OnlyB 04. Both A andB
0S. OnlyC

Solution for Question 29

Ans Key: 2

Ans Key: 4

eng Concerted or collaborative (adj.)- united.
For other options:
Assorted (adj.)- mixed

hi Concerted or collaborative (adj.)- united.

For other options:

Assorted (adj.)- mixed

Q-30

Choose the correct option for E



eng
A. revealed

B. disguised
C. shrouded

01. OnlyA 02. BothBandC
03. OnlyB 04. Both AandB

Q-30  Choose the correct option for E

A. revealed
B. disguised
C. shrouded

01. OnlyA 02. Both Band C
03. OnlyB 04. Both A and B
05. OnlyC
Solution for Question 30 Ans Key: 1

eng Reveal (v)- show
For other options:
Disguise and Shroud are the antonyms of the verb reveal.

Reveal (v)- show
For other options:
Disguise and Shroud are the antonyms of the verb reveal.

Passage for Question 31, 32, 33 (ST-2005SBIBCLMAINS(31-33E)2020)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

Most people think that it’s fine to be “busy as a beaver.” Little do they know. Beavers may work hard, but often they don’t get very much done. Beavers are
supposed to be great tree cutters. It is true that a beaver can gnaw through a tree very quickly: A six-inch birch takes about 10 minutes. But then what? Often the
beaver does not make use of the tree. One expert says that beavers waste one out of every five trees they cut.

For one thing, they do not choose their trees wisely. One bunch of beavers cut down a cottonwood tree more than 100 feet tall. Then they found that they could not
move it. In thick woods, a tree sometimes won’t fall down. It gets stuck in the other trees. Of course, the beaver doesn’t think to cut down the trees that are in the
way. So a good tree goes to waste.

Some people think that beavers can make a tree fall the way they want it to. Not true. (In fact, beavers sometimes get pinned under a falling tree.) When beavers
cut a tree near a stream, it usually falls into the water, but they do not plan it that way. The fact is that most trees lean toward the water to start with. Now what
about dam building? Most beaver dams are wonders of engineering. The best ones are strongly built of trees, stones, and mud. They are wide at the bottom and
narrow at the top. Beavers think nothing of building a dam more than 200 feet long. One dam in Montana was more than 2,000 feet long. The largest one ever seen
was in New Hampshire: it stretched 4,000 feet, and made a lake large enough to hold 40 beaver homes.

So beavers do build good dams. But they don’t always build them in the right places. They just don’t plan. They will build a dam across the widest part of the
stream. They don’t try to find a place where the stream is narrow. So a lot of their hard work is wasted.

Beavers should learn that it’s not enough to be busy. You have to know what you’re doing, too. For example, there was one Oregon beaver that really was a
worker. It decided to fix a leak in a man-made dam. After five days of work it gave up. The leak it was trying to block was the lock that boats go through.

hi Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

Most people think that it’s fine to be “busy as a beaver.” Little do they know. Beavers may work hard, but often they don’t get very much done. Beavers are
supposed to be great tree cutters. It is true that a beaver can gnaw through a tree very quickly: A six-inch birch takes about 10 minutes. But then what? Often the
beaver does not make use of the tree. One expert says that beavers waste one out of every five trees they cut.

For one thing, they do not choose their trees wisely. One bunch of beavers cut down a cottonwood tree more than 100 feet tall. Then they found that they could not
move it. In thick woods, a tree sometimes won’t fall down. It gets stuck in the other trees. Of course, the beaver doesn’t think to cut down the trees that are in the
way. So a good tree goes to waste.

Some people think that beavers can make a tree fall the way they want it to. Not true. (In fact, beavers sometimes get pinned under a falling tree.) When beavers
cut a tree near a stream, it usually falls into the water, but they do not plan it that way. The fact is that most trees lean toward the water to start with. Now what
about dam building? Most beaver dams are wonders of engineering. The best ones are strongly built of trees, stones, and mud. They are wide at the bottom and
narrow at the top. Beavers think nothing of building a dam more than 200 feet long. One dam in Montana was more than 2,000 feet long. The largest one ever seen




was in New Hampshire: it stretched 4,000 feet, and made a lake large enough to hold 40 beaver homes.

So beavers do build good dams. But they don’t always build them in the right places. They just don’t plan. They will build a dam across the widest part of the
stream. They don’t try to find a place where the stream is narrow. So a lot of their hard work is wasted.

Beavers should learn that it’s not enough to be busy. You have to know what you’re doing, too. For example, there was one Oregon beaver that really was a
worker. It decided to fix a leak in a man-made dam. After five days of work it gave up. The leak it was trying to block was the lock that boats go through.

Q-31

eng

Which of the following sentences is/are NOT TRUE, according to the passage?

i. Fine dams are constructed by beavers.
ii. While constructing the dams Beavers keep in mind their correct places.
iii. Beavers like to strategize the whole construction scheme before making dams.

01. Onlyi 02. Bothiandii

03. Onlyii 04. Both ii and iii

05. All of the above

Which of the following sentences is/are NOT TRUE, according to the passage?

i. Fine dams are constructed by beavers.
ii. While constructing the dams Beavers keep in mind their correct places.

iii. Beavers like to strategize the whole construction scheme before making dams.
01. Onlyi 02. Bothiandii
03. Onlyii 04. Both ii and i

05. All of the above

Solution for Question 31

Q-32

Q-32

The correct answer lies in the second last paragraph.

The correct answer lies in the second last paragraph.

Which of the following sentences is/are TRUE, according to the passage?

i. Dams are built across the widest part of the stream by the beavers.
ii. Beavers do plan well before starting or executing any of their policies.
iii. Beavers choose their trees sensibly.

01. Onlyi 02. Bothiandii

03. Onlyiii 04. Both ii and iii

05.  All of the above

Which of the following sentences is/are TRUE, according to the passage?

i. Dams are built across the widest part of the stream by the beavers.
ii. Beavers do plan well before starting or executing any of their policies.
iii. Beavers choose their trees sensibly.

01. Onlyi 02. Bothiandii
03. Onlyiii 04. Both ii and iii
05. All of the above

Solution for Question 32

Ans Key: 4

Ans Key: 1

eng

The correct answer lies in the second last paragraph.

hi

The correct answer lies in the second last paragraph.

Q-33

eng

As per your reading, what is the main idea of this passage?

01. Beavers may be hard-working animals, but 02. Beavers are excellent dam builders.
they don’t always choose the most efficient
mechanisms.

03. New Hampshire was the site of the largest 04. Beavers are well-developed tree cutters.

beaver dam.



05. Beavers are poor surveyors of aquatic
environments in some cases.
Q-33 As per your reading, what is the main idea of this passage?

01. Beavers may be hard-working animals, but 02. Beavers are excellent dam builders.
they don’t always choose the most efficient
mechanisms.

03. New Hampshire was the site of the largest 04. Beavers are well-developed tree cutters.
beaver dam.

05. Beavers are poor surveyors of aquatic
environments in some cases.

Solution for Question 33 Ans Key: 1

eng Only option 1 identifies the main idea, that beavers are hard-working but not always efficient. Each of the other choices identifies one detail
included in the passage, not the main idea.

hi Only option 1 identifies the main idea, that beavers are hard-working but not always efficient. Each of the other choices identifies one detail
included in the passage, not the main idea.

Passage for Question 34, 35, 36, 37, 38, 39, 40 (ST-2005SBIBCLMAINS(34-40E)2020)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

We all have intense periods at work where multiple deadlines converge, an important deal is closing, or a busy season lasts for a few months. During these times, we
may work more intensely or longer hours, but we know that the situation is temporary, and we are able to keep work in perspective. Conversely, approximately
10% of Americans are considered workaholics, defined as having a “stable tendency to compulsively and excessively work.” Whether you are in the midst of a
temporary work crunch, or if working all the time is your version of “normal,” there are some key signs that you are pushing yourself too hard. These include:

Consistently putting off vacations (including working over major holidays), regularly working all weekend, or dismissing the idea of an occasional day off'is a sign
that you are burning the candle from both ends. While only 23% of Americans take their full vacation time allotted, studies of elite athletes show that rest periods are
precisely what helps them to perform at full throttle when needed, and the same is true for the rest of us. While extended vacations are helpful, smaller breaks, such
as taking the weekend to recharge, carving out personal time in the evening, or having an occasional day off can also be an important part of having sufficient
downtime to restore your energy and counter the drain of being “always on.”

When we focus exclusively on work for extended periods, it often comes at the expense of our personal relationships. During 2018, 76% of US workers said that
workplace stress affected their personal relationships, with workaholics being twice as likely to get divorced. Not taking time to connect with friends and family can
also be detrimental to our health. Research shows that strong social relationships are positively correlated to lifespan and that a lack of social relationships has the
same effect as smoking 15 cigarettes a day. If you are not taking time outside of work to connect socially with others and have become increasingly isolated, such
that social invitations have dried up because others assume you are not available, chances are you are too focused on work.

Another sign you are pushing yourself too hard is that when you do leave the office and take time to be with the people you care about, you are not able to mentally
turn work off and be present with them. In 2017, 66% of Americans reported working while on vacation. While it’s normal to think about work periodically, it
becomes a problem when we’re not able to manage our urge to give into work-related distractions, slowly eroding our most important relationships. In his book,
Indistractable, the author points out that these distractions make the people we care about “residual beneficiaries” of our attention, meaning they get what is left
over, which typically not very much.

This is not the occasional skipping a shower when working from home in your sweatpants. Failing to get sufficient sleep, missing meals or existing on a diet of coffee
and energy bars, or abandoning exercise or personal hygiene for extended periods are all indications that you are in an unhealthy pattern of behaviour. In particular,
when we sacrifice sleep for work, we are effectively working against ourselves, as sleep deprivation is shown to impair higher-level cognitive functions including
judgment, critical thinking, decision making, and organization. Likewise, skipping exercise puts us at a further disadvantage. Exercise has been shown to lower
stress, improve mood and energy levels, and enhance cognitive function, such as memory, concentration, learning, mental stamina, and creativity. As a former
investment banker who worked 80- to 100-hour weeks during more intense periods, taking breaks to exercise, eat, and even nap in one of the sleeping rooms
provided onsite was critical to maintaining my health, stamina, and productivity.

Failure to see a broader perspective, both in terms of how you see your value as a person as well as how you see the importance of work relative to the rest of your;
life, can be a sign that you are pushing yourself too hard. This myopia is usually driven by deeply held limiting beliefs that create a contracted worldview. Elisa, the
head of engineering at a tech company, pushed herself and her team incredibly hard. Her behaviour was driven by a belief that “My value is what I produce.” To
broaden her perspective, she asked others she respected about what they valued about her, as well as how they valued themselves. She was able to see not only
that people valued her for other things like being a good friend, parent, or thought partner, but also that they defined their own value more broadly than their work.
Sometimes, it takes a big life event, like the birth of a child or the death of a colleague or loved one, to shake someone out of this restricted perspective. Another
way to broaden your perspective in the absence of these events is to have interests outside of work, which can be a good reminder that work isn’t everything.

While we all need to shift into high gear from time to time, keeping work in perspective with the rest of our lives, and taking care of ourselves and our relationships
are key to achieving long-term success, both personally and professionally.

hi Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.




We all have intense periods at work where multiple deadlines converge, an important deal is closing, or a busy season lasts for a few months. During these times, we
may work more intensely or longer hours, but we know that the situation is temporary, and we are able to keep work in perspective. Conversely, approximately
10% of Americans are considered workaholics, defined as having a “stable tendency to compulsively and excessively work.” Whether you are in the midst of a
temporary work crunch, or if working all the time is your version of “normal,” there are some key signs that you are pushing yourself too hard. These include:

Consistently putting off vacations (including working over major holidays), regularly working all weekend, or dismissing the idea of an occasional day off is a sign
that you are burning the candle from both ends. While only 23% of Americans take their full vacation time allotted, studies of elite athletes show that rest periods are
precisely what helps them to perform at full throttle when needed, and the same is true for the rest of us. While extended vacations are helpful, smaller breaks, such
as taking the weekend to recharge, carving out personal time in the evening, or having an occasional day off can also be an important part of having sufficient
downtime to restore your energy and counter the drain of being “always on.”

‘When we focus exclusively on work for extended periods, it often comes at the expense of our personal relationships. During 2018, 76% of US workers said that
workplace stress affected their personal relationships, with workaholics being twice as likely to get divorced. Not taking time to connect with friends and family can
also be detrimental to our health. Research shows that strong social relationships are positively correlated to lifespan and that a lack of social relationships has the
same effect as smoking 15 cigarettes a day. If you are not taking time outside of work to connect socially with others and have become increasingly isolated, such
that social invitations have dried up because others assume you are not available, chances are you are too focused on work.

Another sign you are pushing yourself too hard is that when you do leave the office and take time to be with the people you care about, you are not able to mentally
turn work off and be present with them. In 2017, 66% of Americans reported working while on vacation. While it’s normal to think about work periodically, it
becomes a problem when we’re not able to manage our urge to give into work-related distractions, slowly eroding our most important relationships. In his book,
Indistractable, the author points out that these distractions make the people we care about “residual beneficiaries” of our attention, meaning they get what is left
over, which typically not very much.

This is not the occasional skipping a shower when working from home in your sweatpants. Failing to get sufficient sleep, missing meals or existing on a diet of coffee
and energy bars, or abandoning exercise or personal hygiene for extended periods are all indications that you are in an unhealthy pattern of behaviour. In particular,
when we sacrifice sleep for work, we are effectively working against ourselves, as sleep deprivation is shown to impair higher-level cognitive functions including
judgment, critical thinking, decision making, and organization. Likewise, skipping exercise puts us at a further disadvantage. Exercise has been shown to lower
stress, improve mood and energy levels, and enhance cognitive function, such as memory, concentration, learning, mental stamina, and creativity. As a former
investment banker who worked 80- to 100-hour weeks during more intense periods, taking breaks to exercise, eat, and even nap in one of the sleeping rooms
provided onsite was critical to maintaining my health, stamina, and productivity.

Failure to see a broader perspective, both in terms of how you see your value as a person as well as how you see the importance of work relative to the rest of your
life, can be a sign that you are pushing yourself too hard. This myopia is usually driven by deeply held limiting beliefs that create a contracted worldview. Elisa, the
head of engineering at a tech company, pushed herself and her team incredibly hard. Her behaviour was driven by a belief that “My value is what I produce.” To
broaden her perspective, she asked others she respected about what they valued about her, as well as how they valued themselves. She was able to see not only
that people valued her for other things like being a good friend, parent, or thought partner, but also that they defined their own value more broadly than their work.
Sometimes, it takes a big life event, like the birth of a child or the death of a colleague or loved one, to shake someone out of this restricted perspective. Another
way to broaden your perspective in the absence of these events is to have interests outside of work, which can be a good reminder that work isn’t everything.

While we all need to shift into high gear from time to time, keeping work in perspective with the rest of our lives, and taking care of ourselves and our relationships
are key to achieving long-term success, both personally and professionally.

Q-34 According to the passage, what gradually undermines our paramount relationships?

01. The situation in which we are likely to 02. The situation in which we can’t recollect our job-related nuances and approvals.
manage our tasks well.
03. The situation in which we can’t handle our  04. The situation in which we survive all the peer pressure very well.
job-related disturbances.
05. None of the above.
Q-34 According to the passage, what gradually undermines our paramount relationships?

hi
01. The situation in which we are likely to 02. The situation in which we can’t recollect our job-related nuances and approvals.
manage our tasks well.
03. The situation in which we can’t handle our 04. The situation in which we survive all the peer pressure very well.
job-related disturbances.
05. None of the above.
Solution for Question 34 Ans Key: 3
eng The answer can be inferred from the beginning of the fourth paragraph.
hi The answer can be inferred from the beginning of the fourth paragraph.

Q-35 In the book “Indistractable”, what does the author point out about the aberrations regarding our loved ones?
eng

01. They usually come at the central point of our 02. They gradually tend to understand their trivial worth amid our extraordinarily hectic rosters.
extra attention and care.

03. They become the smallest receiver of our ~ 04. They experience as a founder to help everyone find better, more efficient, and more modern ways



remaining focus. to pitch.

05. Not clearly mentioned in the passage.
In the book “Indistractable”, what does the author point out about the aberrations regarding our loved ones?

01. They usually come at the central point of our 02. They gradually tend to understand their trivial worth amid our extraordinarily hectic rosters.
extra attention and care.

03. They become the smallest receiver of our ~ 04.  They experience as a founder to help everyone find better, more efficient, and more modern ways
remaining focus. to pitch.

05. Not clearly mentioned in the passage.

Solution for Question 35 Ans Key: 3

eng

hi

Q-36

eng

Q-36

The answer can be inferred from the end of the fourth paragraph.

The answer can be inferred from the end of the fourth paragraph.

As per the passage, long vacations are advantageous, so what do smaller breaks actually include?

i. Not working at weekends to boost your energy levels at work.
ii. Taking out some personal time during the second half during your working hours.
iii. Taking two random days off every once in a while.

01. Onlyi 02. Onlyii
03. Bothiandiii 04. Bothiandii

05.  All of the above.
As per the passage, long vacations are advantageous, so what do smaller breaks actually include?

i. Not working at weekends to boost your energy levels at work.
ii. Taking out some personal time during the second half during your working hours.
iii. Taking two random days off every once in a while.

01. Onlyi 02. Onlyii
03. Bothiand iii 04. Bothiandii
05. All of the above.

Solution for Question 36 Ans Key: 4

Q-37

The answer lies in the second paragraph.

The answer lies in the second paragraph.

As per the passage, lack of sleep is shown to harm higher-level cerebral functioning except-

01. The ability to make considered decisions or 02. The objective analysis and evaluation of an issue in order to form a judgement.
come to sensible conclusions.

03.  The action or process of making important 04. A psychological approach which emphasizes scientific and objective methods of investigation.
decisions.

05. All of the above

As per the passage, lack of sleep is shown to harm higher-level cerebral functioning except-

01. The ability to make considered decisions or 02. The objective analysis and evaluation of an issue in order to form a judgement.
come to sensible conclusions.

03. The action or process of making important 04. A psychological approach which emphasizes scientific and objective methods of investigation.
decisions.

05. All of the above

Solution for Question 37 Ans Key: 4

eng

hi

Q-38

eng

The answer lies in the fifth paragraph of the passage, as option 1 defines judgement, option 2 defines critical thinking, option 3 defines
decision making and option 4 defines behaviourism which is not included in the impairment of higher-level cognitive functions.

The answer lies in the fifth paragraph of the passage, as option 1 defines judgement, option 2 defines critical thinking, option 3 defines
decision making and option 4 defines behaviourism which is not included in the impairment of higher-level cognitive functions.

As per your reading what inference can be drawn by the sixth paragraph of the passage?

i. You see your value as a person completely defined by work.
ii. You deprioritize personal relationships.



iii. You’re unable to be fully present outside of work.
iv. You’re neglecting personal care.

01. Onlyi 02. Onlyii

03. Both ii and iii 04. Both iii and iv

05. All except i

As per your reading what inference can be drawn by the sixth paragraph of the passage?

i. You see your value as a person completely defined by work.
ii. You deprioritize personal relationships.

iii. You’re unable to be fully present outside of work.

iv. You’re neglecting personal care.

0L Onlyi 02. Onlyii
03. Both ii and iii 04. Both iii and iv
0S. All exceptii

Solution for Question 38 Ans Key: 1
eng The answer is inference based, read the sixth paragraph carefully.
hi The answer is inference based, read the sixth paragraph carefully.
Q-39 Mention the points which indicate that one has started adopting unhealthy living habit, as per the given passage.
i. Lacking in attaining enough amount of sleep.
ii. Skipping food or sustaining on a coffee diet.
iii. Forsaking exercise or self body care for longer periods.
iv. Eating Junk food and rising tea/coffee addiction.
01. Onlyi 02. Both ii and iii
03. Bothiandiv 04. Bothiand ii
05.  All except iv
Q-39 Mention the points which indicate that one has started adopting unhealthy living habit, as per the given passage.
i. Lacking in attaining enough amount of sleep.
ii. Skipping food or sustaining on a coffee diet.
iii. Forsaking exercise or self body care for longer periods.
iv. Eating Junk food and rising tea/coffee addiction.
01. Onlyi 02. Both ii andiii
03. Bothiandiv 04. Bothiand ii
05.  All except iv
Solution for Question 39 Ans Key: 5

eng

The answer lies in the beginning of the fifth paragraph.

hi

The answer lies in the beginning of the fifth paragraph.

Q-40

eng

Which of the following points is/are the key to achieving sustained success, both in your personal and professional life?

i. Occasionally, we should start functioning differently and more competently.
ii. Work should always be kept in viewpoint throughout our life.
iii. Nurturing ourselves and our relationships must be done throughout our life.

03. Both ii and iii 04. Bothiandii

05. All of the above.
Which of the following points is/are the key to achieving sustained success, both in your personal and professional life?

i. Occasionally, we should start functioning differently and more competently.
ii. Work should always be kept in viewpoint throughout our life.
iii. Nurturing ourselves and our relationships must be done throughout our life.

01. Onlyi 02. Onlyii



03. Bothii and iii 04. Bothiandii
05. All of the above.

Solution for Question 40 Ans Key: 3
eng The answer lies in the last paragraph.

hi The answer lies in the last paragraph.

Q-41 Find the approximate value of the given question mark (?) in the following question.

eng

27 =32.01 + 128.01 x 1023.97 = 7.97

01. 7 02. 3
03. 5 04. 9
05. ¢
Q-41 frufafeag v & frgag vy f2rew (2) F71agarf~a wr+ qra g
" 2% =32.01 + 128.01 x 1023.97 + 7.97
01. 7 02. 3
03. 5 04. 9
05. ¢
Solution for Question 41 Ans Key: 3
27=32.01 +128.01 x 1023.97 + 7.97
27=32+128 x 1024 + 8
27=32+128 x 128
o = 29)
B
7=5
27=32.01 +128.01 x 1023.97 + 7.97
27=32+128 %1024+ 8
27=32+128 x 128
27=32
9?95
9—s
Q-42 Find the approximate value of the given question mark (?) in the following question.

01. 1.5 02. 25

03. 0.5 04. 35

05. 45
Q-42 frufafag vy & fag g vy f2rew (2) 71 agarta ar+ ara Fivrg
. 34.03% of 550.08 + ? =297.08 + 73557 + /339 08

01. 1.5 02. 25

03. 0.5 04. 35

05. 4.5
Solution for Question 42 Ans Key: 3
eng 34.03% of 550.08 + 2 =297.08 + . 735 07 + /200 0%

34% x 550 =2 =297+ 735+ . fo00

187 +?=297+ 27 + 30

27=05
hi 34.03% of 550.08 + 2 =297.08 + /775 67 + /300 0%

34% x 550~ 2=297+ 35+ ./o00
187+ 2 =297+ 27 + 30
2=05



Q-43

eng

What approximate value should come in place of question mark (?) in the following question?

24.99% 0f 979.907 x 12.08 + 111.999 + 4.034 - 45% of 349.998 =?

01. 2600 02. 2400
03. 2800 04. 2500
05. 3000

referfer w1 & weramas g (2) 3 T 9% SR 797 /I AT

979.907 &T 24.99% x 12.08 + 111.999 + 4.034 - 349.998 T 45% =?

01. 2600 02. 2400
03. 2800 04. 2500
05. 3000
Solution for Question 43 Ans Key: 3
eng 2940 +28 — 158 =?
?=2810
hi 2940 + 28 — 158 =?
?2=2810
Q-44 ‘What approximate value should come in place of question mark (?) in the following question?
79.998% of 680.06 + 125.001% of 449.998 + 20.01% of 249.789 = ?
01. 1200 02. 1300
03. 1050 04. 1150
05. 1250
Q-44  FwfafEd w1 § werar=e e (?) T T 9% T[T F71 {19 A0
680.06 T 79.998% + 449.998 =T 125.001% + 249.789 =T 20.01% =?
01. 1200 02. 1300
03. 1050 04. 1150
05. 1250
Solution for Question 44 Ans Key: 4
544+562+50=?
7=1156
544+562+50=2
7=1156
Q-45 What approximate value should come in place of question mark (?) in the following question?
eng
1482 - 253 = 499% of ?
01. 1250 02. 1300
03. 1200 04. 1150
05. 1350
Q-45 fA=foriad w1 § wrar=e =g (?) % T 9% 7T 47 A1 SAT0?
hi
1482 - 253 = 2 FT 499%
01. 1250 02. 1300
03. 1200 04. 1150
05. 1350
Solution for Question 45 Ans Key: 1

eng 7x5=21904 — 15625
7=1255.8
hi ?7x5=21904 — 15625



7=1255.8

Q-46

eng

What approximate value should come in place of question mark (?) in the following question?

159 x 43 —37 x 57 =92

01. 40 02. 50
03. 60 04. 70
05. 80

Faferfea w1 & weramas g (2) % S99 T 797 719 AT

159 x 43 —37 x 57 =92

01. 40 02. 50
03. 60 04. 70
05. 80
Solution for Question 46 Ans Key: 4
eng 22=4728
7=69 (approx)
2=4728
9=69 (VAT )
Q-47 Below series follow the same pattern as above.
Find the value of A +B
100 51 52 105 421 3369
4 2 A2 C B
01. 1567 02. 1601
03. 1987 04. 1127
05. 1762
Q-47 A T FGATFITHT FGAT F GHATT G HTITATHIATS |
A+B FTHTE FTq F1f9T
100 51 52 105 421 3369
44 ? A ? C B
01. 1567 02. 1601
03. 1987 04. 1127
05. 1762
Solution for Question 47 Ans Key: 2
eng I---
100 x .5+ 1=51
51 x1+1=52
52 x24+1=105
105 x4 +1=421
421 x 8+ 1=3369
Il ----
44x 5+1=23
23x1+1=24
24x2+1=49
49 x 4 +1 =197
197 x 8 +1=1577
A+ B =24 +1577
=1601
hi I---
100 x .5+1=51

S51x1+1=52



Q-48 Evaluate the value of A,B and C from given pattern and give the answer of the following questions

240, 720, 1440
B, 32, 32

15626, 3125, 625, 125, C, 5

01. 12 02. 97
03. 68 04. 56

05. 43
Q-48 fruawded & A, BAoTCHF ATT FTYFATHT AL T FAwforfag et wrsacd
hi
A_,_.g_c?ﬂwm?ﬁﬁnz

A, 240, 720, 1440

16, B, 32, 32

15626, 3125, 625,




C=25

Ao
2

=60+ 8 -25
=43

hi 2x6=12
12x5=160
60 x 4 =240
240x 3 =720
720 x 2 =1440
A =60
8X1=38
8X2=16
16X 1=16
16 X2=32
32X 1=32
32X2=64
B=16

56 5% 5% 53 52 5l

Q-49 In each of the given question below, there are two equations as I and II. You have to solve both equations and give answer-

L 3x2—10x+7=0
IL 15y* - 22y +8 =0

01. Ifx>y
03. Ifx>y

05. Ifx =y or no relation between x and y can
be established.

Q-49 FTEARTITTAFTTR, [ATUH ETH ITTHTHCNE | ATTHT AT GHIHLN BT g HIATGINT A TSTALIATEI-

L 3x2-10x+7=0
IL 15y2 - 22y +8=0

01. 2T]%'X>y
03. gfxx>y

05. 7fT x =y a7 x 3T y F WL FqH=we &ATAT
GEIRERISIGERIEA

Solution for Question 49

eng L3x%—10x+7=0

3x2—3x—7x+7=0

02. Ifx<y
04. Ifx<y

02. FfEx<y
04. 7fxx<y

Ans Key: 1



3xx-1)-7x-1)=0
Bx-7(x-1)=0

x=1, 1
3

IL 15y° — 22y +8=0
15y — 10y — 12y +8=0
Sy (By—-2)-4By-2)=0
OBy-9By-2=0

9

[

y=

£l
Hence, x>y

L3x%>—10x+7=0
3x2-3x-7x+7=0
3xx-1)-7x-1)=0
Bx-7(x-1)=0
x=1, %

IL 15y~ 22y +8=0

15y> — 10y — 12y +8=0
5y(By-2)-4@y-2)=0
By-49@By-2)=0

C HBE

HAd:,, x>y

Q-50 In each of the given question below, there are two equations as I and I1. You have to solve both equations and give answer-

L x>+3x-4=0
IL3y2— 10y +8=0

01. Ifx>y 02. ]fx<y
03. Ifx>y 04. Ifx<y

05. Ifx =y orno relation between x and y can
be established.
Q-50 A RTATTAFTITR, IATMF ETH ST THFINE | ATHT AT GHIFTON FTEF FLATGINT M TSTLIAT G-

L x>+3x-4=0
IL3y?~10y +8=0

01. Ffgx>y 02. Ffyx<y
03. #fzx>y 04. gfzx<y

05. 7fx x =y T x 31¥ y 3 Weq wvaee w700q
TEi AT ST HFAT B |
Solution for Question 50 Ans Key: 2

eng Lx*+3x—4=0
x=1,-4

IL 3y’ — 10y +8=0
y=2,133
Hence, y > x

I.X2+3x—4=0
x=1,-4

IL 3y’ — 10y +8=0
y=2,133
HAd:, y>x




Q-51

eng

In each of the given question below, there are two equations as I and II. You have to solve both equations and give answer-

I. 20x>—17x+3=0
IL20y2 -9y + 1 =0

01. Ifx>y 02. Ifx<y
03. Ifx>y 04. Ifx<y

05. Ifx =y or no relation between x and y can
be established.

T RATTTCTAFTTIH, [HTNF ETH ST AHTHCU G | ATTHT ITAT GHIHTOT HT g HLAT BT T ITL AT G-

L 20x2—17x+3=0
IL20y2 -9y +1=0

01. gfxx>y 02. 7fxx<y
03. Ffax>y 04. FfIx<y

05. 7fx x =y IT x 3T y F WeT Ty TATUT
Tl T ST aFhaT 2 |

Solution for Question 51

Q-52

eng

Q-52

L20x%—17x+3 =0

20%% — 12x—5x +3=0
4x (5x—-3)-1(5x—-3)=0
(4x—1)(5x—3)=0

= i

I

IL 20y° — 9y +1=0

20y — 4y —5y+1=0
4y Sy-1)—-1(5y—-1)=0
@y-1)(Gy-1)=0

e

Hence, x>y

L 20x%=17x +3 =0

20x% — 12x = 5x +3 =0
4x (5x—3)— 1 (5x—3)=0
4x-1)(5x-3)=0

= e

=

IL 20y — 9y +1=0

20y — 4y —Sy+1=0
4y Sy-1)-1(5y-1)=0
@y-1D(Sy-1)=0

B
1’5
Ad:, x>y

In each of the given question below, there are two equations as I and II. You have to solve both equations and give answer-

L 4x>—8x+3=0
IL2y?— 13y +15=0

01. Ifx>y 02. Ifx<y
03. Ifx>y 04. Ifx<y

05. Ifx =y or no relation between x and y can
be established.

T RETTTCTAFTTH, [HTNF ETH ST AHTHCUE | ATTHT GTAT GHIHTOT HT G HLAT BT T ITL AT G-

Ans Key: 3



L 4x>-8x+3=0
IL2y?— 13y +15=0

01. gfxx>y 02. 7fxx<y
03. FfIx>y 04. Ffzx<y
05. 7T x =y AT x 3T y F T FH=we SATAT
LERERUSIGELIEA
Solution for Question 52 Ans Key: 4

eng L4x*>—8x+3=0

4% —6x—2x+3=0

2x(2x-3)-1(2x-3)=0

2x-1)(2x-3)=0
BRE

= iy e

742

IL2y>— 13y +15=0

2y 10y —3y+15=0
2y(y-5)-3(y—-5=0
(2y-3)(y-5=0
. -

Hence, x <y

L4x2—8x+3=0

[l

4x% —6x—2x+3=0
2x (2x=3)—1(2x-3)=0
2x-1)(2x-3)=0

R = g

IL2y* — 13y +15=0
2y* — 10y -3y + 15=10
2y(y-5) -3GO
2y-3)(y-5)=0
Yy =

Ad:, x <y

Q-53 In each of the following questions, two equations I and II have been given. Solve these questions and answer

L x3,x,£ X+ g =0
IL y>-3y+2=0

01. Ifx<y 02. Ifx<y
03. Ifx =y or the relation cannot be established 04. Ifx>y

05. Ifx>y
Q-53 fufvfagrds v, STafFw [T fRTAT | T I FTFA R ATIATK -

L. X2,x,\|§ X+ 7 =0
IL y>-3y+2=0
01. gfxx<y 02. gf¥x<y

03. =fF x =y 77 TFawy warfog 78 AT s 04, Ffex>y
qFAT

0s5. q'% X > y
Solution for Question 53 Ans Key: 3

eng L x*>—x-— JZx+ 7 =0
x(x-1)- 7 x-1)=0
x-DE-,z )=0
x=l,@



IL y2-3y+2=0
y2-2y—y+2=0
yy-2)-1(-2)=0
y-2)(y-1=0

y=12

Hence, relation cannot be established

L x2—x— S2xt 5 =0
x(x-1)- 5 x-1)=0
x-DE-,z )=0

x=l,@

IL y?-3y+2=0

y2-2y—y+2=0
yy-2)-1(-2)=0
y-2)(y-1=0

y=12

T, TSR TATIAT Tl (h AT ST qhdT &

Q-54

eng

Q-54

A shopkeeper blends two varieties of sugar, one costing Rs.60 per kilogram and Rs.105 per kilogram. The respective ratio of quantities they were mixed in

was 7:2. If he sold the mixed variety at Rs.100 per kilogram, how much was his profit percentage?

4
(NS

i | b

=3
n
1| o

TF THRITE A &1 TG o AT T THATAT, T T ARG o 60T T TR R SirT g1 AT 6l AR g7 105 §90 Jfd e R g @@ 393

HTAT T ST FA: 7:2 F| 712 7@ F0 3 Foraror 7 100 #007 f Frerrerm 3 fRama & 3= S0 3% @/7s7 Sfaer S fisrr?

01. _ 2 02.
03. __2 04.

=1
N
=%

Solution for Question 54

Cost of 9 kg of mixture
=Rs. (60x7+105x%2)
= Rs. (420+210)

Ans Key: 4

=Rs.630
Selling price of 9 kg of mixture
=9x100
=Rs.900
Profit percent
_ 900-630 199 =2700
630 63
= 3?0 :422 %
hi 9ferTTaITH fersror T 3 et

= Rs. (60x7+105x2)

= Rs. (420+210)

= Rs.630
oferetrame firsror a1 forsrr g
=9x100

=Rs.900

SIERIGRG)

_ 900630 2700

x100=="_—-
630 63

8300851

r;

Q-55

A took 15 sec to cross a rectangular field diagonally walking at the rate of 52 m/min and B took the same time to cross the same field along its sides



eng walking at the rate of 68 m/min. The area of the field is-

01. 30m?2 02. 40 m2

03. 50m2 04. 60 m2

05. 75m2
Q-55  ATHHT SaaqraTe #aT FT 39 0T & sTfaer 52 H/Mee it 91 & 9% 15 7. § I F3d7 & T9T B 67 HIF FT SHAT 030 & A 1297 68
hi HY/Fee &1 AT F TR A g1 q9T | T FIAT g1 AT FT SRS 8-

01. 30%t.2 02. 40 2

03. 5072 04. 60 ¥1.2

05. 75+t.2
Solution for Question 55 Ans Key: 4
eng & B]

E C

BD = length of diagonal = Speed x time

. 526-015 .

b= 1372169 . (i)
65

b= = T (ii}
B0

From (i) and (ii)
l+him=F+b +2Ih
289 =169 + 2Ib

Ib = 60m?

L
/
‘/.'

E &

BD = fa=ol it TS = 91T x 99T
_57%13
T GO

=13m

2 +b% =132 =169.... (i)

TuT. (i) S (i) T,
l+hi" =P +b* + 2k
289=169 +2lb

Ib = 60m?

Q-56 After travelling 555 km train met with an accident and speed reduced by 15% of its actual speed and it reaches 6 hours late, if accident had occured after

eng travelling 111 km more, train will reach 5 hours late, find the total distance.
01. 2112km 02. 2222 km
03. 1221 km 04. 2212 km

05. None of these
Q-56  UH A& 555 Y ATAT F 1T TeeAT BT AT FoEH THAT ATA 15% FH ST AT THIT o T 6 He o7fer o T, T2 111 BT 7 773 5 a8 goedr
hi BT T 3 5 = e gIe, q1 |/ 41 AT Hirord|



01. 2112 fefy 02. 2222 fFfY
03. 1221 fft 04. 2212 fFefy
05. =a# FHIE Tol

Solution for Question 56

eng For 111 km lhour save

for 666 km 6 hour will be saved
total distance=666+555=1221 km

hi 111 forft 1ok =et & 1 5 ot =i 53
666 TRt STfer <o & 6 He T = gt
FA g=666+555=1221 fereft

Ans Key: 3

Q-57 Rajan invest money in 3 different scheme for 6 years, 10 years and 12 years at the rate 10%, 12% and 15% SI respectively at the completion of each

eng scheme he gets the same interest. Then find the ratio of his investment?
01. 6:3:2 02. 6:2:3
03. 3:6:2 04. 2:3:6

05. None of these

Q-57 TS AT EEAIH 6 AW, 10 TG AT 12 TT F 70 FH: 10%, 12% 3T 15% T 3T F o [Ferer 62T, To= &6 F ofd § 39! aa o341 e

FAT| T 3 T Ao T ST 7 2

02. 6:2:3
04. 2:3:6

01. 6:3:
03. 3:6:
05. =8 F FE TS

[\

[\

Solution for Question 57 Ans Key: 1
Pix10x6 Ppx12x10 P3x15x12
00 100 10
P :Py:P3=6:3:2
T H10X6 AFH, X12X10  FEe, X1 HK1Z
100 N 101 - 101
qALH | : JAEH, - qAEH3 =6 :3: 2
Q-58 Seven coins are tossed simultaneously. Find the probability of getting exactly 4 heads.
01. 17/64 02. 35/128
03. 9/32 04. 3/8
05. None of these
Q-58  Tq et &1 U AT IFTAT STl g1 4 o 9T g =T Srirhar sia Frfern
01. 17/64 02. 35/128
03. 9/32 04. 3/8
05. it i 7S Y
Solution for Question 58 Ans Key: 2
eng ?C 35
_ s
PE-=—
2 128
il c, 35
_ s
PE-=—
2 128
Q-59  There are two mixture in a shop .first mixture contains milk and water in the ratio 1:4 while the 2nd container contains milk and water in the ratio 3:2. If
eng both the mixture are mixed in a container then it gave milk and water in 9:11 ratio. Then find the ratio in which both the mixture are mixed with each other.
01. 29:30 02. 35
03. 35:34 04. 67

05. None of these



Q-59 UFTHFEHL2TEH F WM Tge A0 T T ST AT AT ST 1:4 € UF FAL F07 7 o7 3T A1 7 ST 3:2 § S AT A A
hi THETT SITaT & 7 39 ST AT 6 THEOT T ST 9:11 FT AT 8 AT A AT i iord a0t &t (70Tt a7 T stqama § Foera 2w = 2
01. 29:30 02. 35
03. 35:34 04. 67
05,z i 78 T
Solution for Question 59 Ans Key: 2
eng By allegation rule (taking milk %)
20 60
45
15 25=3:5
hi Torsgor = frerm & (g8 1 % o4 W)
20 60
45
15 25-3:5
Q-60 A box is in the shape of a cuboid. Find the length of the longest rod which can be placed inside the box. Length, width and height of the box are 8em, 6cm
and 10 cm respectively.
01. 12cm 02. 16cm
03. 20,7 cm 04. 10 J2 em
05. None of these
Q-60 T THAT TATH F ATHIT H | AT % (ZT TN ST Tohel ATeAT T AT 2 %01 AATS AT FHY| T(HH o0l AaTe, AISTS ST HATS HHIA: 8 HHT, 6 THT
ST¥ 10 & 2
01. 129+t 02. 16 %t
03. 20,77 @t 04. 10,/ &
05,z & 18 7
Solution for Question 60 Ans Key: 4
eng Length of the longest rode= diagonal of the box = \.-"'ienghthz 4 width? + height?
et 10°
=10 JE cm
B I ATSTE= o ohT ferehut = T —
~ V82 4 6%+ 102
=10 JE cm
Q-61 A bank offers 10% compound interest per four months. A customer deposits Rs 5000 each on 1st January, on 15* April and on 13 August of a year. At the
eng end of the year, find the amount he would have gained by means of interest?
01. Rs.1050 02. Rs.3205
03. Rs.5000 04. Rs.2500
05. None of these
Q-61  TF A% AT AT ATE 10% FFHTeg SATST &l THT FLAT g T ATgd UF a9 § | FAaT, 1 379 3T 1 $RE 7 5000 FTF STHT FAT &1 T 6 3
hi T AT o wread 7 39 fohaet Trfr 1 A7ey grar 82
01. 1050 = 02. 3205 =0
03. 5000 & 04. 2500 =
05. =i & 7 T8
Solution for Question 61 Ans Key: 2
eng Rate = 10%



1%Yanuary 5000 +500 (5500 + 5000) = 10500
1% April 1050041050 (11550 + 5000) = 16550

15t August 16550+1655 18205

Hence gain = Rs.(18205-15000) = Rs.3205
hi X =10%

1SSHa 5000 +500 (5500 + 5000) = 10500

15038 10500+1050 (11550 + 5000) = 16550

13 16550+1655 18205

I7d: AT = (18205-15000) FF = 3205 T
Q-62 Kohli, Suresh and Ishan can complete a work in 6hr. In a given work Ishan worked for 6hr while Kohli and Suresh worked for 3hr and 75% of the work
eng gets completed. Then find out the time in which Kohli and Suresh will complete the given work.

01. 12hr 02. 10hr

03. 15hr 04. 18hr

05. None of these
Q-62  FIEeA, T AT SLMTH 6 5 H T HTH T HT T 2| Tt w10 &6re § o 6 5 3 forw safes rget ot qear 7 3 =5 e o fiw 75%

T T FohT) ST R A AT ST qLer R ww w2 A

01. 124 02. 109

03. 15%< 04. 1852

05. i & 7S off
Solution for Question 62 Ans Key: 1

Kohli-K, Suresh-S, Ishan-I

K+S+I- 6hr

K+S+I — Complete the 50% of given work in 3hr. so the remaining 25% of the work is completed by Ishan in 3hr.

Ishan -100%=12hr

K+S I KT

12hr 6hr

So K+S will complete the given work in 12hr.

HIEAl-K, GRI-S, M-I

K+S+I1-69

K+S+1-qUad e 3 5 H U 7T 1 3T 50%| SEITT T 25% HTH 3 F 3 5 H 9 fofam S &)

T -100% = 12 52

K+S il K+S+1I

121 6 TS

AK+S 125 H I8 7T M i g0 )
Q-63 There are three cars P,Q and R. Speed of car P is 13/12 times of car Q. Speed of car R is 5/13 times of car P. If they cover the same distance of 260km
eng and average of speed of all the three cars is SOkm/hr. then how much time taken by faster car to travel?

01. 4hr20 min. 02. 10hr 24min.

03. 4hr 04. 6hr 12 min.

05. None of these
Q-63 T FN P,QINTRE | FX P AT A FT Q F 13/12 TAT 21 FTT R FT A F1 PF 5/13 AT 81 T F ToHawT 260 Freft T &1 a7 w2 & shz o+t
hi A T AT A T SHET 50 BT/ ST g Av AT AAT ATAT FIE ATAT FA 6 (70 =T F87T /0 2

01. 4 %220 fme 02. 10 %2 24 A==

03. 4% 04. 62 12 fme

05. =% ¥ FIE ALY
Solution for Question 63 Ans Key: 3
eng Let the speed of the car P, Q, Ris a, b, ¢

Given,
at+bt+c _ 50
3




at+b+c=150
Bt b X 2p =150

13 12
20, ~ 150
12
b = 60 units
a = 65 units
¢ =25 units

260

Now, Time taken by faster train==""- =4 hrs.
65

Q-64

Q-64

Eh'l'{'P,Q,R<‘=|n°f1'l'i%f?¥a,b,c
fenmne
atbtc _ s

3
a+tb+c=150

13 5 13

—b+b+— X —h =150

12 13 12

=0,

12

b = 60 I

a =65?2If|'¢’

c=25?1f|?.'

e, oSt & 2 g foran e =260 — 4 s,

65

The ratio of the density of three kinds of oil kerosene, petrol and diesel is 9:7:5. The density of kerosene is 27gm/cc and kerosene, petrol and diesel mixed
in the ratio of 6:4:5 by weight. If a litre of diesel cost Rs.40, then find the cost of diesel in 750 kg of mixture of kerosene, petrol and diesel?

01. Rs.1000 02. Rs.800
03. Rs. 900 04. Rs.480

05. None of these
T THTT F T BT, TET ST ST T I T STATT 9: 7: 5 T HUTRIA b FeTed 27 T / HIHT SHT FAHA, TSI 37T FATet aoi 7 6: 4: 5
AT | AT 81 o SToret o 1 e &t Frd 40 F9F g, qT A6, 2T T Siotel o 750 R foeror § Siser 7 ARt aaqrei?

01. =97.1000 02. =73.800
03. =9%. 900 04. =T7.480
05. =8 A FIs Tl

Solution for Question 64 Ans Key: 1

Density of kerosene, petrol and diesel are 18:14:10
Volume =weight/density

Weight of diesel in 750kg mixture 750%5/15=250kg
Now the volume of diesel 250/10= 25 litre

The cost of 25 litre of diesel = 25%40=Rs.1000

AR, T2t 3R Eieie Al oed 18:14:10 2
FiegH = I / T e

750 ferett foeroT o SIS &1 A 750 x 5/15 = 250 forat
3TaT SISt 250/10 = 25 e <l 7T

25 T STe T AT = 25 % 40 = 1000 FIF

Q-65

eng

What is the ratio of the savings of Ritesh, Rakesh and Rohan. If their income ratio of 7:9:12 and their expenditure ratio is 8:9:15, if Rohan saves 25% of his
income.

01. 15:18:11 02. 11:18:15
03. 18:11:15 04. 11:15:18

05. None of these
crer, TTher 3T TrEA T F=q & ST FAT 2| ATE ST 0T SAqATT 7: 9: 12 T 3T I 7T AT 8: 9: 15 €, TT T2 STIAT 30T 7 25%
FHTAT 2

01. 15:18:11 02. 11:18:15
03. 18:11:15 04. 11:15:18

05. =z & S A



Solution for Question 65

Ans Key: 2

eng Income = Expenditure+Saving
Ritesh 7x = 8y+(7x-8y)
Rakesh 9x = 9y-+(9x-9y)

Rohan 12x= 15y+3x
Therefore
x/y=5/3
y =3x/5

savings= (income-expenditure)

Ratio of their savings

Ritesh : Rakesh : Rohan
11x:18x:15x

11:18:15

hi I T + S=d =
s — 7x = 8y+(7x-8y)
THIT — 9x = 9y+(9x-9y)
T — 12x= 15y+3x

Fafere

x/y=5/3
y = 3x/5
T (I - ) =
EREIEERCIRCERIG]
fraer T e

11x:18x:15%x

11:18:15

Passage for Question 66, 67, 68, 69 (ST-16 LICAAO (51-55)2016)

eng Passage

Study the following graph and answer the questions given below.

Following table shows the percentage of boys and difference between the number of boys and the number of girls among the students of six different

schools who appeared in board examination in different years.

Frterfera o 7 stegae T =33 13 et % s -
frafafagead e tpa & a1 1 Qe & fafiw auf § aftafaa asFi 1% s asfFai s asHr AT deqr § A veffa s g

2012 2013 2014 2015

% boys | Diff % boys Diff % boys | Diff | % boys Diff
Al 70% 68 60% 35 75% | 92 60% 43
B | 40% 42 48 9 459 24 60 45
( 44% 30 559 12 60 26 56 12
D 42 57 42 55 36 65 b
[ 75% 140 6! 68 70 132 66 112
| 45 56 48 114| 45 42

hi Passage

2012 2013 ]2014 2015
S5l &l % |IaT asa#zm%m GEEERE: E ol [cecaknkd] Einrs
Al 70% 68 60% 35 75% | 92 | 60% 43
B 40% 42 48% 9 45% 24 60% 45
c | 4a% 30 | s5% 12 60% | 26 | 56% 12
D | 44% 42 s57% | 42 55% | 36 | 65% 96
E 75% 140 60% 68 70% 132 66% 112
' F | aa%  |as 56% 48 65% | 114 as% | 42

Q-66 What is the total number of girls who appeared in the examination from all the six schools in the year 2013?

eng

01. 532
03. 590
05. 682

02. 567
04. 639



Q-66 2013 ¥ it =: TRAT & AfFA{CIT Fi ATl AEFHAT FT o HEAT FATE 2

hi
01. 532 02. 567
03. 590 04. 639
05. 682
Solution for Question 66 Ans Key: 5
eng Total number of girls =70 + 117 + 54 + 129 + 136 + 176 = 682
hi TR T o TAT =70 + 117 + 54+ 129 + 136 + 176 = 682

Q-67 What is the ratio of the total number of boys appeared from School C in 2012 to the total number of girls appeared from School E in the year 2014?

eng
01. 1:9 02. 9:2
03. 9:10 04. 10:9
05. 10:7

Q-67 AT 2012 H TFA C F ASHI I FeT GAT T AW 2014 H Tt E AT AHAT 7 el Tar § wwer: 77 ST g 2

01. 1:9 02. 9:2
03. 9:10 04. 10:9
05. 10:7

Solution for Question 67

Let the total number of students be x.
Boys = 44x/100 and girls = 56x/100
Diff = 12x/100 =30, x =250
Boys =250 x44/100 =110
Similarly,

Total students = 132x100/40 =330
Girls =(30x330)/100 = 99
Ratio=110:99=10:9

AT ST AT HA T&AT X B

. TS = 44x / 100 3T ARt = 56x /100
AT = 12x/100 =30  .% x=300/12 =250
LT SH =44/100x 250 =110

T BIAL 0T FEAT = 132x100/40 = 330
F=HAT = 30x330/100 = 99

AqATa = 110:99=10:9

Ans Key: 4

Q-68 Total number of students appearing from School F in the year 2012 is what per cent of the total number of students appearing from School C in the year

20127

01. 100% 02. 115%
03. 120% 04. 130%
05. 150%

Q-68 T 2012 § THA F | FoT AATId ST 00 §&4T, a9 2012 H (e C F GREATIT G ATl ST 61 el SEAT FT {oha e TIA9rd 8 2

01. 100% 02. 115%
03. 120% 04. 130%
05. 150%

Solution for Question 68

Ans Key: 5

eng Students from F2012 =375
Students from C2012 =250
% =375/250 x 100 = 150%

hi Fagpp ¥ & =375
C2012 a- W = 250
% =375/250 x 100 = 150%

Q-69 What is the average of the number of boys who appeared from School E, taking all the four years together?
eng



01. 205 02. 209

03. 213 04. 219
05. 222
Q-69  UF AT qHT AT AW H TRA E F EATT 21 ATl A1 T S6d FAT 8 2
hi
01. 205 02. 209
03. 213 04. 219
05. 222
Solution for Question 69 Ans Key: 4
eng Average = (210 + 204 + 231 +231)/4 = 876/4 =219
hi ST = (210 + 204 + 231 +231)/4 = 876/4 = 219
Passage for Question 70, 71, 72, 73, 74 (ST-50 SBI (116-120))
eng Passage
Read the following pie-chart carefully and answer the questions given below.
Percentage wise distribution of players participating from different countries in Commonwealth Games.
Total number of players = 3200 Total number of male players = 1800
hi Passage
Referfd are-=1e FT eaTa@e SeaqqHe = T T W1 F 3T 40
TgHvEA T H FAfe 30 & A0 @ Aot fgerfe At w1 wfaeqar A
e =i it a1 dw=ar = 3200 &Y A=At i 41 = 1800
A
.
Q-70 What is the sum of number of female players from country D and number of male players from country C?
eng
01. 420 02. 428
03. 424 04. 437
05. None of these
Q-70 =9 D ¥ AigaAT farteat it 97 sfi¥ 397 C § T= [Tt 67 Sear 7 T0 #7752
hi
01. 420 02. 428
03. 424 04. 437
05. =% FFE ALY
Solution for Question 70 Ans Key: 1
eng Sum = 168+252 = 420
hi THT= 168+252 = 420

Q-71 What is the average of number of male players from country E and number of female players from country A?



eng

01. 242 02. 248
03. 238 04. 246
05. None of these

Q-71  IUEH q=y fyateat £ @ siv 390 A H afgar faerfE=t i wwear #1 sfaq #1782
hi
01. 242 02. 248
03. 238 04. 246
05. =it iy 78
Solution for Question 71 Ans Key: 4
eng Average = 1780‘5312 =246
hi sfterd = 1730;312 =246
Q-72 The number of male players from country F is approximately what percentage of the number of female players from country B?
eng
01. 93 02. 98
03. 88 04. g5
05. 102
Q-72  ZTAF H [EY AT T 9q1 397 B H AigaT faarteat it 91 7 o fhae afaad &2
01. 93 02. 98
03. 88 04. 85
05. 102
Solution for Question 72 Ans Key: 2
— 396 =
Req. percent 104 %100 = 98 (approx)
arsfie widera = 396 <100 = 98 (FRTHT)
404
Q-73 What is the difference between the number of male players from country A and number of female players from country E?
01. 250 02. 248
03. 255 04. 258
05. None of these
Q-73  TA AT T=YT a1 FT FEAT T 97 E H WigaAT ATt 1 971 & = of=q< #4782
01. 250 02. 248
03. 255 04. 258
05. =% A 1S T2
Solution for Question 73 Ans Key: 5
eng Difference = 360 — 108
=150
hi T =360 - 108
=252
Q-74 What is the respective ratio between the number of male players in country B and number of female players in country C?
eng
01. 31:17 02. 35:23
03. 29:13 04. 33:19
05. None of these
Q-74 U B TEY fEATTAT T €T 37 397 C § ARAT RGATT AT T HE&AT 3 S HAL: AT 47 82
hi

01. 31:17 02. 35:23



03. 29:13 04. 33:19

05. Tt & s

Solution for Question 74 Ans Key: 4
eng Ratio =396 : 228
=33:19
hi AT =396 : 228
=33:19
Passage for Question 75, 76 (ST-117 CRPPO(PRE) 2-6)
eng Passage
In the question of following pie-chart two equations (I) and (II) have been given. Read the data carefully and choose the correct options.
Speed of train "A" at various days:- Speed of train 'B' at various days
Total Speed = 80m/sec Total Speed =60m/sec
# Monday u Monday
: » Tuesday » Tuesday
20% " Wednesday " Wednesday
Thursday © Thursday
® Friday ® Friday
hi Passage
Aerferfed arE-=me & weat & &7 FHEr (1) o< (1) 300 g1 9ol &7 e 9@ Teqae ¥ 981 [aded &l A0
TOACH BT RS A o nt o TR R
aifg Fa aifa = 80 nfa w7 = 60 HA
) HHEAT
S i HITASTT
ae_ =Y U
FEEIET FEEIfeET
i QWW W QfhdT
Q-75 Train 'A' runs for 4 hours on Thursday and train 'B' runs for 3 hours and 20 minutes on Friday.
eng (I) what is the 28% of distance covered by train 'A' on Thursday?
(1) What is the 32% of distance covered by train 'B' on Friday?
01. If(1)<(I) 02. If(I)>(II)
03. If ()= (1D 04. 1f (<)
05. If(I) = (II) or no relationship can be
established between (I) and (II).
Q-75  TT'A'TFAR F 4 5 ST A 'B' GRATE 1 3 He 20 AT TF Fwd! 2
hi (1) TTHAT &7 2 'A' GTT T T TS LT FT 28% FT FAT 2
(IT) STFATE T 3 'B' 1T aF 61 T L1 HT 32% FT 82
01. =fx (<) 02. =fx (1) > (I0)
03. fF (1) > (I0) 04. 7 (1)< (ID)
05. 7f (1) = (1) 3r=raT (1) 37 (1) % fi=
TqEE TATIOT Tl (AT ST 9T
Solution for Question 75 Ans Key: 2
eng (D) Distance travelled on Thursday by train ‘A’ =4 x 16 x18/5
=230.4Km

So 28% of 230.4 = 64.512 Km

(I1) Distance travelled on Friday by train ‘B’= 10/3x10.5x18/5
=126 Km

S0 32% of 126 = 45.36 Km

So (I) > (1)



“‘ (I) S ‘A’ GOART IBAN DT T I TS Gl = 4 x 16 x18/5 = 230.4 T

ar 230.4 BT 28%= 64.512 ThaT

(I) ST ‘B’ GuART YehaR &I Td I TS G = 10/3x10.5418/5

= 126 i AT
dr 126 T 32% =45.36 fehall
ar ()> )
Q-76 Delhi station is 420 km away from Lucknow Station.
eng () How long will it take to reach train 'A' from Delhi to Lucknow on Monday?

(1) How long will the train 'B' take to reach Delhi from Lucknow on Tuesday?

01.
03.
05.

If (D) < (D) 02. 1f(1)> (1)
If (D) > D) 04. If (D<)
If (I) = (I) or no relationship can be

established between (I) and (II).

Q-76  Taoelt T s, weer & 420 T g2 8
hi () FTHATT &7 o A’ FT (Seelt § Tas: Toae # a1 99T aRET?
(II) FRTAT T 7 B’ T A@A3; & fawed T 9g=+ § =T a9 sRrm?

01.
03.
05.

7= (I) < (1) 02. =fe (1)> (M)
T (1) > (I1) 04. T (1)< (1)
7t (1) = (1) 3roraT (1) T (1) F S

T T A1 AT ST ahaT .

Solution for Question 76

eng (T) Speed of train ‘A’ on Monday = 19.2 m/sec = 69.12 Km/hr
Required time = 420/69.12 = 6.07 hours
(II) Speed of train ‘B’ on Tuesday = 9 m/sec = 32.4 km/hr

Required time = 420/32.4 = 12.96 hours

So II>1

hi (1) SR BT eF 'A Y I = 19.2 MeX/Ahs =69.12 Topall/ e

(Il) FITIAR Pl ¢ ‘B’ Fr a1fq = 9 dAex/Ads = 32.4 fopafi/ger

3TaTD AT = 420/69.12 =6.07 T

TITD JHAT = ‘ﬁ= 12.96 T

32.4

Hd: 1>l

Ans Key: 1

eng Passage

below.

5000
4900
4800
4700
4600
4500
4400
4300
4200
4100
4000
3900
3800
3700
3600
3500

Passage for Question 77, 78, 79, 80 (ST-129 CRP PO PRE (6-10) 2019)

In the bar chart information about monthly expenses (in Rs) of 3 persons on various things has been given. Study the data carefully and answer the questions given

Food Rent Education Medicals Savings
®Sudhir ®Ankur = Abhay




hi Passage
T AT § Tafere 72i 9% 3 ARRAT F ATEE @= (7 §) F I H AERET AT TS gl AR T ATAIET TLTTT F3 ¥ A= T30 T 751 o 3T S

5000
4900
4800
4700
4600
4500

4400
4300
4200
4100
4000
3900
3800
3700
3600
3500
s e e e T

Iw IW lm

Q-77 What is the respective ratio between the expenditure of Sudhir on food and the expenditure of Ankur on medicals?

eng

01 7:6 02. 84:85
03. 6:7 04. 85:84
05. Can’t be determined.

Q-77 AT 9 G F =@ ¥ it 07 ST F @ & At gatad dqurd #4471 82

01. 7:6 02. 84:85
03. 6:7 04. 85:84
05. fReia a5l BT ST aahar

Solution for Question 77 Ans Key: 3
eng Required ratio = 4200 : 4906:6 :7 | Vi B “
hi 3TARTH IHUTd =4200:4900=6:7
Q-78 What is the average expenditure of Ankur on education, rent and savings?
eng
01. Rs4366.67 02. Rs4466.78
03. Rs4565.87 04. Rs 4366.34
05. None of these
Q-78 v, e ofie F=r U SiT A7 ST @ FAT 82
hi
01. 4366.67 FT% 02. 4466.78 FT%
03. 4565.87 F0% 04. 4366.34 FT%
05. =i FATE A
Solution for Question 78 Ans Key: 1
eng Required average= (4750+4100+4250)/3= Rs 4366.67
hi 3P AT = (4750+4100+4250)/3= Rs 4366.67

Q-79 What is difference between the expenditure of Abhay on medicals and the expenditure of Sudhir on education?
eng

01. Rs250 02. Rs350
03. Rs200 04. Rs 150

05. None of these
Q-79  T=forceT u¥ st F =@ i fovear w7 qefiw F @ 7 v v 82
hi



01. 250% 02. 350%

03. 200% 04. 150%

05,z & A T
Solution for Question 79 Ans Key: 1
eng Required difference = 4750 — 4500 = Rs 250

hi

3MaTD 3T = 4750 — 4500 = Rs 250

Q-80 Total expenditure on rent by all the persons together is what percent of expenditure of Ankur on savings?

eng

01. 184.70% 02. 284.70%
03. 384.70% 04. 84.70%
05. None of these

Q-80 =t =feral T UF AT R ¥ |/ @A ST F F9d T G HT AT Taerd g2

hi
01. 184.70% 02. 284.70%
03. 384.70% 04. 84.70%
05. =% T IS AT
Solution for Question 80 Ans Key: 2

Required percentage
3750+4100+4250
T TR 100 = 284.70%

IS ufaera

= SO0, 100 _ 284.70%

Passage for Question 81, 82, 83, 84, 85 (ST-143 CRPPOPRE (11-15) 2019)
eng Passage

Read the information given in the passage and answer the given questions.

There are X' number of students in a college. Each of them likes either one or more of the following types of movies — Hollywood, Bollywood and Regional. The
ratio of male to female students is 9 : 7. 16% of the male students like only Hollywood movies 22% like only Bollywood movies. 12% like only Regional movies.
30% of the male students like only Hollywood and Bollywood movies. 10% like only Bollywood and Regional movies and 6% like only Regional and Hollywood
movies. The remaining 18 male students like all the given type of movies

14% of the female students like only Hollywood mevies, 20% like only Bollywood movies. 8% like only Regional movies 26% of the female students like only
Hollywood and Bollywood movies. 18% like only Bollywood and Regional movies and 10% like only Regional and Hollywood movies. The remaining female
students like all the given type of movies.

hi Passage
Ao Teaia FY &ATH 7 F TR U 5 7 AT TH FTITT -

T FiersT | X BTAT AT HAT | IAH | TAT G5 T 6T {herl #§ & UFH 77 UF § AT TH 67 [hed T@aT1 T84 AT ¢ - giAge, aArge e &=
TE ST AT ST T AT 9 2 7 €1 2T BT FT 16% FT FaA gIATGS (e THE gl 22% FT Fad Are19e (hed THE § | 12% FT Fae &= e
THE T | TE FTAT FT 30% FT Fa gieA e T arerge hed T6a &1 10% Fa ateige o7 &= fhed 762 8 o7 Fae &=t 37 giehige fhent 71
THET FA AT AT 6% & | AT 18 & AT T T TFTE AT Fhedt 783 g

14% ATZAT AT HT Fad ZIATGE Thed THE 7, 20% Tl Had AT Thed THE 8| 8%Fad & 1T {herl Fl THE & 26% WAl BTl &l Had giediqe
sﬁtaﬁ@ﬁg@ﬁfﬁﬂ;ﬁmg@aﬂaﬁﬁeﬁt%ﬁwﬁwﬁﬁls% T Fae & ST gictge fhent 1 10% AR 08 FdT g | 9 ’igeAT i &0
aeft g Y fhed TeE 2

Q-81 The number of students (both male and female) who like all the given types of movies is approximately what percent of the number of female students who
eng like only one of the given type of movies?

01. 12 02. 18

03. 32 04. 28

05. 21

Q-81 =t e Y Tohedl T T8 I ATl AT (THW ST FIGAT I T HEAT T I FIGAT FTAL 0T AT T T(A9AT & ST e & T8 TR T
hi el & & UF T 9T Fd 82



01. 12 02. 18

03. 32 04. 28
05. 21
Solution for Question 81 Ans Key: 5
eng Required Percent = 450> 4% +350x4% » 100 = 21%
350x42%
B arefie wiera = 450x4% +350x4% x 100 = 21%
350x42%

Q-82  Whatis the difference between the number of male students who like Bollywood movies and the number of female students who like the same?
eng

01. 69 02. 59
03. 63 04. 65
05. 57

Q-82  aichige Mhewl &1 THE FXd AT T2W ST 6l HEAT 37T Tral ol THE FL ATl HIgeAT ST #07 SEAT § 47 37a< g2
hi

01. 69 02. 59
03. 63 04. 65
05. 57
Solution for Question 82 Ans Key: 2
4% =18
Male Student = 100% = 450 Female Student = 450 x 7 =350
g
Male Student=450 Female Student=350
H H

[=-]
m

) (&
Al 8

R R
Required differnce = 450%66% - 350x68% = 297 - 238 = 59
4% =18
@Y & = 100% = 450 FAfger &1 = 450 x7=350
q
UTY BTA =450 AfeeT ©IF =350

m

s
&) (Ao

R
ar+fTE 3fa% = 450x66% - 350%68% = 297 - 238 = 59

Q-83 The number of male students who like only two of the given types of movies is what percent more than the number of female students who like only two of
eng the given types of movies?

01. 1 02. 1
M2 182
"5 7
03. 11 04. 1
7 85

05. 1

HH
Q-83  TRUITT YHT § & A a7 T AT Thewi &l THE e AT T2 BT 1 H&AT, I AGAT FIAL 0l §&AT § fohae Fiaerd e g, s frw
hi TRTLT § T Aol &1 THTC AT (hedl T T6E FIAT 52



01. 1 02. 1
L {62
s 7
03. 11 04. 1
2 g
05. 11
1B
Solution for Question 83 Ans Key: 3
eng Required Percent = e i
350 x54% 21
hi e afera = 450x45%—350x54%x100=gﬂ%
350 x54% 21
Q-84  Whatis the value of X' (mentioned in the passage)?
eng
01. 960 02. 800
03. 640 04. 720
05. 880
Q-84  (TEW # Sfeafaa) X' &1 9 #4732
hi
01. 960 02. 800
03. 640 04. 720
05. 880
Solution for Question 84 Ans Key: 2
Male + Female = 450 +350 = 800
TET + TG = 450 +350 = 800
Q-85 What is the ratio of the number of female students who like Hollywood movies to the number of male students who like the same?
01. 9:14 02. 3:4
03. 5:8 04. 5:6
05. 7:8
Q-85  zichigs Thewi &1 THE FXA ATl AT BT il GEAT, ST Iral (A | il THE FA ATl [T AT 01 G&AT T AT F FT 2 2
01. 9:14 02. 3:4
03. 5:8 04. 5:6
05. 7:8
Solution for Question 85 Ans Key: 2

cig

350x54% 450 x56% :

=3:4

hi

350x54% : 450 x56% :

=3:4

Passage for Question 86, 87, 88, 89, 90 (ST-2002CRPBCLMAINS(146-150M)2020)
eng Passage

Study the following line and table chart carefully and answer the questions based on it.
Table graph given below shows the population of different categories. Line graph given below shows the percentage of distribution of granted houses
for various category.

Years SC/ST OBC EWS
2014 44000 39000 12000
2015 75000 64000 21000
2016 63000 60000 12000
2017 70000 54000 16000
2018 70000 68000 20000
2018 78000 75000 45000

2014 2015 2016 2017 2018 2019

e SC/ST =#=0BC =de—EWS




hi Passage
frafafaa arsa @t 2aa 9 w1 LEF AeqqT T TS AMATTITTH ! F SN
#19 frar a1 29w arw At S0 €1 saaear w1 atar g1 A9 R arsT are Fivs aoft & frgfrgroad F Raorsrafraa
TerfaTgl
10 315
15 325 325 4 7
s ST S s
a SCIST 0BC EWS - % ns XX 5 = e
2014 44000 39000 12000 T— ’*:20 /\"\J’
2015 75000 | 64000 000 | [P T 7 S i '
2016 63000 60000 12000 5 STV 4 N o
2017 70000 54000 16000 10 — —— 1S
2018 70000 68000 20000 5
2019 73000 75000 45000 0
2014 2015 2016 2017 2018 2019
=w=SC/ST =4=0BC =4—EWS
Q-86 What is the difference between the number of granted houses for OBC category and granted houses for EWS category together in the year 2017 and the

number of granted houses for SC/ST category in the same year?

01. 10875 02. 15745
03. 14530 04. 31650
05. None of these

Q-86 2017 % OBC HH&E™ T EWS HHETT FI [HeAT ATl T AT AT a7 36T a9 SC/ST THETH &l (HAH ATl STATHI 1 €T & HeT a< A1
#Frform?
01. 10875 02. 15745
03. 14530 04. 31650
05. =H q HIE T2T
Solution for Question 86 Ans Key: 1
= (75000 x 20% + 45000 x 7.5%) — (78000 x 37.5%)
= (15000 + 3375) — (29250)
= 18375=29250 = 10875
= (75000 % 20% + 45000 x 7.5%) — (78000 x 37.5%)
= (15000 + 3375) — (29250)
= 18375 —-29250 = 10875
Q-87 The number of granted houses for SC/ST category in the year 2017 was what percent to the SC/ST not granted house in the same year?
eng
01. 45% 02. 29%
03. 30.5% 04. 255%
05. None of these
Q-87 2017 ® SC/ST wHETH &1 et strame, THT FHaTT 7 36T a9 7 fHeq= arer swaret i wwear F7 fhaar gfaerd ar?
hi
01. 45% 02. 29%
03. 30.5% 04. 255%
05. =z & A T
Solution for Question 87 Ans Key: 2
en 75 22.5%
& 73000%22.3% 100 =29.03% ~ 29%
75000 77.5%
hi 75 22.5%
73000x22.5% 100 =29.03%  29%
7500077 5%
Q-88 What was the approximate average of granted houses for SC/ST category, granted houses for OBC category and granted houses for EWS category in

eng

2016?



01. 12683 02. 12795

03. 11825 04. 12843
05. 12787
Q-88 2016 ® SC/ST ATl THET &l e 3aTE, OBC AT HHATT 1 THel Sramd T EWS aTel S9ET &l {He STaTe T @ Siad 9T #4782
hi
01. 12683 02. 12795
03. 11825 04. 12843
05. 12787
Solution for Question 88 Ans Key: 3
eng 6300032 5% +60000=20%+12000x=25%
3
_ 20475 +12000+3000
3
35475
E
=11825
hi 63000 32.5% +60000x20%+12000x=25%
20475 +12000+3000
Q-89 What is the percent of non-granted houses of OBC category in 2014 to non-granted houses of SC/ST category in 20177
01. 60% 02. 55%
03. 70% 04. 85%
05. None of these
Q-89 2017 % A" 7 fHa aTer SC/ST HHETE FT w1 qraerd 2014 ¥ &t 7 e arer OBC FHATT F avas 82
01. 60% 02. 55%
03. 70% 04. 85%
05. i & Fr 7
Solution for Question 89 Ans Key: 1
% of non-infected women = 100 — 30 = 70%
% of non-infected men = 100 — 35 = 65%
Required% = 39000 70% %100 = 60%
70000%63%
hi HTETE 7 e aret OBC 8HE™ 1 % = 100 — 30 = 70%
T 7 e amel SC/ST |HE™ T %= 100 — 35 = 65%
700,
% = mxmg: 60%
70000 65%
Q-90 What was the ratio of the granted houses for OBC category in the 2016 to the granted houses for SC/ST category in the year 2018?
eng
01. 6:7 02. 21:65
03. 15:73 04. 48:77
05. None of these
Q-90 2016 H OBC HHETT T4T 2018 H SC/ST THETH Tl fHA Tl SaTHT it HEAT % He ST AT HIo0?
hi
01. 6:7 02. 21:65
03. 15:73 04. 48:77
05,z i TS T
Solution for Question 90 Ans Key: 4




eng 60000:20% _ 48
7000027 5% 77

hi 60000%20% _ 48
70000%27.5% 77

Passage for Question 91, 92, 93, 94, 95 (ST-2083CRPBCLMAINS(1-5R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

There are sixteen people G, H, 1, J, K, L, M, N, Akansha, Babita, Cheena, Diksha, Eshan, Farhan, Gopal and Piyush. Some of them namely G, H, I, J, K,L,M
and N are sitting around a square table and rest namely - Akansha, Babita, Cheena, Diksha, Eshan, Farhan, Gopal and Piyush are sitting in a straight line (which is
horizontally dividing the square into two equal parts but these people are inside the square) equidistant from each other (but not necessary in the same order).

In the square, four people sit in the middle of each of the four sides and the rest at four corners of the table. The ones who sit at the four corners face inner while
those who sit in the middle of the sides face outside. In the straight line, some of them are facing north while some are facing south. (Note: Facing the same direction
means if one is facing north then the other is also facing north and if one is facing south then the other is also facing south. Facing the opposite directions means if one;
is facing north then the other is facing south and vice versa.)

Farhan sits third to the right of Akansha. Farhan sits at one of the extreme ends. I sits fourth to the right of his wife and his wife is not an immediate neighbour of G
or M. Eshan sits third to the left of Akansha. Both the immediate neighbours of Cheena face north.

G sits second to the left of M, who sits in the middle of one of the sides. Gopal is not an immediate neighbour of Akansha. In the square, two females sit in the
middle of the sides and two at the corners. In the row, the persons sitting at the extreme ends face the same direction.

Both the immediate neighbours of Akansha face the direction opposite that of Farhan. H sits third to the right of her husband and does not sit at any of the corners.
Babita sits exactly between Cheena and Farhan. Not more than four persons are facing north.

Only J sits between H and N. N is the husband of G. K is a male. Both the immediate neighbours of Piyush face opposite directions. Diksha is one of the immediate
neighbours of Eshan and is facing north.

hi Passage

et TasTd £ 1 sa\ga T stegaT w AT frwrr I F s

A AR G, H, 1, J, K, L, M, N, SThiIT, FtaT, =T, EXear, 9T, Fg T, TITe i T 81 399 & Fg M1 G, H, 1, J, K, L, M $iiT N TF a1 3
F AT AT AS 8 ST AT ITAT - ST, FATTT, ST, FTEAT, TATH, FLRT, T 37T T HefT T (ST TSt &9 F a7 il &7 G911 TR0 § ot
FIAT g AT T FRT A F 397 3) UH-FEL F G T T 95 g(AThe THT 08 H g1 TZ AF9TF Al

I H, AT AN TeAF AT ST130 6 o1 H 95 & ol ST FATL HSA o6 AT DI T2 A5 | T8 S AT HIAT I A5 g o T T 37 & Fleh AT S ST %
T § S 8 F ATET 0 A 39 T 5| Hreft 1T |, /g I 0 AT Ao g, A0 0T AT 38 Tg gl (F1e: 0 fRem #1995 8 fF afz uw s fraie g
T ZHLT AT I AT ST R AT AT T FRA07 ¥ MY & T ZALT AT IFRA07 30T AT 2| FAara Foer a7 1ol € I Uah 392 67 < g a1 gaer aferor iy
AT ZAT 3T =8k AT

FIETH, SATHTIT AT TTC AT FBT g1 FLgT U s SE 9% 937 g1 1, FTT Tl T 3 70 3747 I3 § 37T 3T Tt G AT M T T TSIET Aal gl S9TT,
SRTEAT F AT ST 427 21 =T AT TSET 39 T AT 3@ T 2

G, M % a0 THT IT &, ST [T qIT & Hed H ST 21 TOTe, SHTET FT Tod T Tel gl a9 |, &7 AU qoITsh % 7ed H T a7 FAl 92 937 81 4i<h
T, 3faw Fe U< 9% =ik 99 e # 39 w2 2

RTITT F TAT [Iehaadt T IET TR & (Ui [S9T § 3@ T 21 H 30+ Ifa 3 270 19T 957 § &7 et ot s o= 921 930 aeiiar, ST =11 i<
TR & a9 § 957 gl FE I ATAF =< ST T AT Al 2@ 12 2

H 3% N & &1 #ae ] 931 g1 N, G F7 9T g1 K, T=7 8| T30 % T[T Aehead! q2rEt o femstt #§ 3@ v 81 €1, S99 % Jenrel T2Iaal § 9 UF g
T I AT AT TG T2l 2

L
Q-91 What is the position of K with respect to I and who among the following sits fourth to the right of Cheena?
eng

01. Immediately to the left, Gopal 02. Second to the left, Babita
03. Third to the right, Akansha 04. Second to the right, Eshan

05. None of these
Q-91 1% Fwa # K FT #19 F47 § 3T MATIEd § H FF 967 5 a4 § 9% S 9 I57 52

hi
01. 3T AT, T 02. a7 gET, FEtar
03. =TT e, ArHRie 04. =TT T, T
05,z i v Y
Solution for Question 91 Ans Key: 4
eng
M (m)

| (m) T L (f)

Diksha Gopal Akansha Babita
[l s .

G ()<t

. L L]
Eshan Pivush Cheena Farhanl

> H (f)



K (m) ¥ J(f)
N (m)
N(#) = G(-)
I+ =10)
K =H()
M(+) = L(-)
B M (m)

() T L (7

N#) =G()
I(H)=1¢)
K(+) =H(-)

M(+) = L(-)

Q-92 Who among the following is the wife of I and how many persons are sitting between Babita and Piyush?

01. J, Two
03. H, One

05. Cannot be determined

02. L, Four
04. M, Three

Q-92 fAwforfad ® & 1 [ 1 9t § 7 afeqr sz gy  @i= fhaw A 45 82

01. J =7 02. [ =<
03. H, U= 04. M, T
05. YT T2 3T ST #FalT
Solution for Question 92 Ans Key: 1
eng M (]TI}
(M) g1 L ()
Dikfha Gopal A'k?nsha Ela!:.'rla . H
G {f) - Estn : Piy:ush Cha‘ana Farhan o {f)
K (m) 3 J(f)
N (m)
N() =G(-)
I(+)=1()
K(+)=H(-)

M(+) =L(-)




K (m) ¥ J(f)

N(#) =G()
1) =J¢)
K(+) = H(-)

M(+) =L(-)

Q-93

eng

Q-93

hi

‘Who amongst the following is H's husband and who sits third to the left of Gopal?

01. T, Diksha 02. K, Cheena
03. M, Akansha 04. T, Babita

05. Cannot be determined

e 5 & #19 H a7 9td 8 3 #0997 3 970 S 19T 957 22

01. 1, e 02. K, =T

03. M, 3TeRTaT 04. L, Feftar

05. ferertfa =2t o ST |era

Solution for Question 93 Ans Key: 2
M (m)
| (m) T L (f)
Diksha Gopal Akansha Babita
G (e >R (D)
K (m) ¥ J (f)
N (m)
N() = G(-)
I =10
K(*) =H()
M(+) =L(-)
i M (m)

Al fwmad



I Ly

N(#) =G(-)
1) =J¢)
K(*) =H(-)

M(+) =L(-)

Q-94  Which of the following is true with respect to the given seating arrangement?
eng

01. No two males are immediate neighbours of 02. M and N are diagonally opposite to each other in the seating arrangement.

each other.

03. K and J are immediate neighbours of each 04. L is a male and sits diagonally opposite to K.
other.

05. G sits in the middle of one of the sides of the
square table.

Q-94 3% FFEAT F Had # HuftEd § ¥ F-ar 95t 82

01. =< off 37 (2T UF-OL % TSR A2t 81 02. S HaeqT § M 3T N UH-gaY & fasoiad faoda a2 g
03. K 3ff7 J UF ga¥ & ey 9= gl 04. LUF T=T g ¥ K F fasoiaq oo ae1 81

05. G =TTshTe 9St o fohefl 0o 9qoiT o wed |
ECIEL

Solution for Question 94 Ans Key: 5
M (m)
/T\
I (m) ~ — L ()
G (et———————+t>H(
K (m) ¥ J ()
N (m)
N(+) =G(-)
1(+) = J(-)
K() =H(-)
M(+) =L(-)
i M (m)

() e——T——L ()

G (f) —H—+—+—+—+++H>H(f)

K (m) ¥ J(f)

N(#) =G(-)
1) =J6)

K(*) =H(-)



M(+) =L(-)

Q-95 How many people sit between H and I when counted in an anti-clockwise direction from H in the square and which of the following pairs are the immediate
eng neighbours of Eshan in the row?

01. None, Farhan and Diksha 02. One, Diksha and Piyush
03. Two, Diksha and Gopal 04. Three, Diksha and Akansha

05. None of these
Q-95 FTHHIFIWET @A # [ ST 9% H #1713 77 ey =A<h 92 2 oY Mefriad § & #19 & e 4fF § 2919 & Wehead T2 82

01. =T T, FLa™ f¥ aram 02. we, <reaT 3T gy
03. =T, EreqT 3T MaTer 04. e, Sy T ATHRTAT
05. =% T *rE T
Solution for Question 95 Ans Key: 3
eng M (m}
T
(M) L (1)
G (<1 : >H (f
K (m) l J(f)
N (m)
N(+) = G(-)
I(H)=1(-)
K(+)=H(-)
M(+) = L(-)
M (m)
| (m) 0 Iy —L ()
|
G {r", - - > l_i 'If

N#) =G(-)
() =J¢)
K(*+) =H(-)

M(+) =L(-)

Passage for Question 96, 97, 98, 99 (ST-2083CRPBCLMAINS(11-14R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

In a certain code language,

“Chennai Jal Sankat” is coded as “7121, 6T102, 3L.30”.
“Hawa Cyclone Kolkata” is coded as “4A32, 7E21, 7TA77”.
“Safe Your Life” is coded as “4E76, 4R100, 4E48”.




hi Passage

T At e W A,

“Use Mask Polluted Air” is coded as “3E63, 3R3, 4K52, 8D128”.

rafafag STasTd F 1 sa@ga T AeqIT FL AT Frw g a3t & IqTRN

"Chennai Jal Sankat" &Y “7121, 6T102, 3L30” FI1fea frar mam 3

“Hawa Cyclone Kolkata” FT “4A32, 7E21, 7A77” &itea Tt a1 81

“Safe your Life” is coded FT “4E76, 4R100, 4E48” Fhrf=a fam 741 21

“Use Mask Polluted Air” FT “3E63, 3R3, 4K52, 8D128” FIfd T AT 2

Q-96  What will be the code for “PRAYER” according to the above code language?

eng

01. 6R96
03. 6R45
05. 6R50

02. 6N48
04. 6N43

Q-96  SUIIH T AT & ATE “PRAYER" % forT & #74T ER 12

01. 6R96

03. 6R45

05. 6R50
Solution for Question 96

Chennai
7 %X 3 =21
C =@

I. Number of letter.
II.Last letter of word.

[11. Multiply of first letter's place value and total number of the letter of the word.

Chennai

-
<

7% 3 =21

N

02. 6N48
04. 6N43
=721
Ica aCe value ( rst letter of the e

=71 21

C =(9r== ¥ uz< 383 =1 auiispei#es Feusl )

L G 1T HEdT

IL. §T58 FT FTAH T8
TI1. 53 F TEA AT H TATHAIT AT o THAT F AT HT TITI

Ans Key: 1

Q-97

eng

What will be the code language for “Router’?

01. 6R100 02. 6W100
03. 6D20 04. 6D15
05. 6R108

“Router” 3 o 7T Fire 99T ERAT?

01. 6R100 02. 6W100
03. 6D20 04. 6D15
05. 6R108

Solution for Question 97

Ans Key: 5




eng

Chennai=7121

7xX3=21

N2

C =(alphabetical place value of the first letter of the word)

I. Number of letter.
II.Last letter of word.
1II. Multiply of first letter's place value and total number of the letter of the word.

Chennai=7l21
7 x 3 =21

C =(oree ¥ 4z 3ueiZ o1 aviieriFas Femet )

L ST #7 H&4T
I1. 153 F7T s faw &<
TI1. 753 F TgA AAT H SATAIT AT A TAALT % G&AT HT UTI

Q-98 What will be the code language for Aircraft?

01. 8T100 02. 8T8S
03. 8T8 04. 8T97
05. 8Y38

Q-98  Aircraft % for 47 FrE FETT?

01. 8T100 02. 8TSS
03. 8T8 04. 8T97
05. 8Y38

Solution for Question 98

Chennai=7l21

7 X 321
N2

I. Number of letter.
II.Last letter of word.
III. Multiply of first letter's place value and total number of the letter of the word.

Ans Key: 3

Chennai=7121
7% 3 =21

N2

C =(or=e ¥ 4zl 3ueis 1 aviieprias Jenet )

L &< 911 G &7
I1. 53 /7T # 7 sty .
II1. 5% % T8 T&AT F TATATT ATT ST T&HN F AT HTIIT

Q-99 What will be the code language for Nanital?
eng

01. 70100 02. 7589
03. 7098 04. 8L.89



05. 7A98
Q-99  Nanital ¥ T =T Fre FrAM?

01. 7L100 02. 7S89
03. 7098 04. 8189
05. 7A98
Solution for Question 99 Ans Key: 3

eng

Chennai=7121
7xX3=21

N2

C =(alphabetical place value of the first letter of the word)

I. Number of letter.
I1.Last letter of word.
III. Multiply of first letter's place value and total number of the letter of the word.

. Chennai=7121

7 X 3 =21

N2

C (915 A5 UZcl 3817 51 aullaRridias Feada

L &) T G &I
1L 53 7 & R srerq .
I11. S5 F TgA HAL F TATATT ATT AT AALN F & &FT HT LTI

Passage for Question 100, 101, 102, 103, 104 (ST-2083CRPBCLMAINS(6-10R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

There are two circles- outer circle and inner circle. Eight people J, K, L, M, N, O, P and Q are sitting around an outer circular, facing the centre, not necessarily in
the same order and another eight people A, B, C, D, E, F, G and H are sitting around an inner circular area at equal distances between each other, but not
necessarily in the same order, some people of inner circle are facing towards the centre, while some faces outside (i.e. in a direction opposite to the center). The
inner circle is inside the outer circle.

A faces the same directions as B (i.e. If A faces the centre B also faces the centre and vice-versa). B sits third to the left of H. H faces the centre. F sits second to
the right of B. O is sitting third to the right of M. There is only one person sitting between M and J. E sits second to left of D. D is neither an immediate neighbour of
B nor H. Both the immediate neighbours of C face outside. There are only three people between J and K. P is an immediate neighbour of J. There are only three
people between P and L. N is second to the right of P. A is not an immediate neighbour of H. Immediate neighbours of A face opposite directions (Opposite
directions means if one neighbour faces the centre then the other faces outside and vice-versa). Both the immediate neighbours of D face the same direction as F
(i.e. if F faces the centre then both the immediate neighbours of D also face the centre and vice-versa).

hi Passage
rafafad STasTd F 1 saMga T AsqIT FL AT FEw g a3t F IATRN

Z - I I ¥ ATRF I g1 35 0 J, K, L, M, N, O, P 3% Q T FTg[ I % =TI AT 55 &, F3 1 AT I TE &, T A} (o THT &1 7 A 2T
T 57T A3 AT A, B, C, D, E, F, G 31T H UF-gEY % a1 TH g3 I¥ U A g7 % AT AT 95 8, AR Tl 7gl % 6T g1 77 H gI, siafh
T F FG AN HF 0l AT, T [ 17 & AT (AT D% 6 [@AqL0q Ua Q90T H) 39 T2 g1 A 9, a1 I % L 8l

A, B Y TaT fRom # 3w 5T & (A AT AR fT AT 3w @r & ar B f 3 ¥ 37 3@ oY zeek i) B, H F 90 19wy a2 81 Haw fY e aw
72T 81 F, B TM0 AT I3T g1 O, M F T TEL T 92 937 81 M 3T J F &1 Fael Uah ATk 927 81 E, D % a70 a1 93T g D, Tl B T &1 H 7 g
TERET 81 C F TT Ashead T2THT dvx F I8 AT ¥ 3@ T 81 J 3T K F 1 Fael o9 o067 21 P, JFT q&ed TS g1 P 3T L% = Faa T AR I N,
P 270 TALT 81 A, H &1 3 T=THT 721 g1 A% fAeheaw a2t faadia fremsti # 3 v & (Rroda frermsit &1 onf 8 5 7f% v w2t 35 v e 3w 77
& AN TATHZ o A8 SET i 37+ fudia)| D F 1 et T2 F % A7 3o § 39 ¥ § (3747q IS F &3 &1 A< 79 TgT g af D F 1 TS0
ot #5777 T AT

Q-100 IfEisin front of Q and K is in front of D then in the same manner who is in front of F?
eng

01. M 02. p
03. N 04. O



05. L
Q-100 =fTE, Q¥ & g 3T K, D ATHA &, AT THT THTY F F HHA F14 g2

hi
01. M 02. p
03. N 04. O
05. L
Solution for Question 100 Ans Key: 3
eng Q
®
P 0
o\ | ®»
i
L e
J . Aw . p— . I{
Fm 1 [ <)
. -
/ H
™
& ®
®
®
& il
- " L
. A o-- . b
v @ ®
g

Q-101 Who s third to the right of M and who is third to the left of F?

eng
01. PE 02. K, B
03. L.J 04. O,D
05. Q,G

Q-101 M ¥ 8T i< F % ard faT i g2

hi
01. P.E 02. K,B
03. L,J 04. O,D
05. Q,G

Solution for Question 101 Ans Key: 4

en

& Q
P ® ‘ ® 0



At
] @ i . — @K
F.;. 1 .;E
i_
H

N [ ®
@ '
M
hi
Q
‘o | o’
e
B - .
| @— \ @«
< L
n @ ®
L
M
Q-102  Which of the following is true regarding the given arrangement of the outer circle?
01. M is an immediate neighbour of K. 02. N is an immediate neighbour of J.
03. P is second to the left of O. 04. There are four people between N and O.
05. None is true
Q-102 FTELT I HI AT TS AGEAT & HaH # [Fuferrad § F F9-97 Jg1 82

01. M, K & qZ= TETET 2 02. N’Jq,—rwqg‘-]—gﬁ%'
03. P,O % a0 THT 2 04. N 3T O % &1 =¥ AT 2|

05. FEfiaT gl g

Solution for Question 102

Ans Key: 2

eng Q
p g o
& l ®
e S
o ol
J.-_- a..---.- o "_.K
Ph | s
/ k
Ny
L]
N [ .L
[ ]
M
hi



- 1
1 ®— ! .. — @K
D
Fa 1 llﬁ
H

=0

Q-103 Who is sitting second to the left of the one who is sitting second to the left of Q in the outer circle and who is third to the right of the one who is sitting third
eng to the right of D in the inner circle?

01. M,E 02. K,D
03. N, A 04. L C
05. J,G

Q-103 SR FTH Q F AT THY T UT IS K F FT0 AT 37T AT g7 § D F I3 A9 T 9T 55 AR F TTH 16T I 957 82

01. M.E 02. K,D
03. N, A 04. L,C
05. J.G
Solution for Question 103 Ans Key: 1
Q

N [ :
®
M
B Q
P g 0
& l ®
5 /
] @ — ““' hi.c?., — @ K
P
My
&
N [ .L



M

Q-104  Four of the following five are alike in a certain way based on their seating positions in the above arrangement and so form a group. Which is the one that
eng does not belong to the group (If M is front of H)?

01. JF 02. QD
03. IE 04. OE
05. PB

Q-104 ST HFEAT H 9% dod T RAfq F sra w2 Feforteg ot § § = vs RfEa 7% 8 uF a9 ¢ &7 Sqfor uF a9g aad 81 98 #1498
hi ST T & gafed 991 § (AT M, H F 919 )2

01. JF 02. QD
03. LE 04. OE
05. PB
Solution for Question 104 Ans Key: 5
eng Q
®
L [ ]
® { \ ®
[
® ®
©
llfl.‘
®
& L
i
B W
J . Aw ..D - pa— . I{
Fm 1 &G
L
H

|
®
M

Passage for Question 105, 106, 107 (ST-2083CRPBCLMAINS(15-17R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

Tamnna started from point A and traveled towards north for 26 km to reach point D. After reaching point D she turned towards her left and travelled for 12 km to
reach point K. From point K, she travelled 10 km towards south direction and reached point E. Tamanna travels 16 km towards north from point K and reaches
point J. Point Q is to the South-west of point J and 20 km away from D. From point E, she travelled 10 km towards west then she took a right turn and travelled
10 km to reach point S.




hi Passage

= forT 10 et T = A

afafaa TTastd &1 samgd® sregaa L A= fFRrgagwai w13

THAT g A | & FAT ¢ T 65 D T Tg= o o1 Ia¢ &t T 26 T =11 &g D 9% Tg= & a18 g 7 470 g1 3% {65 K T 949+ % o7 12
et 7 7= ) fog K&, 39w feror fer & sie 10 Bt &1 7 oiie fég E 9 ag=h q@er 7 {65 K & 39 67 7 16 T £ 7 i ar ag &g )
o wg=dt g1 &g Q, &g J & aferor-ufary & 2 oie D & 20 et g 21 foig E & S| afsm Y &re 10 et Y == 7 ofiw fir a0 qe+w by S 9% ag=

Q-105 What is the distance between S and Q?
eng

01. 3km

03. 5km

05. 4km
Q-105 S %7 Q¥ d=r fr g 7T 22
hi

01. 3 ey

03. 5 Y

05. 4 f=Ffy

Solution for Question 105

Q-106 What s the total distance covered by Tamanna?

eng

01. 82km
03. 92km

05. 60 km
Q-106 THST 5T T #T TS FHoT T Fhait 22
hi

01. 82 feft
03. 92 ey
05. 60 feft
Solution for Question 106
eng J
16
s (=" 8 o 12

10 10
10

P

02.
04.

02.
04.

02.
04.

02.
04.

8 km
2km

8 et
2 BfY

Ans Key: 4

95 km
75 km

95 faret
75 foret

Ans Key: 3



hi J
16
s Q 8 K 12 o
10 10
10
E 26

Q-107 What is the minimum distance between Q and E?

eng
01. 12.81 km 02. 14.23 km
03. 17.13km 04. 20.12 km
05. 9.8 km
Q-107 Q¥ EF &= =aw g1 #1282
hi
01. 12.81 ffy 02. 1423 ffy
03. 17.13 foreft 04. 20.12 foeT
05. 9.8 forelT
Solution for Question 107 Ans Key: 1
E
E

Passage for Question 108, 109, 110, 111, 112 (ST-2083CRPBCLMAINS(31-35R)2019)
eng Passage

Study the following information carefully and answer the questions.

Seven masters — Qamar, Laxman, Elsa, Imran, Ziya, Alia and Kajol take the class on four days - Monday, Tuesday, Wednesday and Thursday in the same week.
At least one master but not more than two masters take the class on each of these days. Each of them teaches a different subject - English, Hindi, Maths, Science,
Computer, Sanskrit and Arts but not necessarily in the same order.

Imran takes the class on Wednesday with the one who teaches Sanskrit. The one who teaches Maths does not take the class on Thursday and nor does he take the
class along with Ziya and Kajol. Alia teaches Arts and takes the class alone on Monday. Laxman takes the class on Tuesday and he does not teach Maths. Elsa
takes the class on Tuesday. Kajol does not teach Sanskrit. The one who teaches Maths takes the class with the one who teaches English. The one who teaches
Science takes the class on Wednesday. Qamar is neither a Computer nor a Sanskrit master.

hi Passage
At e st ST eamgd® AeqTT HL ATTHT F SALSN

AT ALATIF- FHL, AEH, T, THE, T2, e i Frsire UF g7 90718 § 912 37 - HHar, #Wear, Faam i (@1 S F99 oFd 81 39 &bt 3
T T o 7 | UF STEATTF FATH AT & AT &1 o STTAF STEATTFR FATH Tl ofd 3| ITH F Tesh Ao - o - i¥stt, fZ, srivra, s,
FOLET, TET SfT¥ FAT [T § AT THT F0 H g1 STl i

THYIA FLATT T HEHT TETH AT 5 T FATE AdT g1 g ST T 21T g 98 TEATE T FATH Agl ofdT g T T ¥ a8 AT i HTsiier & e e v
21 ATTeraT FeAT Ty € ST JIHaTE o 3Tehel FTe <7 gl ALHIT T 1 FI IdT § AT g T gt I81d7 &) ToaT HAAaTE il FATH ot gl




FTST HERd A2l (ATt &1 98 ST 10T G211 & 98 SIS qgT aTel % @1 FATH AT g1 T TZ T ATeAT AT FT FATH AT g1 FHE T AT FL2T AT A

E1 HERA T AATTH B

Q-108 Ina certain manner, Laxman is related to Maths and Imran is related to Sanskrit then, in the same manner, Kajol is related to which of the following?

eng

01. Arts
03. English
05. None of these

Q-108 v fAfera a8F &, T T Hefer A F § ¥ THA F7 Haey FEHT F 2, AT IHT A0 FHIoer b7 "arey (wfortea & & e 32

02. Science

04. Hindi

hi
01. =eT 02. fasm=
03. SRfT 04. &
05. =i F AT A
Solution for Question 108 Ans Key: 4
eng Day Master Subject
Monday Alia Arts
Tuesday Laxman English
Elsa Maths
Wednesday Imran Science
Ziya S ans kit |
Thursday Kajol Computer
Qamar Hindi
wHER | anfem Far
AR FEHT ST
T aifora
AR | WA e
L RELS FIATH FYH
FR | R& |
Q-109 Who teaches Maths?
01. Imran 02. Alia
03. Elsa 04. Ziya
05. Kajol
Q-109  TOTT FIe TETaT 82
01. =& 02. srferT
03. TeAT 04. ST
05. FrsTrer
Solution for Question 109 Ans Key: 3
eng Day Master Subject
Monday Alia Arts
Tuesday Laxman English
Elsa Maths
Wednesday Imran Science
Ziya S anskrit
Thursday Kajol Computer
Qamar Hindi
hi R e ey
HER amferam o
LUEE HEATT FHastr
TEHT afor
qUaR A s
o fiis 1l
MFAR FTATT FTOET




i | ==

| =&

Q-110 Four of the following five are alike in a certain way and so form a group. Which one of the following does not belong to that group?

eng
01. Tmran 02. Laxman
03. Elsa 04. Ziya
05. Alia
Q-110 FwfafEd af= | & A7 UF [T aa 8 UF 59 8 S S0 UF q4E a9 | [Hetarad § 9 Fid 97 36 94 9 9aidq Tgl 8?2
hi
01. =zAT= 02. e
03. AT 04. ST
05. srferaT
Solution for Question 110 Ans Key: 5
eng Day Master Subject
Monday Alia Arts
Tuesday Laxman English
Elsa Maths
. Wednesday Imran Science
| | Ziya | S ans krit |
| Thursday K:{it_a[ | Cum!r:dvr |
Qamar Hindi
[ e FEATTH o
AAER Encey FaT
HITela AEHOT i)
ToHT aifvra
IR =AY A=
B | wopd
FAT el
Q-111  English is taught on which day?
01. Monday 02. Tuesday
03. Wednesday 04. Friday
05. None of these
Q-111 = & ST e v 82
01. Hra™ 02. HrTaTT
03. ECEIRS 04. RICTIES
05. =H q FIS 751
Solution for Question 111 Ans Key: 2
eng Day Master Subject
Monday Alia Arts
Tuesday Laxman English
Elsa Maths
Wednesday Imran Science
Ziva S anskrit
Thursday Kajol Computer
Qamar Hindi
hi = AT T
AR anferar Far
oo HEAT tarstr
TEAT afore
AR A frsmr
o ikl
FH L5l




Q-112  Who is the master of Computer?

eng

01. Imran
03. Elsa
05. Kajol

Q-112  FTIT HT ALATTE FI 22

hi

02. Laxman

04. Ziya

02. T
04. ST

Ans Key: 5

eng

01. =HT=
03. T T
05. =TSfrer
Solution for Question 112
Day Master Subject
Monday Alia Arts
Tuesday Laxman English
Elsa Maths
Wednesday Imran Science
Ziva S anskrit
Thursday Kajol Computer
Qamar Hindi
&= AT o
AHER anferar Far
AqTHaR HEATT ST
T aifore
EEL AN CEG
T E
TFAR FTire FET
FAT fEdy

Passage for Question 113, 114, 115, 116, 117 (ST-2083CRPBCLMAINS(36-40R)2019)

eng Passage

Study the following information carefully and answer the questions.

Eight friends Ziya, Yash, Chetan, Das, Varun, Faizal, Tarun and Sahil are sitting in two parallel benches containing four friends in each. Yash, Das, Faizal and Sahil
are sitting in bench -I facing North and Ziya, Chetan, Varun and Tarun are sitting in bench -2 facing South (but not necessarily in the same order). Thus, each friend

sitting in bench -I faces another friend sitting in bench -2. Each of the persons lives on different floors of a building .i.e. floor 1 to 8.

Yash lives on 4th floor and the friend who lives on the 1st floor is not the neighbour of Tarun in the bench. Sahil sits to the opposite of the friend who sits to the

immediate right of the friend who lives on 2nd floor. The friend who lives on 3rd floor sits exactly between Das and the friend who lives on 8th floor. Tarun lives on
even prime numbered floor. Chetan lives neither on 1st floor nor on 5th floor. Tarun sits opposite to Faizal, who lives on the 8th floor. Varun sits between Ziya and
Tarun. Das sits at the left end of the bench and lives on 6th floor.

hi Passage

et TITaFTd F1AMIEF Ae77T HFL AT F ITCL|

T3 Foe o1, rer, =ae, T, F20, HeTd, T80T Y AIee &1 G9Tiae a=1 8 95 §, ToI® a9 9 A1 T3 81 T97, T, ol 37T Aqiied a4-1 § 30 0
AT TG g FS & AT ST, <A, a7 Sii¥ T&07 o -2 H 207 67 37T T@d g0 9% 8 (AT 361 %7 | gl ST=1 7gh)| T TFIY, d9-1 § I37 T 71
-2 | 95 AL [0 HT 39 2T | TAF (9 T THILA & (A9 aat 1 § § 9% T2ar 2

9T AT HISTe 9 TgaT & i ag 7 ST g #i5re U YAt €, 98 99 § TE7 1 UL A9l ¢l Aiied 39 HA F fAadd 927 8 S 39 7 F e ave
F3T ST FHLT 6T % Tt gl a8 {0 S et wiSrer 9% w5t 8, 98 a1 o S59 A % Sy 8 A wivrer uv Tgar & % Stw it § 21 81 aew '

AT HEAT WISl U2 TZdT 81 A+ 7 T Tgelt Hiorer 92 i< T & 5 &1 Wt 9% TgaT g1 T80 bie o 3o 931 ¢, S 8 &1 wivrer 9% ¥gar gl 7% o
T qE F A 2T | T 59 F 970 GIT I AT & 3T 641 Hiorer T2 72T 8|

Q-113  Who among the following sits to the immediate left of the friend who lives on 2nd floor?

eng

Q-113  fA=foriad @ & F19 37 9= % T a10 937 ¢ ST gAY Hivre 92 Tgar a?

hi

01. Yash
03. Vamun
05. Faizal

02. Chetan
04. Ziya



01. 191 02. 3a

03. F=ur 04. ST
05. &STer
Solution for Question 113 Ans Key: 2
eng Floor Friend
8 Faizal
T Chetan Beischy- I
5 Dis Fatlng Southl Ziya | Varun | Tarun |Chetan
b Varun
" Yash Fafii:;ilu;t:mT Das | Sahil | Faizal | Yash
3 Sahil
2 Tarun
1 Ziya
& aw o
8 e
! e .1
6 - R | B | awor | @wor | daw
5 g
il ke | T |ofgw | beter | T
afee TTRA AR
T
foram

Q-114  Who is/are the immediate neighbours of the friend who is sitting opposite to Sahil?
eng

01. Tarun, Chetan 02. Ziya, Tarun
03. Varun, Chetan 04. Das, Faizal
05. None of these

Q-114 =¥ 7 F qova TS 19 /2 S |rfer & faadia S=1 82

hi

01. F=or, =@ 02. S, T
03. F&ur, waq 04. =T, FST
05. =% F#IS AT
Solution for Question 114 Ans Key: 2
eng Floor i Friend |
Bench -1l ) )
6 Das Facing Southl Liya Varun | larun [Lhetan
5 Varun
4 Yash . I‘::en-::n ;tll-. » | Das | Sahil | Faizal | Yash
3 Sahil s sl
2 Tarun
1 Ziya
hi aw o
8 thaw
! il o
o | @ | @%or | daw
b il IO AT |
5 THor
a0
. il g |afeer| e | Tor
3 AR e $rar |
2 s
1 o

Q-115  Which of the following represents the friends sitting at extreme ends of both the benches?
eng



Q-115 fwforfea & & & a1 a=1 * sifaw et 72 a8 =t 1 wfaffae #7222

hi

01. Ziya, Chetan and Yash, Das
03. Faizal, Das and Ziya, Chetan
05. None of these

01. ST, 9q 3T T4, =19

03. F57er, T Y o, =ae
05. =% A #rE T

02. Ziya, Tarun and Das, Yash
04.  Ziya, Tarun and Faizal, Das

02. ST, T80T T I, TA
04. ST, TIT 3T HoleT, T

Solution for Question 115 Ans Key: 1
eng Floor Friend
8 Faizal
7 Chetan Bench -w [T [ 1T,
8 Das Facing Southl ya arun | Tarun etan
5 Varun
4 Yash : Efe"c: rﬂ: + | Das | sahil | Faizal| Yash
- acing No
3 Sahil
2 Tarun
1 Ziya
ad LE]
haw
o - S e
gH0T | 90T
i R |
Ll
a1
i | o |afew| aer | @
FHeT
o
Q-116 How many friends live between Chetan and Sahil?
01. None 02. Two
03. Four 04. Three
05. None of these
Q-116 =@ 3T AT & o= fohae (9 T2 82
01. =rsagt 02. =
03. =< 04. e
05. =9H ¥ HIE Tl
Solution for Question 116 Ans Key: 4
eng Floor Friend
8 Faizal
7 Chetan Bench - [T T 1.
s Das Facing South | iya | Varun | Tarun [Chetan
5 Varun
4 Yash Fa:::;(i'u;t:] 3 Das | Sahil | Faizal | Yash
3 Sahil
2 Tarun
1 Ziya
hi T o
8 L=
7 g e
frar | avor | awor | daa
P W RO aR |
5 CELE
g
g il g | wrfeer | e | @
3 R Fe AR ]



- STWEE

1 forar

Q-117  Which of the given statements is true with respect to the given arrangement?

eng
01. Ziya sits opposite to Sahil 02. Sahil lives on second floor
03. Chetan sits opposite to Yash 04. Faizal lives on seventh floor
05. All are true
Q-117 =¥ T =aeT & day | faU 70 Foaei § F w7 97 961 82
hi
01. oy avfeer 3 a5 2 02. aTfRe gAY IS 9% TR 2]
03. =« Ter % i JoT & 04. &7 FTqE! ST T TEaT gl
05. w9t 7T g1
Solution for Question 117 Ans Key: 3
eng Floor Friend
B Faizal
! Chetan Bench -1l )
5 Das | Ziya | Varun | Tarun (Chetan

Facina South

ad
NECETECT bl b Rk
= F r

|| sedamt | T _m .

EEEBEIEIERIE

Passage for Question 118, 119, 120, 121, 122 (ST-2083CRPBCLMAINS(41-45R)2019)
eng Passage

Study the following information carefully and answer the questions.

Seven audit committees i.e M, F, P, R, H, T and B are going to conduct an audit in seven different cities Aligarh, Pune, Delhi, Hyderabad, Indore, Bhopal and
Varanasi on one day in a week starting from Monday and ending on Sunday.

Committee H audited in Hyderabad on Friday. There is only one audit between Committee H and F. The audit of Committee T is immediately after the audit of
Committee P but immediately before the audit of Committee B. Committee T is not audited in Indore. The committee which audits on Monday, will audit in Delhi.
There is only one committee audit between the audit of committee B and the audit of that committee which will be in Aligarh. Commiittee P is not audited in Aligarh.

The audit takes place in Pune just before the audit in Indore. Committee R does not conduct an audit on Monday. The audit in Varanasi is not followed by the audit
in Aligarh.

hi Passage

afafaa TTasrd &1 samgd® segga L A= fRuagwrsrIacd

aq AT FHET SH- M, F, P, R, H, T 3T B |1 STeNT- 3T AZ2T STANTE, U1, faeett, gaerars, 221, AT ST avret § U sfifee w3 51 W@l 8, ST
U HATE § HHATE & ¢F AT A4 H qHIH ZHAT|

FHL H 7 LRATE T §a2TaTs 7 adtfee FFam #5821 H 3T F 3 it Faar UF iz grar g1 FHET T FT AffSe FHET PF A2 F qia 918 At 7l BF
Atfee & 27 Tger 81 FHET T H7 A2 23 H 78f 31 HrHar a1 sifee F:2 areft w3t faeedt # atfee wafh #85dr B ¥ sitfee sire oo w8t ¥ sifee o
TR H RN % A= Fad UF FHET F7 A TS g1 FHST P FT A Teiive § T8l gl T2 | Affee ¥ 3% Tga 0 § sfifSe gar g1 FHET R THaT H1
Atz AT FAT 1 ATV | fifee dfnTe § aAffe % a1 78l gl

Q-118 If‘audit in Delhi’ is related to the ‘audit in Pune’ and ‘committee B’ is related to ‘committee R’ in a certain way, then to which of the following would the
eng ‘audit in Indore’ be related to, following the same pattern?




01.  Auditin Bhopal
03.  Audit in Aligarh
05. None of these

02.  Audit in Varanasi

04.  Audit in Delhi

Q-118 =fz ux f[Afer i & feeeft # afifee, qor # sfifee & gafed 2 oY FH B, ‘FHAT R & Hafed , a7 ST 9o & oar Se # difee e+
hi q fereer Fated grie?
01. <ot & st 02. I Hifse
03. srefiTE 7 #fifee 04. fooeft 7 atifee
05. zit i s
Solution for Question 118 Ans Key: 3
eng Monday M Delhi
Tuesday P Varanasi
Wednesday T Pune
Thursday B Indore
Friday H Hyderabad
Saturday R Aligarh
Sunday F Bhopal
qHER fesst
qUar qu
L [SRICEL oA
MFa padIg
A i
Q-119 How many audits are conducted between committees M and R?
01. None 02. One
03. Two 04. Three
05. Four
Q-119  FHI M ¥ R F it forae sitfee foro Sty 82
01. =g 92t 02. w=
03. =r 04. T
05. 9T
Solution for Question 119 Ans Key: 5
eng Monday M Delhi
Tuesday P Varanasi
Wednesday T Pune
Thursday B Indore
Friday H Hyderabad
Saturday R Aligarh
Sunday F Bhopal
hi

11111

pi%a11



< nan " Labalis

Tam F wraE

Q-120 Which committee conducts an audit on Monday?

eng

01. B 02. T

03. p 04. M

05. Cannot be determined

Q-120 FIF-F FHE HHATE FT A2 AITT FAT 82

hi
01. B 02. T
03. p 04. M
05. T 7T FT TFHA
Solution for Question 120 Ans Key: 4
eng Monday M Delhi
Tuesday p Varanasi
Wednesday T Pune
Thursday B ndore
Friday H Hyderabad
Saturday R Aligarh
Sunday F Bhopal
AaEan aFrToTd!
FIR eI
sferaw E Cirir
e In which of the following city is the audit of committee B?
01. Varanasi 02. Aligarh
03. Delhi 04. Bhopal
0S. Indore
Q-121 FHI B & SAilsc [Mwiiiad A | (%48 g+ g?
hi
01. FTeroTet 02. stz
03. faoeft 04. sTroTer
05. 2=
Solution for Question 121 Ans Key: 5
eng Monday M Delhi
Tuesday P Varanasi
Wednesday T Pune
Thursday B Indare
Friday H Hyderabad
Saturday R Aligarh
Sunday F Bhopal
hi
R M fwelr
ANHAR P FRToTE
UER T qor



= e

LFAR H Eeriicy
yfeaw R e
EicCic F s

Q-122  Committee P audits on which of the following days?

eng
01. Monday 02. Tuesday
03. Wednesday 04. Thursday
0S. Friday
Q-122 F#r P Aoforiea # | e fow sfifee et &2
hi
01. THa™ 02. AT
03. Fgar 04. gEEfaaTe
05. sphate
Solution for Question 122 Ans Key: 2
eng Monday M Delhi
== | ;:‘:TT
HEE Y LA |
feram HWe
Tddan ywrarE

Passage for Question 123, 124, 125, 126, 127 (ST-2083CRPBCLMAINS(25-29R)2019)
eng Passage

An alphanumeric machine accepts letters as input and delivers output in form of numbers through different steps. Each step is obtained by applying
an operation different from the previous step. Each step gives output taking input from the previous step. Below mentioned is an illustration of the
same.

Input: decreasing glaciers result from the melting snow valley

Step-1: 1210864106 8

Step-2:2262

Step-3: 3 1

Step-4: 7

Step-4 is the final output. On the basis of above illustration find the output and different steps for the following input.

Input: glory gained through resolving conflict between these personalities

hi Passage

TF AEHTLATE AT THT FTTALE H €T H TR FLAT § ST ATHT IT0T F ATeqA F &ATA F €T H ASTYE TITA FLAT 2| T F
770 g 9o & uF RAfhs Man ang s ara A aar g wed s aeu w7 sy e ITun FT e F TTA AFATH FRarsrar g
= SHY FTUF 3T ST & |

TAYE: decreasing glaciers result from the melting snow valley
qT-1: 12108641068

qIO-2:2262

AT -3:3 1




I -4: 7
T -4 STAH APee gl T [T T I % e 92 8 34 F o srsee i A SI2on &7 5 o)

TYE: glory gained through resolving conflict between these personalities

Q-123  What will be the step-3 of the given input?

eng
01. 2 4 02. 4.6
03. 3,5 04. 1,5
05. 4,4
Q-123 3T 7T 392 T =9 -3 FT A2
hi
01. 2.4 02. 4,6
03. 3,5 04. 1,5
05. 4.4
Solution for Question 123 Ans Key: 1
eng Input: glory gained through resolving conflict between these personalities
Step-1: 86 10 12 128 6 14
For ‘glory’, the number of consonants is 4 so its respective number becomes 8. (4%2)
For ‘through’, the number of consonants is 5 so its respective number becomes 10. ( 5%2)
Step-2:22438
To obtain the first value of step 2, the difference between first and second numbers (from left end) is taken.
To get the second value of step 2, the difference between the third and fourth numbers is taken.
To acquire the third value of step 2, the difference between the fifth and sixth numbers is taken.
To identify the fourth value of step 2, the difference between the seventh and eighth numbers is taken.
Step-3: 2 4
First value of step 3 is obtained by taking the division of first and third numbers from left end.
Second value of step 3 is obtained by taking the division of second and fourth numbers from left end.
Note- The greater number is divided by the smaller number.
Step-4: 10
Sum of both the numbers of step 3 is taken and the greater number is further added to this sum to obtain the value of step 4.
Following the same logic, the value of step 4 is 2 + 4 = 6, the greater number here is 4, so 4 + 6 = 10.
z79e: glory gained through resolving conflict between these personalities
=or-1: 8610121286 14
‘glory’ @ fofT, =S it wea 4 § 3afcie 364 Faft e 8 (4 x 2) & S
through’ & feru, =5sm it @@ 5 2 sHfere sa8 Feftg g 10 (5x2) & St 21
wor-2:2248
=T 2 3 WES W i W L 0, Tl SR @l T (S B H) 6 Sfiet ST o s 2
T 2 % LA 1 W L 6 o, diedt ofi =Neft e (a1 R &) % sfa siat o s 2
=T 2 o G W Rl 6 S o foTu, aierelt it S8t g (ST i @) % sfter 3tar form s R)
<RUT 2 o <1 I o I G & [, draet 37t et T (10 9% @) & o= 7at fora siar 2
=Xur-3:2 4
=0T 3 T IS A S1C DR & e ST A6 §EAT & forars g W R s 2
=T 3 T A A S ST H 8L A < T ok ForTsiT g1 S fora St 21
e- It WEAT i BT GE&AT A forwrivre femar wTar 81
=t -4: 10
<RT 3 Y ST AT T AT o ST & I =0T 4 1AM W F ok fA S T 36 AT J R S S 2
Tt T % STgER, A F AR 2 + 4 = 68, T a<t we 4 7, | 4 + 6 = 10 7
Q-124 What will be the Step-1 of the given input?
eng
01. 861012128616 02. 861212128614
03. 86101212186 14 04. 8610121281614
05. 8610121286 14
Q-124 3T 7T SAYE T =297 -1 FAT A2
hi
01. 861012128616 02. 861212128614
03. 8610121218614 04. 8610121281614
05. 8610121286 14
Solution for Question 124 Ans Key: 5




eng

Q-125

Q-125

Input: glory gained through resolving conflict between these personalities

Step-1: 86 1012 128 6 14

For ‘glory’, the number of consonants is 4 so its respective number becomes 8. (4x2)

For ‘through’, the number of consonants is 5 so its respective number becomes 10. ( 5x2)

Step-2: 2248

To obtain the first value of step 2, the difference between first and second numbers (from left end) is taken.
To get the second value of step 2, the difference between the third and fourth numbers is taken.

To acquire the third value of step 2, the difference between the fifth and sixth numbers is taken.

To identify the fourth value of step 2, the difference between the seventh and eighth numbers is taken.
Step-3: 2 4

First value of step 3 is obtained by taking the division of first and third numbers from left end.

Second value of step 3 is obtained by taking the division of second and fourth numbers from left end.
Note- The greater number is divided by the smaller number.

Step-4: 10

Sum of both the numbers of step 3 is taken and the greater number is further added to this sum to obtain the value of step 4.
Following the same logic, the value of step 4 is 2 + 4 = 6, the greater number here is 4, so 4 + 6 = 10.

zqe: glory gained through resolving conflict between these personalities
=wr-1: 8610121286 14

‘glory’ % fot, 2o ot e 4 © 3aiee 398 gafid @er 8 (4 x 2) =& S 2
through’ % fer, =is st @ 5 & safee sa@ gefea wear 10 (5x2) & S 21
wr-2:2248

=T 2 % Tecd A 1 9 A o, weelt S qud @ (9 S H) % e 7w for S )
=T 2 % T A H W F o foAu, et AR =l @@ (a1 s §) & e st form S #
TR 2 % TG W T I o foIT, giee TR D3t 9 (ST 3R ¥) o s 3Taw form S 2
r-3:2 4

Tre- FET TEAT Y Bret weat ¥ fawrhra forar smar 21

=xur -4: 10

=0T 3 T GHT FEATSHT T AN AT ST & TR =0T 4 il A 6 B o (T ST T b 36 AN H KT & AT S 2
T T % AR, TN AT A2 + 4 = 67, Ti ot wem 4 8, @i 4 + 6 = 10 2

What will be square of the final result of the given input?

01. 169 02. 144
03. 100 04. 441
05. 289

o 0 e o Sffaw T #T &R AT gem?

01. 169 02. 144
03. 100 04. 441
05. 289

Solution for Question 125

eng

Input: glory gained through resolving conflict between these personalities

Step-1: 86 1012 128 6 14

For ‘glory’, the number of consonants is 4 so its respective number becomes 8. (4x2)

For ‘through’, the number of consonants is 5 so its respective number becomes 10. ( 5x2)

Step-2: 2248

To obtain the first value of step 2, the difference between first and second numbers (from left end) is taken.
To get the second value of step 2, the difference between the third and fourth numbers is taken.

To acquire the third value of step 2, the difference between the fifth and sixth numbers is taken.

To identify the fourth value of step 2, the difference between the seventh and eighth numbers is taken.
Step-3: 2 4

First value of step 3 is obtained by taking the division of first and third numbers from left end.

Second value of step 3 is obtained by taking the division of second and fourth numbers from left end.
Note- The greater number is divided by the smaller number.

Step-4: 10

Sum of both the numbers of step 3 is taken and the greater number is further added to this sum to obtain the value of step 4.
Following the same logic, the value of step 4 is 2 + 4 = 6, the greater number here is 4, so 4 + 6 = 10.

z79e: glory gained through resolving conflict between these personalities
=wor-1: 8610121286 14

‘glory’ % o, =is it WA 4 ? gHfore 36w Hafiq ger 8 (4 x 2) & S 2
through’ % feTg, = %t @ 5 § safae 3e8 datd gear 10 (5x2) & St 8
wur-2:2248

=T 2 % Tedd A 1 UH A o, et i qud s (9 3 @) % e 7w for s )

Ans Key: 3



=T 2 3 THL AW I F 6 o, A i =it e (9 3R &) % s 7w o s )

TROT 2 % <R W T I H h foIe, wieet 3 53t ge (S sk @) # sfter ofa o S 21

ST 2 % = HT 2l W6 o o o, Fiaet 3 el §er (S8 o) &) % sfte Sat o S 21

wor-3:2 4

<R 3 FHT YZAT HH STC BR & Tl A 16 T o forre gRy om foa sy =1

=T 3 T WM S S H B A < T ok ForTsiT g1 s fora et 21

Are- L HEAT Y Bret weaT ¥ i foram strar 21

=t -4: 10

<ROT 3 T GHT TEATSAT T ANT T ST & ST SROT 4 <7 A 9T i o [T St T <6l 36 I | TR & et ST 2l
36T b % TR, WA AFAT2 + 4 = 63, T ad g 4 8, safew 4 + 6 = 10 )

Q-126

eng

Q-126

Which is the fourth number from the right end in step-1?

01. 12 02. 8
03. ¢ 04. 10
05. 14

=TT -1 § IO AT H A reft HEAT FA-HT 2

01. 12 02. 8
03. 6 04. 10
05. 14

Solution for Question 126

Input: glory gained through resolving conflict between these personalities

Step-1: 86 1012 128 6 14

For ‘glory’, the number of consonants is 4 so its respective number becomes 8. (4x2)

For ‘through’, the number of consonants is 5 so its respective number becomes 10. ( 5%2)
Step-2:22438

To obtain the first value of step 2, the difference between first and second numbers (from left end) is taken.

To get the second value of step 2, the difference between the third and fourth numbers is taken.
To acquire the third value of step 2, the difference between the fifth and sixth numbers is taken.

To identify the fourth value of step 2, the difference between the seventh and eighth numbers is taken.

Step-3: 2 4
First value of step 3 is obtained by taking the division of first and third numbers from left end.

Second value of step 3 is obtained by taking the division of second and fourth numbers from left end.

Note- The greater number is divided by the smaller number.
Step-4: 10

Sum of both the numbers of step 3 is taken and the greater number is further added to this sum to obtain the value of step 4.

Following the same logic, the value of step 4 is 2 + 4 = 6, the greater number here is 4, so 4 + 6 = 10.

sa9e: glory gained through resolving conflict between these personalities
=wor-1: 8610121286 14

‘glory’ % foT, =Hem i & 4 ¥ 3afee s9e Hefid @ 8 (4 x 2) & S 2
through’ = fere, =isi i wwar 5 & g so@ gefd gear 10 (5x2) & St 21
wwur-2:2248

T 2 % Yeed HI I S F o AU, veedt o gad e (s1g 9K §) % sfie st o s g
=T 2 3 THL A 1 56 F 6 0, Fe i =iefl @@ (91 3K &) & st s o S )
<ROT 2 o R HIF T T8 S o foT, Uieet 37t St ST (A1 R @) % s TR form s 21
<O 2 F < HH kY I A o T, Araet 3R et €A (Y BR §) % s 3w foram s =1
wur-3:24

=T 3 T YgAT A Y BR & Ug S 6 TAT o forrei gy s feham e 21

T 3 T GH A o1C SR AL AR Y T 5 Farer v s forarm s 21

ATe- IEt WEAT T BT GE&AT | faaiera feram ATar 21

=ror -4: 10

<RT 3 fit ST TEATST AT AT AT ST & SR =R0T 4 T W I B o6 T St T i 36 AT H R & Sier ST 2
ST % ITTER, ST 4 FAF 2 + 4 = 6 3, T s wean 4, @iw d + 6 = 10 %

Ans Key: 1

Q-127

eng

Q-127

What will be the result of multiplication of the first and last digits of step-2?

01. 20 02. 16
03. 24 04. 18
05. 36

FIT -2 F TEA ST ATAH SR F U AT TROTH FAT ZEIT?

01. 20 02. 16



03. 24 04. 18

05. 36
Solution for Question 127 Ans Key: 2
eng Input: glory gained through resolving conflict between these personalities

Step-1: 86 10 12 128 6 14

For ‘glory’, the number of consonants is 4 so its respective number becomes 8. (4x2)

For ‘through’, the number of consonants is 5 so its respective number becomes 10. ( 5x2)

Step-2: 2248

To obtain the first value of step 2, the difference between first and second numbers (from left end) is taken.
To get the second value of step 2, the difference between the third and fourth numbers is taken.

To acquire the third value of step 2, the difference between the fifth and sixth numbers is taken.

To identify the fourth value of step 2, the difference between the seventh and eighth numbers is taken.
Step-3: 2 4

First value of step 3 is obtained by taking the division of first and third numbers from left end.

Second value of step 3 is obtained by taking the division of second and fourth numbers from left end.
Note- The greater number is divided by the smaller number.

Step-4: 10

Sum of both the numbers of step 3 is taken and the greater number is further added to this sum to obtain the value of step 4.
Following the same logic, the value of step 4 is 2 + 4 = 6, the greater number here is 4, so 4 + 6 = 10.

hi s7qe: glory gained through resolving conflict between these personalities
=or-1: 8610121286 14
‘slory’ % for, sism &Y w4 ® safau w38 gt @ 8 (4 x 2) 2 syt &
through’ % e, =i %t @ 5 & safag 39 watud gear 10 (5x2) & St &
Wor-2:2248
T 2 3 Teed A I I FH o AU, Teedt R gad se (a1 9K &) % e st o s 2
ST 2 % UL HM 21 ST R o {1, et S =il @ (s1d i §) o sfier srat forar s 2
TROT 2 % TG W T I HH o T, gieet R Sdt HE (S 8K &) o s 3Taw forn S 21
<R 2 F = HH BT I i o foIT, draet 3R et G (1Y 8K &) & sfie 3Tt foram s 21
=xor-3:2 4
<R 3 T Ul A 10 B & Teed ST dTal T o forsrei g 9me fham ST 2
=T 3 T GEU WM 1Y B 8L ST = HEAT ok (1o g0 ST {62 ST @
- T HEAT Y et st ¥ frarfia fear smar 21
=xor -4: 10
=07 3 T SHT SIS T TNT fRaT ST & 3T =0T 4 <1 I IIH i o foIu il S 61 36 I | 6 & Siier Siar 2
Tt @ & SR, A H AR 2 + 4 = 6 8, Fet st e 4 3, Wi 4 + 6 = 107

Q-128 Following questions are based on five words given below.
GROUP FROM LINE SUPER BRIEF

If in each of given words each of the vowels is changed to the previous letter and each consonant is changed to the next letter according to the English
alphabetical series, in how many words thus formed there is a vowel?

01. One 02. Two
03. Three 04. Four
05. None
Q-128 fAwmwx = a3 ai= ars3f wamafa g1
hi
GROUP FROM LINE SUPER BRIEF
T2 RIS AT 3 AT 38 T T orsat H T2l il SHY Tgel a7l AEAT ST TeAH ST il 366 A% AT FqT F TG (<47 v g v 29
TeRTT SATH I3 Tohae 9rsat | €97 82
01. u= 02. =7
03. i 04. =1
05. g
Solution for Question 128 Ans Key: 1
eng HSNTQ GSNN MHOD TTQDS  CSHDG
hi HSNTQ  GSNN MHOD TTQDS  CSHDG

Q-129 Following questions are based on five words given below.

eng
GROUP FROM LINE SUPER BRIEF



If in each of the given words the first letter and second letter are mutually interchanged and they are arranged in the order as they would appear in a
dictionary from left to right, which of the following will be fourth from the right?

01. RBIEF 02. ILNE
03. RFOM 04. USPER
05. RGOUP

Q-129 frawx = {33 ai= asai yramafa g1

hi

GROUP FROM LINE SUPER BRIEF

T {37 oreg § | ToI® § 92T 812 ST THIT T84T TEETT 399 H 98 38 7 8 3T 9 U9 %7 § ZFareaq iy S g e s ey
TSTRTYT HH F T g1 aT (70 H & 17 aTH 7 =TT g2

01. RBIEF 02. ILNE

03. RFOM 04. USPER

05. RGOUP
Solution for Question 129 Ans Key: 1
eng RGOUP RFOM ILNE USPER RBIEF

ILNE RBIEF RFOM RGOUP USPER

RGOUP RFOM ILNE USPER RBIEF

ILNE RBIEF RFOM RGOUP USPER
Q-130 Following questions are based on five words given below.

GROUP FROM LINE SUPER BRIEF

If the second and last alphabet in each of the words is changed to the previous letter of them in English alphabetical order, how many words having only

one vowel are there?

01. None
03. Two

05. More than three
Q-130

02. One
04. Three

e wor = 53 o= arsat g snafeg 21

GROUP FROM LINE SUPER BRIEF

TS AT 953 % THL ST SATqH FOTT T TSI AUHTAT FH H IHH Tgol AT AT AT F T [&AT STAT § AT Hdel T TG ATl (bl 973 52

01. s 72

03. =7

05. fi= & =rferer
Solution for Question 130
RS GQOUO FQOL LHND
hi GQOUO  FQOL LHND
Q-131

eng

02. u=
04. §i=
Ans Key: 3
STPEQ BQIEE
STPEQ BQIEE

Study the following information carefully and answer the question.

Cigarette companies claim that manufacturing both low- and high-nicotine cigarettes allows smokers to choose how much nicotine they want. However, a
recent study has shown that the levels of nicotine found in the blood of smokers who smoke one pack of cigarettes per day are identical at the end of a
day’s worth of smoking, whatever the level of nicotine in the cigarettes they smoke.

‘Which one of the following arguments is strong in respect of 'most helps to explain the finding of the nicotine study'?

01. Blood cannot absorb more nicotine per day 02. Smokers of the lowest-nicotine cigarettes available generally smoke more cigarettes per day than

than that found in the smoke from a

smokers of high-nicotine cigarettes.

package of the lowest-nicotine cigarettes

available.

03. Most nicotine is absorbed into the blood of 04. The level of tar in cigarettes is higher in low-nicotine cigarettes than it is in some high-nicotine



a smoker even if it is delivered in smaller cigarettes.
quantities.
0S. When taking in nicotine by smoking
cigarettes is discontinued, the level of
nicotine in the blood decreases steadily.

Q-131 fufafaa ATaFTa FT AT F AeTTT FL ATTT FTITLLN
hi
forree st =1 amar g ©F A oite og-fAerde ST Reret #1 FAi e #5357 a1t #7178 9 it At 3ar 8 & 3 fraar fad= =
B ETATT, T FTTAT STEATT F TqT 9T & T g AT<h ST ATATad U Tahe FRIE T gUITE FqT 8 % T § (Mahe &7 &q¥, T &3 guam
FA AT ATE | AT & T F THE &, 9 2F & gJI F2d q877 e § {Ede 1 waqw g € o w@ran
Frafafaad @ sta-arm MRdTcats aaaa § AT qgras ' & gag 7 aqw 82
01. = wiafee e &t Ia+T offds AT 02, §a| w7 A areft fRRE % guaTe i JTe 6T H a1 97 3g-Faee frne %
FALMTT Tl FY THaT ST o6 qae HIT I ATAL 01 AT § Tr e sTrere e 1T 2|
F R Susy e F us e
ITH 40 | FaT 2
03. U FIA AT % Th W qE Atgw 04, TERRE H T F FAY G Sg- R arel [ERE i qAdT § Al- e arelt fee § Afeeh
I oo g e, T g ag F BT
AT H AT = En
05. S g/ e g™ g A =T
g2 FTIq T TF H R i Faw
Solution for Question 131 Ans Key: 1
There is a similarity in the blood such that the maximum amount of nicotine absorbed is identical for everyone. Because the maximum amount of nicotine
absorbed per day is equal to the nicotine in a pack of low-nicotine cigarettes, each person absorbs the amount of nicotine equal to the low-nicotine pack
regardless of the type of cigarette smoked.
AP 1 3P TA AFT ANV P drel AR HA AT MY HA dTel 37 FH B T A FHAAAT @It &1 FAifh
gfafea smaaifta Aeda & 3feas amEn Fa [Aada e ae tah dée # @ddd & R gdl 8, U3 <afh
AP &1 AT HA-ARET §F & awER & HaMWVT AT & 7o & g fedr o g dr Rore o &1 @ (3rq R
% UhR & Ware [T f&ar)|
Q-132  Study the given information carefully and answer the question.
Statement- The education system needs change, not fine-tuning.-said by Dr K. Kasturirangan, the chairperson of the drafting committee and former head
of ISRO.
What could be the assumption behind the statement by Dr K. Kasturirangan?
01. The education system in other countriesis  02. Indian teachers are not as much perfect as foreign teachers because they are more talented and
better than India. educated.
03. There have been changes in economic, 04. The traditional method will help in new changes. The traditional way means in which a child is taught
social, strategic demands, many other at home, creating sounds, creating communication in a peculiar way.
things. Certainly, the country has moved
much further. Into a 2 trillion economy
moving towards a five trillion economy.
Also, a digitalized society is around the
corner.
05. None of these
Q-132 A AEATAFTH FT8ATALEF HAETIT HL ATTTHTIALI|
hi

FHA - FAT TUTEAT H TEATT T TELA €, T 6 S1-3TF XA M| - TX. . FEQLIA A Fgl, TETT AT F FeTE 3T 3897 6 09 TE|
TV, . T F FATT % dTeg FT ST &1 Tl 82

01. =y ot ¥ TreAT STorTet e ot qear /02, syreii foveqan forgeft forersht 7 qvg TRqul 91 & 1T 9 sTfers Tl i< forfera gra &
TEAT

03. srfefeh, ATTIST, YO AT, % o= 04, qTEOiie qErhT A0 gaed § Haa HTT| TRAE ais #1970 ¢ Sad s ag fraw
St 7 7faad gu gl [T =18, 300 ferfera, e, frera &7 & g= weAT Rramr siar g1
TEA AT 98 TT 2| 2 Teforam spferae
= feforae srferaen fY A aE W
THE AT, Ua et qarT gute St
AT AT B



05. =8 & AT T

Solution for Question 132 Ans Key: 3
eng A digital system is spread all around us, so at this time there is a need to bring some changes in the education system.
hi AT AT a0 U FSforee sraear &eft g2 g, Tafore =a a0 frar syae § g a3ema a1 $f ST%d &
Q-133 Ineach question given below three statements are followed by two conclusions numbered I, IT and III. You have to take the three given statements to be
eng true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which conclusion definitely does not follow.
Statements:
All 45 are 65.
Some 65 are 88.
Some 88 are 77.
Conclusions:

1. Some 88 are 45.
II. Some 65 are not 77.
III. No 45 is a 65.

01. Ifonly conclusion I definitely does not 02. TIfonly conclusion II definitely does not follow.
follow.

03. If only conclusion Il definitely does not 04.  Ifall conclusions definitely do not follow.
follow.

0S. If conclusions I and II definitely do not
follow.
Q-133 == % 7 Wi wor | o 9, q o 1 11 ¥ [ ZTT SIqaor 36 ST g ArTaT (33 0 1 F9A1 &0 907 91991 8 (T2 9 70 az47 9
frer =7t 7 2| ohat it 0z ofY a7 2 fF w-ar Aeed [{fea =9 F sqEeo 987 w2 2

FI:
a4t 45, 65 T

[ 65, 88 B

T 88, 77 B
Ao

I. 7 88, 45 B

1L %% 65, 77 71 8
1L FTE 45, 65 &1 B

01. 7fx Fae Aoy [ AfEg ®TF e 02, Ffe Faa o 11 FfEa =7 8 Sqawor 981 #3aT gl

T‘Tﬁ‘;ﬁ?ﬁ %—I
03. =fT aae Ao 11 AT &9 7 sgawor 04, 7tz a4 Feed [ 7 9 sqaeo 981 #3d 2
TS FLAT 2
05. Frfe fAew [ i 11 AT =7 & s
Tol L 2
Solution for Question 133 Ans Key: 3

Q-134 In ecach question given below three statements are followed by two conclusions numbered I, I and III. You have to take the three given statements to be
eng true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which conclusion definitely does not follow.

Statements:

No 33 is a 44.

No 44 is a 55.

No 55is a 10.

Conclusions:

I. All 44 not being 33 is a possibility.
I1. All 10 are not 44.

II1. All 55 are not 33.



01. TIfonly conclusion I definitely does not 02. TIfonly conclusion II definitely does not follow.
follow.

03. If only conclusion III definitely doesnot ~ 04.  Ifall conclusions definitely do not follow.
follow.

0S. If conclusions I and II definitely do not
follow.

Q-134 = fodr /& v Wy § i o, A et 1 11 3R 11 31T Stgaeor o6 ST €1 et fo3 1 e ot 1 9 AT © (AT o 19 a=a1 9
hi 3 /7 71 21| oot 7 9z o a7 w2 T w-ar e [ =7 & e 981 #7ar g

FAT:
TS 33, 44 I 2

T 44, 55 Tl 2

TS 55,10 7T 2

QLA

L 94T 44 % 33 T g1 T U qATEAT 8
IL &Y 10, 44 72T 21

IIL 7+t 55, 33 721 81

01. Ff% Faer ferd | R =7 & srgaeor 02, 7f% Faer end [ R =7 Sqaer 781 Far 2|
&l FLAT B
03. f% Fa= ferd M AP =7 7 srqeeor 04, 7fe oft Rowd RS =7 & sgaer a8 +2a 2
05. =z free 1 37 11 e =7 & srqaeor
Solution for Question 134 Ans Key: 1

Q-135 Ineach question given below three statements are followed by two conclusions numbered I, IT and III. You have to take the three given statements to be
eng true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which conclusion definitely does not follow.

Statements:

All 12 are 15.

Only a few 15 are 28.

All 28 are 26.

Conclusions:

1. Some 26 being 12 is a possibility.
II. Some 26 being 15 is a possibility.
III. Some 28 are 12.

01. TIfonly conclusion I definitely does not 02. TIfonly conclusion II definitely does not follow.
follow.

03. Ifonly conclusion III definitely doesnot ~ 04. Ifall conclusions definitely do not follow.
follow.

05. If conclusions I and II definitely do not
follow.
Q-135 = e 1 v oy § i o, A fehet 1 11 3R 11 3TRT SIqaeor o6 ST €1 et T3 0 et ot 1 9 AT © (T8 o 19 a=a1 9
hi e =7t 7 2| Rt it ae oY a7 # 15F Fa-ar Fewd [ &7 7 sqeer 81 #2ar

H:

Tt 12, 15 5

Fad %3 15, 28 Tl

9T 28, 26 B

frewy:

L %% 26 % 12 g9 T TF TrATIAT 2
IL % 26 % 15 I T UF qeA7aT g
II1. % 28, 12 2



01. 7f Fae Aoy | Afaa =7 q aqeee 02, 7fT Faa AT [ [T &7 8§ Sqawr g1 #7aT g
TEl FEAT 2

03. =fz Fae ey 11 e =7 7 srgeeor 04, Ffe o+t Ford AT &7 & aqaer 781 #d 8
TET FLAT 2l

05. =rfg e 1 &< 11 AfSa =7 & e
TET A 2

Solution for Question 135 Ans Key: 2
eng
L 1 5
%)
i @2)
% 1 5
)
Q-136 A statement, followed by two arguments numbered I and II. You have to decide which of the arguments is a 'strong' argument and which is a 'weak'
argument.
Statement- Should the transfers of employees from government offices of one city to another be stopped?
Arguments:
I. No. Transfer of employees is an administrative matter and we must continue it.
IL. Yes. It involves a lot of governmental expenditure and inconvenience too many compared to the benefits it yields.
01. Ifonly argument I is strong. 02. Ifonly argument II is strong.
03. TIfeither I or IT is strong. 04. If neither I nor I1 is strong.
0S. Ifboth I and II are strong.
Q-136 UTF FAT AT AT T 1 ST fIT AT E) ATHT TE T FIAT S 6 FIF-81 T TF QAT T © AL HIA-HT FHAL T 2

FIT-FATTH AELH TAR AELH LHTA FTATADT A FAATICAT R T EITATALIN KT ATATAT{T?

I. 2, FHATIAT T TATATAL Uk TTHS GTHAT ¢ 3T gH T T @1 A=)
1L 2, THH agd & GChT @ A AT ATHS &, ST SHE (A a1er AT 6T AT § agd A1aF gl

01. =f3 Faa & [ T2 2 02. =f3 g o [1 99 2
03. =t 3747 [ 3T 1] J9T<F &1 04. =rfg 7 a7 [ 37¥ 7 2¥ 11 79<F 2|

05. =f2 1 =¥ 11 3T qerh £

Solution for Question 136

Ans Key: 4

eng Both arguments, I. No. Transfer of employees is an administrative matter and we must continue it.
and II. Yes. It involves a lot of governmental expenditure and inconvenience too many compared to the benefits it yields, are not strong argument regarding
to statement.
hi AT T, 1 TaT| FHATAT T T U T ATHAT 8 3T g/ 28 ST 78T ATfgul
ST 11 2| THH Tga AT LTl AT ATHA g T 3T AT ATl ATHT %00 TAAT § Tga AT AT BT &, FAT % el | T T Aal 2l
Q-137 Each of the following consists of a question and some statements are given below it. You have to decide whether the data provided in the statements are
eng sufficient to answer the question.

Six people — A, H, T, J, Land P are living in a building such that only one person lives on one floor of the building. There are six floors in the building such

that ground floor is numbered 1, the floor above it is numbered 2 and so on. Who is living on the Ground floor?

Statement I. There is only one floor between the floors on which floor T and H are living. A is living on an even numbered floor.

Statement I1. L is not living on an even numbered floor. H is living on an even numbered floor. H is not living on the top floor.

Statement I11. J is living on an odd numbered floor. There are two floors between the floor on which J and A are living. L is living immediately above T.

01. Ifthe data in statement I alone or in the 02. Ifthe data in statement I and II are sufficient to answer the question, while the data in statement 111

statement II alone or in the statement I11 are not sufficient to answer the question.
alone is sufficient to answer the question.

03. Ifthe data in statement IT and III are 04. If the data in statement I and III are sufficient to answer the question, while the data in statement II



05.

sufficient to answer the question, while the is not sufficient to answer the question.
data in statement I is not sufficient to answer
the question.

If the data in all the statement I, IT and 111
are necessary to answer the question.

Q-137 et & & wes § U W7 ZraT ¢ i< T8 19 g FI9 30 ST &1 ATy T 97 FA1 2R 3 e § fRu o ser wr A 3w a9 F o
hi TATH & AT T

TE AR - A, H, T,J, L 3T P UH SHIIA § TH YA T8 T¢ & (6 THRA & UH qf T Had U ATk T@al gl Ha H B 6ol g S o6 §ae ar
AT | 8, T SHUT T ot H&AT 2 ¥ THT a3g AN TS FAX (YAA) T I T8 L2182

FAT . 3T HISAT F A1 FAd T HioA &, 5 ¢ T 37 H T2d 51 A T9-5eAT 57 97 T8 gl

FIT IL L UF TH HCAT T HIoTe T2 781 T8 T2T 8| H U 89 FeA7 qreft #iorer 9% Tgar g1 H o wfSrer 72 981 78 w2l

FAT L. ] TF [0 H&AT a1t o7 9% Tgal | o 7o 9% J 3T A 72 5 &, 9% o= a1 #iort 21 L, T % 319 9% T8 T&T &l

01. FfeFom IHIeradd AT FAT A AT 02, 7fE A [ 37 113 T2T T 7 I o o To70 o7 &, STateh e 11§ 22T 997 &7 I 3

03.

FAT 11 H el T T I & & o0 o gt 951 &
T 2

T I 1T 13 32T T T 3T ad 04, 7T e 1 3i< 113 22T o7 7 392 o o forw oate €, Stafeh e [T/ 32T 37 7 ST &
= forg wate €, Stafoh o 1§ ST wor &7 fore garte 75 21

ST & o o o iE A9
05. rfz asft e I, 11 3/ 101 § 22T 57 T
IT7 9 F forw emaeTs &1
Solution for Question 137 Ans Key: 3
From Statement II and III:
FlooinPerson|
6| A
5 L
4 T
3 ]
2 H
1 P

Here, P is living on the ground floor. Thus, data in statement II and III are sufficient to answer the question.

Haa 1 31T I A

EIEE e
6 A
5 L
4 T
3 bl
2 H
i

g, P $dd W I W &l 39 UAR, AT I AR I & 31hs U4 & R o & fore gaig £

Q-138  Each of the following consists of a question and some statements are given below it. You have to decide whether the data provided in the statements are
eng sufficient to answer the question.

'Anil + Babita' means 'Anil is mother of Babita'

'Anil — Babita' means 'Anil is the sister of Babita'

'Anil * Babita' means 'Anil is father of Babita'

'Anil = Babita' means 'Anil is the brother of Babita'
'Anil @ Babita' means 'Anil is the daughter of Babita'
How is Qamar related to Usman?

Statement I: Pooja * Qamar — Sita = Tarun @ Varun
Statement II: Pooja * Qamar + Rahul — Sita — Wiki
Statement III: Tarun + Ram * Usman — Yuvraj

01.

03.

05.

If the data in statement I alone or in the 02. Ifthe data in statement I and II are sufficient to answer the question, while the data in statement I11
statement II alone or in the statement I11 are not sufficient to answer the question.

alone is sufficient to answer the question.

If the data in statement II and III are 04. If the data in statement I and 111 are sufficient to answer the question, while the data in statement IT
sufficient to answer the question, while the is not sufficient to answer the question.

data in statement I is not sufficient to answer
the question.

If the data in all the statement I, IT and 111
are necessary to answer the question.



Q-138  fRwferfd & & s § U w37 BT g oY T A g HUA (R0 AT 1 AT TG TF FAT EI 5% FAT H 30 0 2w vy h7 39w 39 F o
hi T § AT AL

'S + AT FT 7 A S Er AT )
ST — AT T s fRer Fefiar i a7 2l
'S * FETAT T o1 A FEiar & foar gl
'S = FATAT FT T A FAAT T ATE” B
SR @ FHAT FT o A T e f)
FHT, ST T 4 Gaferd g2

FAT [ TAT * FHL - HAT = T @ THT
FIT I I * FHL + T - Tar — &
FIT [1: TET + TH * ITAT — AT

0l. FfgFaa IHITAFA ATHFATOA AT 02 7F3 FAF [ 37T 113 T2T T &7 IAL & 6 (70 TATH &, SAath HA9 I F T2T 1 77 IAL a4 6
FAF I H el T 7 IAL a4 % forw o o =T 2
T B

03. Ifx o 11 37T 11 F ST T FT 3 o 04, 7 o [ 3777 111 F =T 9T FT I & & [o10 TATH &, STtk w2 [ H 2T T FT IAL A &
F forw qarte g, stafsh o 1§ e w1 &7 forT oot 4t 81
IAT 3 & [T 93T 781 2

05. fy osft o 1, 11 3f< 10 & 327 57 7
IAT 3 F o0 a9 T+ gl

Solution for Question 138 Ans Key: 4

TEA+

Q-139 Each of the following consists of a question and some statements are given below it. You have to decide whether the data provided in the statements are
sufficient to answer the question.

Seven students — I, K, N, B, L, G and T are standing in a queue. Each of them got a different rank in the class from 1 to 7. Who is standing in the middle of
the queue?

Statement I: I is first in the class and she is standing two places ahead of B. B is not the last student in the queue.

Statement II: G and T are standing adjacent to each other and their ranks are also numerically adjacent to each other.

Statement I11: K who got 3rd rank in the class is standing behind only L.

01. [fthe data in statement I alone or in the 02. [fthe data in statement I and II are sufficient to answer the question, while the data in statement 111
statement II alone or in the statement I11 are not sufficient to answer the question.
alone is sufficient to answer the question.

03. Ifthe data in statement II and III are 04. If the data in statement I and III are sufficient to answer the question, while the data in statement II
sufficient to answer the question, while the is not sufficient to answer the question.
data in statement I is not sufficient to answer
the question.

05. Ifthe data in all the statement I, IT and I1I
are necessary to answer the question.

Q-139 fwforfed & & weis & wsh wo7 2raT 8 o7 T6 A1+ g FA 30 S €1 ATy 78 97 FeAr g £ wue § Ru ru ter wr A s a9 w forw
hi TATH & AT 721

A gE- [, K, N, B, L, G 3T T UF FaX § G2 2| ITH T TAF T FATH | T 7 T Th Fo7 T (HeAT F1 a1 F o= & i G=182

FAT L [ FAT § TIH ¢ 7Y a8 B & a7 A9 A0 1 B FATX 7 ifaw =17 987 2

FAT I G 37T T UFH-THL F A & T Iq6T T o Uah-gae 7 e deam )

FAT IL: K S5 Fea7 § ot ¥ et § ag Faer LF g @e1 2

0. iR IS AT FAT AT AT 02. I = [T 113 T2T T T I 24 o (o0 TA1H &, T B [ H 27 957 F7T I 3 F



F [ F et T2 7 I a7 & (o0 forT ot 421 2
T 2

03. =g Fa 3T M1 F T T FTIAT T 04, T3 FA [ 37T 111 3 2T T FT IAL & & (70 TATH 3, STateh A 11 H T2T T 7 IAL a9 %
FRmoata g, FafF FA Iy s1 oo aaim 98 gl
IAT 3 F forT 93T 787 2

05. arfe wreft shere [, 11 3 111 § 227 97 7
IAT 3 F o0 a9 T+ gl

Solution for Question 139 Ans Key: 5

eng Combining statement I, statement II and statement I11:

Position
Rank in
gqueue
L
K
1 |

[¥%]

B
GIT
TIG

N is placed at the only remaining spot i.e. at 4th position. Here, we can say that N is in the middle of the queue. Thus,

the data in all the statement I, II and III are necessary to answer the question.

hi HUT I, YT I 3R o I & Ghe 4
iF

N @l Bad AT TAT U I@T AT & AT DY TAT W Tgl, &3 B Thd & b N AR & g F &l 39 UPR, UH Al 3R o & forw I &2 [ I
3R I & ST 3ma’Tsd o

Q-140 How many pairs of letters are there in the word ‘BICARBONATE’ which have as many letters between them in the word as in alphabetical series?

01. One 02. Two
03. Three 04. Four

05. More than four
Q-140 o= BICARBONATE’  a1er< 3 8 P 13 & Fori i 3t 8 srere & e o ofre seen i e vt €79 27

01. U= 02. =

03. i 04. =TT

05. =77 ¥ sffe
Solution for Question 140 Ans Key: 1
eng

BICARBONATE
[ -

hi

BICARBONATE
—

Q-141 In which city State Bank of India has launched its first dedicated branch for startups?

eng
01. Bangalore 02. Bhopal
03. Lucknow 04. Hyderabad
0S. Delhi

Q-141 T ogx ® wee-a77 % {0 I 6 & 7 (a1 Tga ! aaiad amaEr 4F it g2



01. é’l‘lﬂ'& 02. 9T
03. T@ETs 04. ZETET
05. faeett
Solution for Question 141 Ans Key: 1
eng State Bank of India (SBI) will soon open its first premium dedicated branch for start-ups in the country in Bengaluru.
hi ATLATT TeC 9o (THATAS) TR ol <97 H TeTe-37T 6 o7 T Tt SIHaH aHitq araEr Sves § gier |
Q-142  Which bank has imposed a fine of Rs 1.67 crore on Ola Financial Services for non-compliance?
eng
01. Punjab National Bank 02. NABARD
03. Reserve Bank of India 04. State Bank of India

05. None of these
Q-142 -3t % fory T wreaferae afdas a7 o §F 7 1.67 F20g F93 T THIAT 90471 747 8 2

hi
01. O Ford S 02. ArETe
03. srcter e &= 04, T T §F
05. =98 qFIE A5l
Solution for Question 142 Ans Key: 3

The Reserve Bank of India (RBI) has imposed a monetary penalty of Rs 1.67 crore on Ola Financial Services Pvt. Ltd for non-compliance of certain
provisions related to Know Your Customer Norms.

AT T5d 5% (RBI) T AT FISA T AiGHS TT2de forfHes 9% 97 T1¥ Fieed 919 8§ Hafad Fg TaemEl w1 I T 777 97 1.67 TS
FIA T W Tk STHAET AT 2

Q-143  Which bank continues to lead the debit card market for October 20227

01. Punjab National Bank 02. Bank of Baroda
03. Canara Bank 04. SBI

05. None of these
Q-143 I o7 5 srFza< 2022 F 71w A 18 a1 &7 Aged FE7 ST 7@ 82

01. OSTTer H9T S 02. &= iw FEraT
03. FTFF 04. w2z o A% AT
05. =8 FF1E TEF
Solution for Question 143 Ans Key: 4
eng Country's largest lender, State Bank of India continues to dominate the debit cards market in October 2022, with a 29% share, revealed data by 1 Lattice
(previously PGA Labs).
hi 39T % T 92 FITITAT, T S ATH SEAT T sTaav 2022 H 29% r7¥ F &1 62 HTS AT 9% 94T 9=t 1 767 2, 1 Afeq (T8t fisin
) F T F 4T FAT B
Q-144  Renew Power has raised how much billion dollar project loans from 12 international banks to finance?
eng
01. 5 billion dollars 02. 4billion dollars
03. 3 billion dollars 04. 2 billion dollars

05. 1 billion dollars
Q-144 {7 e 7 O % oI 12 Saemgia 9l & 919 | fhae $ed A % TRATSET 07 0 82

hi
01. 53R (@ 02. 43T TR
03. 33T (AT 04. 2 g TlET
05. | 3T (@<
Solution for Question 144 Ans Key: 5

eng Renew Power has raised a project loan of $1 billion through External Commercial Borrowings (ECB), tying up with 12 international banks for finance.




hi By rer A fort o ToTT 12 ST Siohi o AT TTSIS L g STed! ATortsareh SAT (SHTSH) o AT § | 3 SO 1 T SHT S80T SR 2
Q-145  With which bank Airtel Payments Bank has partnered to digitize the cash collection system in Tier I1I?
eng
01. Axis Bank 02. Dena Bank
03. Punjab National Bank 04. Karnataka Bank
05. None of these
Q-145 T8 9% % 9T TIZeA THeH 5 o (ea? [ § T2 §UE T ! 1 [Sforersst 3 & forw arsamy &t 82
hi
01. ufFwE % 02. AT %
03. ST T I 04. Feles §F
05. =8 q FIE A1
Solution for Question 145 Ans Key: 1
S Airtel Payments Bank has teamed up with Axis Bank to digitize the cash collection mechanism in Tier III cities and semi-urban areas of India.
hi T o T 11 STt AR STef-Tedt &t 8 Tohe Eor ool ohi fefSierest s o fofe, woreet Utiew sieh o ferer o o @l forerent shrer fobart 2
Q-146  What is the minimum limit of turnover for e-challan as per CBIC notification with effect from 1st October, 2022?
01. 10 crore 02. 15 crore
03. 20 crores 04. 50 crore
05. None of these
Q-146 1 31F2aT, 2022 & HE T ATALAAT o STAAT -ATATH o (o0 TH- AL T ATH ST F97 82
01. 10 FE =TT 02. 15 FITE =T
03. 20 FIE 79T 04. 50 FIE #9Y
05. Z98 F F1E A1
Solution for Question 146 Ans Key: 1
The Central Board of Indirect Taxes and Customs (CBIC) has made e-invoicing mandatory for businesses with a turnover of more than Rs 10 crore.
A SATHE L S HHT Ieoh siiS (CBIC) 7 10 TS FIT § e oh BRI ATt HGERT oh (018, §-ATeA (el & e 2
Q-147 Recently Samar 'Badru' Banerjee is passed away, He was associated to which sport?
eng
01. Cricket 02. Football
03. Volleyball 04. Chess
0S.  Swimming
Q-147 TS H GHT T TSI T (A& &1 74T, 98 68 & F 2 42
hi
01. e 02. waafe
03. FeftaTe 04. erais
05. zThr
Solution for Question 147 Ans Key: 2
eng Former India football team captain Samar 'Badru' Banerjee, who led the country to a historic fourth-place finish in the 1956 Melbourne Olympics, died in
Kolkata on 20 August 2022 after a prolonged illness.
hi AT T Al T1H % T4 FHTT THL TG T, Sl 1956 F TAG AU § 97 FHl UATH 212 ST IT TgATIT, FT A1 S AL 5 a78 20
ST 2022 FT FHIAFRTAT § e BT =T
(Q-148 Reserve Bank of India has cancelled the Licence Of which Bank of Karnataka?
eng
01. State Bank of India 02. Union Bank of India
03. Deccan Urban Co-operative Bank 04. ICICI Bank
05. Axis Bank
Q-148 ad R 9% 7 FAle® & hF 5% F A6 18 FT QAT 8?2



01. ST €22 &% 02. Ffear & =it Zfeam

03. T IS FT-ATET FF 04. srEEframeeTas o
05. B i
Solution for Question 148 Ans Key: 3
eng The licence of Deccan Urban Co-operative Bank, Karnataka, has been cancelled by RBI as the lender does not have adequate capital and earning
prospects.
hi THT AT FI-AILET I, FATeh BT ATSHH ACATATS FIT T FHT [GIT AT ¢ FA 1% FUTAT F ITH TATH GS(1 1T FHATS T FAET0 Tl 6l
Q-149  Which Indian firm has topped the 2022 Fortune Global 500 list?
eng
01. Reliance Industries 02. Life Insurance Corporation of India
03. Tata Steel Ltd 04. Oil and Natural Gas Corporation
05. None of these
Q-149  FI T ATTATT FH 2022 =T WG 500 AT H of e w21 97 82
hi
01. Reme Z=eg 02. et Strae T A
03. zrer #ie farfaes 04. T ST Tpfa 9 v
05. =98 FFIE TE
Solution for Question 149 Ans Key: 2
Nine Indian public and private companies have made it to the prestigious 2022 Fortune Global 500 list, with (insurance) Life Insurance Corporation (LIC)
India ranked 98th in the list.
T AT TSt ST st wufaat F 9fafSd 2022 w17 Eer 500 =1 § SRTE a91s 8, s () AT Sea T ST (TAsrs)
AT T G=AT H 98 F I I 5l
Q-150 'Financial Stability Report'is the flagship publication of which of the following institutions?
01. International Monetary Fund 02. Reserve Bank of India
03. NITI Aayog 04. State Bank of India
05. None of these
Q-150 'fofi Roear RO =9 | 7 forg |e1e 7 9@ T 22
01. SAqEIgr HaT i 02. sy fost &=
03. Fifa smamT 04. Tz I sfiw 2f=ar
05. =z & 1% 75
Solution for Question 150 Ans Key: 2
The Reserve Bank of India (RBI) released its Financial Stability Report. It is a semi-annual publication. In March 2022, the Risk Weighted Asset Ratio
(CRAR) and Common Equity Tier 1 (CET-1) ratio of SCBs stood at 16.7 per cent and 13.6 per cent respectively.
hi T el oo (RBI) 7 31T forfiar feerea Rete S ot 21 Tk S7-aTfvieh Sehei @ #T=l 2022 H THlis 1 SHRGH STG Suf ST7Td (HISTRUSTR) ST /=T
feradt foa | (+fi5et -1) STgama shwme: 16.7 Frdt 37 13.6 Frect o
Q-151 Recently which Bank opened the first all-women branch in north Kerala?
eng
01. State Bank of India 02. Union Bank of India
03. HDFC Bank 04. ICICI Bank
0S. Axis Bank
Q-151 BT & & FoFF 9% 7 I 7oA § Tl AigaT ATaT el g2
hi
01. WRAT =2 3% 02. fFr o= i Zfeam
03. TESTUEET I 04. sTEetsTSHTSTS %
05. Tfe 9%
Solution for Question 151 Ans Key: 3
eng HDFC Bank inaugurated an all-women branch in Kozhikode, North Kerala.
hi TASTUEHT o 7 ST LA % RIS hIS § UF FIZAT gTET FT IHTa AT




Q-152  Which bank is to continue to operate as an 'Indian private sector bank?

eng
01. SBI 02. ICICI
03. IDBI 04. PNB
05. Dena Bank
3'152 T &9 o7 et s & 3 S 3 ' | T AT ST T 82
01. == = s 2fear 02. srEefremeHTaTe
03. srredtems 04. frueet
05. ZAT %
Solution for Question 152 Ans Key: 3
eng IDBI Bank to continue to operate as an Indian private-sector bank.
hi ATSSTATTE & U AL (ASIT & o & o &7 | HTF HLAT AT T
Q-153  Which Bank signed a Master Risk Participation Agreement for supporting trade transactions with FirstRand Bank (FRB) to boost India-Africa trade?
eng
01. FICCI 02. RBI
03. CIn 04. EXIM Bank
05. None of these
Q-153 3\ d% T ATId-ShIHT SATITE FT F2TET & % 7T FirstRand Bank (FRB) % &2 ST e T THAT FIF % (o0 TF HTET TIEH ARG
TUHTT IT gearers e
01. gt 02. i o 9%
03. wHremsems 04. Ufasw 9%
05. =8 T FIS Al
Solution for Question 153 Ans Key: 4
xport-Import Bank of India (India Exim Bank) has concluded a Master Risk Participation Agreement for supporting trade transactions with FirstRand
Bank (FRB) Limited.
T fRata-smara 96 (G 2a7 ufaew &) 7 weis §% (FRB) forfies & 12 3791 dvad § Hg1dT & fory Ueh Jreea Sirfed arfiard
EEEICIRERIE]
Q-154 Inaccordance with the RBI Act, the central bank is required to make a report to the government if the inflation target is not maintained for how many
quarters?
01. Three 02. Two
03. Four 04. Five
05. None of these
Q-154 RBI afafFzw F srqam, frast faarfaat % fore qerefifa @ea #7 3@ 980 7@t A1t €, a1 F607 S F7 96 w1 U Rure 347 gt 82
hi
01. &= 02. =
03. =™ 04. o=
05,z i 7€ T
Solution for Question 154 Ans Key: 1
eng Under section 457N of the RBI Act, the central bank is required to submit a report to the government explaining the reasons and remedial actions it would
take, in case of failure to maintain its inflation target for three consecutive quarters.
hi RBI T2 &1 a7 45ZN F T&d, AT S T AT AT (AT T 6 (7T SO qITERITT A&7 il a0 7@ | fawer gie v Ffafa & Fwreor
T ITATTHSE FILATE I gU ALY T U (YA1E TET FLA 01 Sa9THaT gl 2l
Q-155  Which bank has approved USD 250 million for India's road safety program?
eng
01. Nabard 02. World Bank
03. Reserve Bank of India 04. State Bank of India
05. None of these
Q-155 | d=% 7250 fferae st STae i 65T T & T2% e FAFH & (o0 &f T 52



01. dreETe 02. frg d=
03. s e 9% 04. wAT =T aF
05,z & AE
Solution for Question 155 Ans Key: 2
eng World Bank approves USD 250 million loan for India State Assistance Program for Road Safety for seven states.
hi o J9 F &1 TsAT & oI H2e q2eT & foIT TR 1757 HeraaT HTAHH & (o7 250 Mo st ST & 0T H1 §s7 a1 8l
Q-156  What is the theme of World Photography Day 20227
eng
01. Pandemic Lockdown through the lens 02. Pandemic Lockdown through the camera
03. Pandemic Lockdown through the pictures 04. Pandemic Lockdown through the selfie
05. Pandemic Lockdown through the vaccine
Q-156 fara wrErThr faaw 2022 F7 oo 77 82
hi
01. < % ATeAW § HEWT T Afshersd 02, FHY 3 1AW ¥ HETHTE T A3
03. TEIRT o W | AT FT Athersd 04, Fhl F ATEH WETHTL &1 AThSTST
05. AT o ATAH HTHTL HT ATHSTST
Solution for Question 156 Ans Key: 1
The theme of World Photography Day, 2022, observed on 19 August, is "Pandemic lockdown through the lens".
19 ETET T TATT ST 1ol (57 RISTUTHT {3ae, 2022 T T3 "eiF o ATeaw F HETHIT H7 Alhersd’ 2l
Q-157 Which category of banks has been approved by RBI to provide doorstep banking services?
01. Google pay 02. Urban co-operative bank
03. Paytm 04. Nabard
05. None of these
Q-157 =SET ST HATO WaTH F3 & o7 RBI T 3 S0t & a1 &l Jedr &l 52
01. @rerT 02. orgfy HEFT 9%
03. gfrux 04. qraTE
05. =8 I FE Al
Solution for Question 157 Ans Key: 2

RBI has decided to allow financially sound primary (urban) co-operative banks to provide doorstep banking services to their customers on a voluntary basis.

TS A foref T &9 & gge Smerfieh (I1et) Hehl ol hl Tolfoseh AR T 3 TTeehi i SIET ST HaTG JaTH i i STgAfd o 1 (o fora 2

Q-158

eng

Q-158
hi

Which bank raises Rs 1000 crore via the maidan infrastructure bond issue?

01. SBI 02. ICICI
03. PNB 04. RBI

05. None of these
AT SHRTEEFAT dive 97 & ST T §F 7 1000 FIIE FIT 21T 22

01. == ¥ afw =T 02. ST
03. druedr 04. iy o 5%
05. =% F TS TE

Solution for Question 158

Ans Key: 1

eng State Bank of India raises Rs 1000 crore via the maidan infrastructure bond issue.
hi T S A SRAT ¥ AW THEEHFAT dive 297 % T 1000 FE 797 21T
Q-159 Recently UK Home Secretary has Signs Deal to Deport Illegal Pak Migrants, who is Home Secretary of UK?

eng



01. Preeti Singh 02.  Priti Patel

03. Arti Shah 04. David Warner
05. Camlin Shaw
Q-159 =T &1 T % T2 A= T AT AT TATRAT 7 TR 2wt 26 ForT ety o2 gearer? (3 &, T % T & 19 7t 82
hi
01. fify f&g 02. Hifg o2t
03. svft errg 04. TREaET
05. Fwfer ot
Solution for Question 159 Ans Key: 2
eng Priti Patel (born 29 March 1972) is a British politician who has served as Home Secretary of UK since 2019.
hi T Tee (S99 29 7T 1972) U fafeer aeeiias &, Rreaid 2019 & T & [ qf=a % &7 § w14 47 21
Q-160 Which of the following company has unveiled India's first indigenously developed Lithium Ion cell?
eng
01. Tata Alexi 02. Ola
03. Mahindra & Mahindra 04. TVS
05. Honda
Q-160 et & & fr Faeit T wra it et Taeeft =7 & FwfEa fofEem s 1 #1 smmeeo G 82
01. zray worery 02. e
03. wf¥zrve AfEsr 04. Ffro
05. ZieT
Solution for Question 160 Ans Key: 2

Q-161

Q-161

Ola Electric launched the country's first indigenously developed Lithium Ion cell. The Bengaluru-based two-wheeler maker is all set to start mass

production of SAIL '™NMC 2170' from its Chennai-based Gigafactory by 2023.

HIAT Seiforgah «f I37 1 veell et &9 § forshfer foferm s gt oii=a foram| siTere ferd drfean fRmfdr 2023 de6 ST+ == feurd fimmthadt & o THumEt 2170

T TS PHT T ITE I FL hl TR H B

Which bank has started the Gram Seva program in six states of India?

01. HDFC Bank 02. YES Bank
03. SBI 04. BOI

05. Noneof these
T J% T A % = TSIl H U FAT FTHHT F 6T 82

01. T=STUFRHT §F 02. 9%
03. oz % ATw T 04. =ffreme
05. = § FrE TEH

Solution for Question 161

Ans Key: 3

eng State Bank of India announced the launch of the fourth phase of the 'SBI Gram Seva' program, adopting 30 remote villages in Haryana, Gujarat,
Maharashtra, Punjab, Tamil Nadu, and West Bengal on the occasion of Gandhi Jayanti.

hi ATLATT T&& o o T AT 6 FGH T ATV, ST, HEITY, T8, THAATS ¥ TIEIH ST % 30 FIEF T4t 6l & A7 T iers I
AT FTAHH F AT FLT F AL T =000 7|

Q-162 Recently in which country APEDA has organized eight-day long "mango festival" to boost export of Mangoes?

eng
01. Bahrain 02. Saudi Arabia
03. Qatar 04. United Arab Emirates
05. France

Q-162 =T & | | <o 7 THET 7 o1 % FATq &7 F@rar o & o7 e [Raw = "Srw Sa" T e oA 82

hi

01. Fgi+ 02. OFar e
03. Fa¥ 04. FHI[hH ¥ ST



0S. wiF

Solution for Question 162 Ans Key: 1

eng

The Agricultural and Processed Food Products Export Development Authority (APEDA) has organized an eight-day long "mango festival" in Bahrain to
boost the export of Mangoes.

hi FHI ST THERT G IR AT (ST TTTIFOT (APEDA) 7 ¥ = 97T &l a@mar & & o7 agdia # ars [Raw i "sa S8a" 7 s
T 31
Q-163 Which of the following Ministry has declared that no hotels or restaurants can add service charge automatically or by default in the food bill?
eng
01. Ministry of Home Affairs 02. Ministry of Finance
03. Ministry of External Affairs 04. Ministry of Consumer Affairs, Food and Public Distribution
05. Ministry of Road Transport and Highways
Q-163 f=forfaa @ & g #amera = =oor &t g 7 F1 o gled a1 T5aqet ar & § =q: 7 Rwice &7 8 947 7 Tol e 96aT 22
hi
01. g H=TeT 02. 3 H=merT
03. fazer §=meg 04. ITSTIRT ATHA, GTE 3T AT (HF (Sq0T HATAT
05. T=F TREEH 3T TSTHT JaATer T
Solution for Question 163 Ans Key: 4
According to Ministry of Consumer Affairs no hotels or restaurants can add service charge automatically or by default in the food bill.
ITHTHT FTHAT o HATAT F AT Hls AT gledt AT Tl QT o § w3q: A7 Rhiee &9 F 4T o q51 S qhdT 2l
Q-164 Who became the 1st Indian woman to climb 5 peaks above 8,000 m?
01.  Anahat Singh 02.  Jahnavi Dangeti
03.  Arunima Sinha 04. Priyanka Mohite
05.  Arunima Sinha
Q-164 8,000 Hiex & FAT 5 ATCAT T FA& ATAT Taell ATLATT AT Bl a2
01. 3rTRq foig 02.  STeeET ST
03. sr=fomT et 04. =T Aifed
05. sr=foraT fEear
Solution for Question 164 Ans Key: 4
The 30-year-old Priyanka Mohite has been the talking point on social media, ever since she became the first Indian woman to climb 5 peaks above 8000
metres. Mohite has achieved this feat by climbing the third highest mountain on the earth, Mount Kanchenjunga, which stands at a height of 8586 m above
sea level.
30 Tt ST Wifed a9 & Jrae HITS AT 9% 941 #7 (90T a1 g3 8, 59 7 a8 8000 HIeT & FUT 5 AT ¢ T aTeil Tgett AT Tigal al|
AR T TZAT F T TGTH 3o Tad DTS T FAEHE g STATSH FIHA il &, ST TG T 7 8586 Hiex it FATE 72 FAq 2l
Q-165 The “Katni-Satna-Singarauli” region in Madhya Pradesh is well known for __.
eng
01. Mango production 02. Coal production
03. Cement production 04. Diamond polishing
05. None of these
Q-165 A&7 TR H FeeT-qqAT- T & ......ooo oo affrg 2
hi
01. s % 3T 02. et Ieqra
03. iz seqTa 04. =T FWFH
0.zt 7S T
Solution for Question 165 Ans Key: 3
eng The Katni-Satna-Singarauli region is one of the largest cement producing regions in the country.
hi T T-FAT- T 8 97 | Ha9 a2 HHe I &1 § 4 UF g
Q-166 Who has been appointed as the new Chief Election Commissioner of India recently?

eng



01. Sushil Chandra 02.  Achal Kumar Jyoti
03. Om Prakash Rawat 04. Sunil Arora
05. Rajiv Kumar

Q-166 T H AT F 77 q&F A1 A % =7 7 (e g f6am w32

hi
01. Hofter == 02. =T HATT S
03. 3 yeTer Taq 04. g =T
05. Trofter AT
Solution for Question 166 Ans Key: 5
eng Rajiv Kumar, is appointed next Chief Election Commissioner (CEC) of India. Rajiv Kumar took charge from CEC Sushil Chandra. The Chief Election
Commissioner of India heads the Election Commission of India, a body constitutionally empowered to conduct free and fair elections to the national and
state legislatures and of President and Vice-President. This power of the Election Commission of India is derived from the Article 324 of the Constitution of
India.
hi TTSTE /AT T T T AT HET FATS A (HreT) s o7 1 g1 Tt Hame F St gefter =7 & FT97 o 9wa & 927 999

ATH AT o FATT ST HT Aqcd F3d 8, ST Tl &9 F T ¥ o7 fFemaaarsti <7 rgafa sie suargafa % =0 s Feae g9
0 o o srfersa &1 e 3 =T ST iy 77 orftE wrea ¥ wfeene ¥ sgeag 324 AT 2

Q-167 Whatis the rank of India in terms of recipient of Foreign Direct Investment (FDI) inflows in the year 2021, as per the World Investment Report 2022 by
eng the UN Conference on Trade and Development (UNCTAD)?

01. 4th 02. 3rd
03. 5th 04. 7th
05. 6th
Q-167 ¥ g AT uTTT farshTe FF e (UNCTAD) 51T o ferer e 2022 % srqam ad 2021 # wexrer faasfy =aer (FDI) 918 73 % #raer &
AT T L F7 g2
01. 43 02. 33
03. 59 04. 79
05. 69
Solution for Question 167 Ans Key: 4

According to the United Nations Conference on Trade and Development (UNCTAD), India jumped one notch up to attain the seventh position among top
recipients of foreign direct investment (FDI) in calendar year 2021 even as flows shrank to $45 billion from $64 billion in 2020.

ST ST [T 9% 6 Y T (FUAHIETUET) F SATATE, AT dete? a9 2021 § To7ef faaeft Feer (Testeams) & oftd srashatst # amae
I I TgA & [o70 UF G319 9T 98 AT, et TaTg 2020 H 64 37 SIT § T 45 3 i< gl T

Q-168 Which of the following Union Ministry has released the 'SDG National Indicator Framework (NIF) Progress Report, 2022"?

01. Ministry of finance 02. Ministry of Statistics and Program Implementation
03. Home Ministry 04.  Ministry of Environment, Forest and Climate Change

05. None of these
Q-168 [ # & g F3TT HATAT T THSISIT A9 Sfehe FAaa (TAASUE) T (e, 2022 ST o 22

hi
01. fa waier T 02. FIfErERT ST FTAFHT FETAAT HATAT
03. 2 HATTT 04. TTaror, A ST STerarg Tiade HATrT
05. =it iy 7S
Solution for Question 168 Ans Key: 2
eng The Ministry has released the 'Sustainable Development Goals - National Indicator Framework (NIF) Progress Report, 2022' on June 29, observed as
"Statistics Day" in India.
hi WA H 29 57 1 "HiRereh " o T HA AT AT § A (o AU Wbk Bre (THATSU) T fdie, 2022 S fopem

Q-169 In which city National Institute of Virology is situated ?

eng
01. Pune 02. Bengaluru
03. Chennai 04. Hyderabad
05. New Delhi

Q-169 T ergx & wrgia faumy o= seame fRaa g 2



01. wur 02. ST
03. I+ 04. ZE¥TaTE
05. =% feeett
Solution for Question 169 Ans Key: 1
eng Pune
The National Institute of Virology, Pune is India's premier Virology Research Institute, part of Indian Council of Medical Research (ICMR).
hi 0T TS T st ST, g, AT T YHE ] O ST SO § S A (et ST aiug 7 UF B 2
Q-170 Micro credit in India comes under.....................
eng
01. Private Banking 02. NBFC
03. Rural Banking 04. Cooperative Banking
05. None of these
Q-170 &TZa # &7 = % qEq AT 3
hi
01. fasfhy Sfr 02. THATUERHT
03. retor ST 04. TEFTLY ST
05. = ¥ 4TS A
Solution for Question 170 Ans Key: 2

Q-171

Q-171

Non-Banking Financial Comapny

NBEFCs are financial institutions that provide banking services without meeting the legal definition of a bank.

7 ST A= FFaeT (TAE TR 7 ST A T (T TweT) U faie ST § ST S &l ST TICATOT & 87 S50 a1 $&Te

FLAT 2

What does letter ‘L’ denotes in CAMELS ratings?

01. Leverage 02.
03. Liquidity 04.

05. None of these
CAMELS &7 YUrTet & 377% L %7 =747 371 82

01. Leverage 02.
03. Liquidity 04.

05. zad T FIT TLT

Solution for Question 171

eng

CAMELS

C— Capital Adequacy

A— Asset Quality

M- Management Quality

E— Earnings

L —Liquidity

S— Sensitivity to Market Risk

Liability

Lien

Liability

Lien

Ans Key: 3

CAMELS
C— Capital Adequacy
A— Asset Quality
M- Management Quality
E— Earnings
L - Liquidity
S— Sensitivity to Market Risk

Q-172

eng

Q-172

Which of the following is a business organisation ?

01. Planning Commission 02. Oil and Natural Gas Corporation

03. Election Commission 04. Short Service Commission

05. None of these
ot & 9 v s EreT g 2



01. ST SR 02. T U TTRias 9 e

03. AT ST 04. o FFT FHTAT

05. =% T FTS T
Solution for Question 172 Ans Key: 2
eng Oil and Natural Gas Corporation

ONGC is Asia's largest and most active company in exploration and production of oil. It was founded an 14th August 1953.

hi JT T T T R T Ud STt T A (Siroastie) wier $ gaiferes I F Sw=auor Ud 3cATad | qa9 S1 UrATE FEIT g1 THeh
TITIAT 14 3RTE, 1953 § g2 o

Q-173  Where is the Kaziranga National Park located?
eng

01. Gujarat 02. Tripura
03. Assam 04. Rajasthan

05. None of these
Q-173  FTSMT TEH 32> Fgl o 282

hi
01. T 02. %’31'[
03. =gq 04. TrsTEqT
05. =% FFHIE T2l
Solution for Question 173 Ans Key: 3

Kaziranga National Park, the prestigious national park of India, is situated in the state of Assam. It was created in 1908 and it was declared as National
Park on 11 February 1974. It was declared as a World Heritage Site by UNESCO in the year 1985.

AT T IIATHA AT U HISHIT U I 69 T H e 31 218 1908 H ST 1T 7 T T 11 et 1974 ol TS e =y foham ma
ol Y 1985 H 3 TR FRT T eiet Tt =iy foram i om)

Q-174  Which of the following is a professional social networking site?

01. Facebook 02. Orkut
03. Twitter 04. LinkedIn

05. None of these
Q-174 % & & 14 ) U YA A9 AeA (5T A2 22

01. Gwas 02. sz
03. fagex 04. ez
05. =% T HIE A5l

Solution for Question 174 Ans Key: 4

eng LinkedIn is a professional social networking site

hi e U 9w Frere Feafr arze g

Q-175 The CIBIL Score contains how many digits?

eng
01. 3 02. 4
03. 5 04. ¢
05. 7

Q-175 CIBIL ¥hT # fohae % gra 82

hi
01. 3 02. 4
03. 5 04. ¢
05. 7

Solution for Question 175 Ans Key: 1

eng A CIBIL score is a three-digit number between 300-900, 300 being the lowest, that represents an individual's credit worthiness.



hi CIBIL T 300-900, % sfi=r Teh i 37kl o1 TEAT 2, 300 Tl T B shT oo © ferelt sarfxh ol gt s shfse vt ot UfafHfered st 2

Q-176 Headquarter of NABARD is located at—

eng
01. Lucknow 02. Mumbai
03. Kolkata 04. Delhi
05. Chennai

Q-176 FTATE FT qEATAT Fgl BIAa g ?

hi
01. @3 02. qw=r
03. FHrereRTar 04. faeett
05. =S

Solution for Question 176

Ans Key: 2

eng National Bank for Agriculture and Rural Development is an apex regulatory body for overall regulation of regional rural banks and apex cooperative banks
in India. It is under the jurisdiction of Ministry of Finance, Government of India.
Founded: 12 July 1982
Headquarters: Mumbai
hi TS FH I 3T ATEor BT S e § ety areher S oRY ot wEwet i o qwy At ¥ P v fiF s Rem e e
AT, TR TR & A&t & § 2
qTiod: 12 [ATE 1982
AT §as
Q-177 IFSC codes are useful in banks for the purpose of
01. fund transfer 02. cheque clearance
03. making purchases 04. All except 3
05. None of these
Q-177 SAETRTEHT FIE TR H —mmmmmmommmmmmemmms F JFTSIT = 7T ST 2raT 2l
01. %= ZEHT 02. =% FAAH
03. FIEETT FEAT 04. 33 sAfafn a4

05. =% T FTE THI

Solution for Question 177

Q-178

Q-178
hi

Itis an 11 character code assigned by RBI to identify every bank branch uniquely.
g T Sk ATET 1 T2 3 [o70 AT 1 [¥S79 sieh 21T T&<1 Ua 11 997 71 =9 FE 2

The first sale of stock by a private company to the public is known as

01. First Selling 02. Initial Public Offering

03. Initial Stock Sale 04. Stock Selling

05. None of these

ST % T ua =St F9eT g 977 HT aget &t FE T F AT SATGT 21
01. wrafers feshr 02. YTHF ATEST+E TeaTa

03. grfera e fafy 04. =i fasfy

05. =% FFTE AL

Solution for Question 178

Ans Key: 4

Ans Key: 2

eng The first sale of stock by a private company to the public is known as Initial Public Offering.

hi ST & T T S S gRT A A Teel [h GRS FdeiEe Sed™ & w9 3 S S
Q-179 In Cheque Truncation System clearing the physical cheque is kept with the .

eng

01. presenting banker 02. drawee bank
03. beneficiary 04. repository



05. None of these

Q-179 =T T TOTE H AT = THTIET --mmmmmmmmm F T 7@ ST 2
hi
01. Tershat a7 02. sraETHRatl 9%
03. =TTt 04. =
05. = & 78
Solution for Question 179 Ans Key: 1
eng In Cheque Truncation System, clearing the physical cheque is kept with the presenting banker.
hi B EHI TOTTEAT § HITeh = T FHTLTEA TEGAhal ST & qr2 T SIraT gl
Q-180 The New Development Bank (NDB) is also known as
eng
01. BRICS Development Bank 02. Asian Development Bank
03. New Bank 04.  Asia-Pacific Bank
05. None of these
Q-180 I TAATHE A (UASTET) F FwT F A TET ST B
hi
01. o= for=me &% 02. ufgrTs o 9=
03. =1 EED 04. TIoET-orT §F
05. =9 F IS Al
Solution for Question 180 Ans Key: 1

Q-181

Q-181

The New Development Bank (NDB), is also known as BRICS Development Bank, is a multilateral development bank established by the BRICS states

(Brazil, Russia, India, China and South Africa).

= SAATHE S (TTETe), St forerey Saretiie ofeh o & 1 i STHT ST 2, T sgafia fompr oie 2 ot forere T3l (Sisiier, &, ST, =1 31 s féor swshiern) g

T fora T 2l

Negotiable Instruments Act is applicable in:

01. All states except union territories 02. Whole India

03. The whole of India except Jammu & 04.  All union territories only
Kashmir

05. The whole of India except special economic
zone

01. =z orrfad Yol T G avft 7oAt § 02, W ARa |
03. ST FHAT A ST QP ARTH 04, T £ i gaar #
05. 3o smfae &1 7 Frewe T wd |

Solution for Question 181

Ans Key: 2

eng Negotiable Instruments Act is applicable in Whole India.

hi RT3 AT X S § 1] 2

Q-182  Which of the following are not a type of commercial banks?

eng
01. Public Sector Banks 02. Development Banks
03. Foreign Banks 04. Private Sector Banks
05. None of these

Q-182 fA=fafed @ & #1+ |7 arforsas 9% FT UF THE T2 82

hi

01. HTFI & % 9% 02. faFre 9=
03. faaeft 5% 04. AT e o 9
05. =H & #1E T



Solution for Question 182 Ans Key: 2
eng Types of Commercial Banks
* Public Sector Banks
* Private Sector Banks
* Foreign Banks
hi FATIOTTSAF AT F THT
* ATESIAH &7 % 9%
IR E]
- et 5%
Q-183  State Bank of India was earlier known as
eng
01. Bank of Hindustan 02. Imperial Bank of India
03. Bank of Calcutta 04. Bank of Maharashtra
05. Bank of Bombay
Q-183  SIATT w2 I &1 Tgel 36 AT | ST ST A7?
hi
01. & st fEgeam 02. e & s SR
03. I 3T FAdhaT 04. = A TR
05. S i afer
Solution for Question 183 Ans Key: 2
State Bank of India was earlier known as 'Imperial Bank of India'.
ATLATT T2 9o &1 Tgel ‘SIS 9 A SSAT % &I H ST ST A7)
Q-184  Where is the headquarters of International Cricket Council (ICC)?
01. Dubai 02. New Delhi
03. London 04.  Abu Dhabi
0S. Vienna
Q-184 sawrgia frae uliue (i) F1 FearerT Fgl 92
01. Fgarg‘ 02. 7% feeetr
03. weT 04. ST 4T
05. T3
Solution for Question 184 Ans Key: 1
The Headquarters of International Cricket Council (ICC) is in Dubai.
hi STTE fhhe TRuE (ATEETHET) T T 3a% 7 2
Q-185 The Headquarters of United Nations World Tourism Organization (UNWTO) is located in -
eng
01. Madrid, Spain 02. Rome, Italy
03. Beijing, China 04. Berlin, Germany
05. None of these
Q-185 =< ¥y fora wied W (qUACseIETe) T yeara oo 2-
hi
01. #fge, &0 02. Tr, ZEeAt
03. s, $ 04. afife,
05. =t & 8 T
Solution for Question 185 Ans Key: 1

eng The United Nations World Tourism Organization (UNWTO) is the United Nations agency responsible for the promotion of responsible, sustainable and
universally accessible tourism.
hi T Y o Ted ®9ea (UNWTO) 53 Tg USiHT &, ST #ATA 3fiT 945 e T &l agmal & & (o0 [SFeEr 8




Q-186

eng

Gir Forest National Park is situated in which state?

01. Jharkhand 02. Uttarakhand
03. Goa 04. Gujarat
05. Kerala
Q-186 FT a=siia sreameoy form T | R 22
hi
01. zEs 02. 3TTET
03. raT 04. T
05. T
Solution for Question 186 Ans Key: 4
eng Gir Forest National Park is situated in Gujarat.
hi 7 a=siie sremeos e § 2 2l
Q-187  The economy of India is
eng
01. Underdeveloped economy 02. Developing Mixed Economy
03. Developed Economy 04. All of these
05. None of these
Q-187 AT &t srfeaET 2l
01. it srefeaeaT 02. fEerraefier fafera srfmraea
03. fafaa sreeaeaT 04. = &+
05. =% F IS Al
Solution for Question 187 Ans Key: 2
The economy of India is a developing mixed economy.
ARG & HITTEAT T fadade AT degarn s
Q-188  The reserve held by commercial bank in form of cash with RBI is known as?
01. Cash reserve 02. Deposit reserve
03. Excess reserve 04. Momentary reserve
05. Monetary reserve
Q-188 AT st & % o FHAT F =T H ATIOSAF A ZTT AT FVoTd o =T § ST 1t 22
01. 7= afera 02. T e
03. srfaf=r smfera 04. &7forF sefera
05. wyfeer smefera
Solution for Question 188 Ans Key: 1

eng The reserve held by commercial bank in form of cash with RBI is known as Cash reserve.
hi AT ST 5 o OT9 Tl & & H AT0119TF dh ZILT STHT (THd Aoha AT & &9 § ST 1T 2
Q-189  Exchange markets and over the counter markets are the types of which market?
eng
01. Floating market 02. Riskier market
03. Secondary market 04. Primary market
0S. Gilt edge Market
Q-189 fafaw s ¥ sfraw &t F1dex ATee 3 TSI % Y12 82
hi

01. ererefy ST 02. SfEw W=7 TSI
03. fEfrae ameme 04. grerfies TSI
05. fice g 9=



Solution for Question 189 Ans Key: 3
eng Exchange markets and over the counter markets are Secondary market.
hi B arene T A < FreeT AT g aTeTe % T 2
Q-190 What is an FPO (Follow on Public Offering) ?
eng
01. Itis issue of shares by company for the 1st 02. It is issue of shares by the company subsequent to IPO
time
03. Ttis issue of Commercial Paper by the 04. All of the above
company
05. None of these
Q-190 UFE it 3 (FPO) FATE ?
hi
01. 7g FEqAT ZTT TEelt a1 97T ST HTAT 02, T2 Froet g ArSHvaAr 3 are 9% ST FA7 2
2l
03. g el FIT AT 0= ST FAT 04 Ioyeh &t
2l
05. i & 8 T
Solution for Question 190 Ans Key: 2

A Follow-On public offering is an issuance of stock subsequent to the company's Initial Public Offering.

FFIAT ZTIT 1T AT ST F3 1 BreAl A Tfeets AHRT F2d 2



